Combitherm«

ALTO-SHAAM. Combination

Oven / Steamer

CT EXPRESS™

4°10ESi

4°10ESIVH
4°10CCi
CTX4-10E

CTX4-10EC

CTX4-10EVH

Shown with ExpressTouch control
and optional hand sprayer

’
"24‘7 « TECHNICAL

W164 N9221 Water Street e P.O. Box 450
Menomonee Falls, Wisconsin 53052-0450 U.S.A. ®

1 i 2ge7

Your Service Hotline
PHONE: 262.251.3800 ® 800.558.8744 US.A. / CANADA """"’"’5’"’""

FAX: 262.251.7067 e 800.329.8744 U.S.A. ONLY
www.alto-shaam.com

Consult instructions
for operation and use.

PRINTED IN U.S.A. MN-36008 (REv. 9) » 03/16



How to Use this Technical Service Manual

This manual has been compiled as a complete resource for a technician working on CT Express models. It includes
necessary product information and drawings, along with helpful troubleshooting procedures.

Introduction gives a quick overview of the CT Express to aid in model identification.

Sections A through E contain information applying to all CT Express models:

— CONTROL PANEL IDENTIFICATION includes information on using the controllers and operating instructions. It is
the same material supplied to the customer.

— PREVENTIVE MAINTENANCE includes procedures for cleaning with our without the CombiClean option. This
information is also supplied to the customer.

— SERVICE MODE AND ERROR CODES explains the special programming available to you as a technician to
view status, make adjustments and test functions on models equipped with Simple and Express Touch Controllers.
Information is also included on the use of displayed error codes to resolve problems and on the functions that can be
operated under fault conditions.

— TROUBLESHOOTING TREES are provided for the most common conditions you will be required to address.
— COMBITHERM PARTS has drawings and lists of available parts that are common to all electric models.

Sections F contains Wiring Diagrams that is specific to each model.

Navigation

Starting with the Main Table of Contents on the following page, you may click on any item that has a page number and
quickly jump to the information you need. Note that you may Return to the Main Table of Contents from the bottom of
any Section Contents page.

Printing

You may print the Current Page or any range of pages. Here’s a tip: Because printers vary in their capacity to handle large
drawings, make a test print of one of the Wiring Diagrams before printing the model’s section.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS e i



TABLE OF CONTENTS

How to Use this Technical Service Manual................ccccooooonoo. i
INtroduction .........ooiiiii ii
Control Panel Identification .............cccooeeeiiiiiiiiiiiiiiiieeecn A-1
Preventive Maintenance ...............cccoooiiiiiiiiiiiiiii B-1
Service Mode and Error Codes............ccceiiiiiiiiiiiiiiiiieeiiii C-1
Troubleshooting Trees.............ccocovuiiiiiiiiiiiiieiie e, D-1
Combitherm Parts ... E-1
Wire Diagrams .........c..oviiiiiiiii e F-1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS e ii



INTRODUCTION
MODEL NUMBERS

This manual covers the following CT Express models:
4.10esi
4.10esiVH
4.10CCi
CTX4-10E
CTX4-10EC
CTX4-10EVH

FEATURES AND OPTIONS

Available on all models:
¢ Panel color choices
¢ Left-hand door
e Hand sprayer
¢ Single-point product temperature probe
¢ CombiClean® Tablet based cleaning system
e Stacking capabilities

Available only on ExpressTouch Control models:
¢ Smoker Mode
e Delta-T and Cook & Hold functionality
e HACCP data access
¢ Gold-n-Brown™ Feature
¢ Broiler element (not available on 1ph units)

e Catalytic Converter (CTX4-10EC only)

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS e iii



EXPRESSTOUCH OPERATING INSTRUCTIONS

ExpressTouch Control Operation

Start Up Procedures . . .. ... ... ... A-2
Settings Screen. . . . ... ... A-3
Upload/Download Screen . . .. ... ... . . . . A-4
Cooking Mode Screen. . . ... .. A-5
Cooking Mode Screen Identification . . .. ............ ... ... . ... ... ... .... A-6
Auxiliary Functions . . . ... ... . A-7
HACCP ACCESS. . . o ot e e e A-8
Operation. . . ... ... A-9

Simple Control Operation

Screen Identification . . . . . . .. . A-11
Operation. . . .. ... A-12
Return to Main Table of Contents . .. ... ... . .. . i ii

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-1



EXPRESSTOUCH OPERATING INSTRUCTIONS

START-UP PROCEDURES

EXPRESSTOUCH

When the oven is powered on, the ExpressTouch screen
illuminates. “Loading” indicates that the software
is booting up. The screen will also indicate what level
of progress has been made as the software becomes
fully operational.

MAIN MENU SCREEN @ Cleaning Mode (optional)

Four (4) cleaning levels are available:
rinse, light, normal, and heavy-duty cleaning.

@ Download/Upload Files and
J Download all preprogrammed recipes (factory

default and user-programmed) and HACCP data to a
USB memory stick.

.\ o @ Settings
@ X Change factory default settings. See next page for
@) more information.

ﬁ Service Mode (password protected)
This mode is only available to qualified
service technicians.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-2



EXPRESSTOUCH OPERATING INSTRUCTIONS

SETTINGS SCREEN

RB Version: 0.0
DB Version: 1.07
MAC address:

m @ Fahrenheit or Celsius Function - Choose 9 Sound/Alarm Settings - Change alarm sounds
temperature format. and volume.
Note: After choosing your format, return to
the Main Menu screen and then Press Oven
Power switch off.

- Touchscreen Brightness - Adjust brightness
of display screen.

0 4.
Lock/Unlock Recipes - Password protect

@ Language Choice - English, Spanish, Mandarin, .
preprogrammed recipes.

French, German, Korean and Russian are
available. Set/Change Date & Time - Set or change oven

. . time and date settings.
Multi-shelf Timer Number of Shelves -

Ve . .
Choose the default number of items in the oven : Calibrate Product Probe (optional)

to be used by the multi-shelf timer. Software update - Upload new control software

@ Default Memo - Revert time / temperature to the oven using a USB drive.
setting to factory defaults when switching

@ Return to Previous Screen - Return to previous
modes or keep the last user setting.

screen when finished adjusting settings.

-

ENGLISH

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-3



EXPRESSTOUCH OPERATING INSTRUCTIONS

UPLOAD/DOWNLOAD SCREEN

By

W

Mi 2

/ GO TO \
DOWNLOAD PREVIOUS DOWNLOAD
RECIPES SCREEN HACCP INFO
UPLOAD
RECIPES ADD ALL
RECIPES

@ Download Recipes
Copy all recipes from USB memory stick
to oven. This will replace and overwrite
existing recipes.

& Upload Recipes
Copy all recipes from oven control to USB
memory stick.

@ Add All Recipes
Copy all recipes from USB memory stick to the
oven control. This will add the recipes to the
beginning of the existing recipe list.

HACCP Data (optional)
Download data to a USB drive for review in a
xt file format.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS « A-4



EXPRESSTOUCH OPERATING INSTRUCTIONS

COOKING MODE SCREEN

TEMPERATURE TIME

STEAM
MODE

COMBINATION
MODE

CONVECTION
MODE

4
)
S

BROILER
MODE
(OPTIONAL)

RETHERM
MODE

4

5t
\

PROBE PREHEAT T \ FAN SPEED
TEMPERATURE COOL
START DOWN

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-5

MULTI-SHELF
TIMER

DELAYED
START TIMER

CLEANING

REDUCED
POWER MODE

ADD RECIPE

GOLD-N-BROWN
MODE

FIND RECIPE

SMOKER MODE
(OPTIONAL)

GO TO
PREVIOUS
SCREEN



EXPRESSTOUCH OPERATING INSTRUCTIONS

COOKING MODE SCREEN IDENTIFICATION

MAIN MENU ICONS

Power ON/OFF key

Activates/deactivates power to the oven. It automatically
fills the steam generator equipped models with water
that will heat to a stand-by mode temperature of 188°F
(77°C). Note: Oven will not shut down during a cooking
cycle. Firmly press and hold the power key for 10 seconds
to power down the oven ONLY IF the control has locked
and is unresponsive.

Steam Mode

The oven will operate in the steam mode at a temperature
range of 85°F to 250°F (30°C to 121°C).
e Automatic steaming at 212°F (100°C)
factory-set default.
¢ Quick steaming between 213°F and 250°F (101°C
and 121°C).
¢ Low temperature steaming between 85°F and 211°F
(29°C and 99°C).

@] Combination Mode

Selection key for cooking with a combination of steam
and convection heat. Can be set between 212°F to 485°F
(100°C and 252°C).

Convection Mode

Selection key for convection cooking without steam at a
temperature range of 85°F to 485°F (29°C to 252°C).

Broiler Mode (optional)

Quickly and efficiently toast or broil sandwiches, nachos,
soups, and desserts with the top shelf broiling element.

— Retherm Mode

Food rethermalization or reheating mode will operate
with automatic steam injection at a temperature range of
245°F to 320°F (120°C to 160°C).

& Temperature
Used to set the required cooking temperature, to recall
the set cooking temperature, or to check the actual
oven temperature.

O Time
Used to set the required cooking time or recall the set
cooking time.

/0 Probe Temperature

Used to set the required internal product temperature,

to recall the internal product temperature set by the
operator, or to display the current internal temperature of
the product.

It Preheat Mode
Preheats the oven cavity to a temperature set by user.

&4 Cool Down Mode
Lowers temperature of the oven cavity at an accelerated
pace to temperature set by user.

Delayed Start Time
Quick and simple way to begin preheating your oven
while you're away, and ready to go when you are.

lD D Start/Stop

Initiates all cooking mode functions and programmed
procedures stored in memory. Stops an activated cooking
mode or programmed procedure currently in progress.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-6



EXPRESSTOUCH OPERATING INSTRUCTIONS

AUXILIARY FUNCTION ICONS

@ Reduced Power Mode
Used to reduce kitchen power peaks and
energy consumption.

Gold-N-Brown Mode

This indicator will illuminate when the browning
function is set by the operator in a timed or programmed
cooking cycle in any mode. Level 1 provides least amount
of browning, level 6 the most.

Fan Speed

This indicator will illuminate whenever the operator sets
a reduced fan speed to protect products affected by high-
velocity air movement.

Return to Previous Menu
Add Recipe

Used to create, change, duplicate, and delete
programmed menus.

@ Find Recipe
Access a menu list of all stored cooking programs.

> Multi-shelf Timer
Use separate timers for one or more shelves in the oven
compartment (only visible in time mode).

Steam Injection (not shown on illustration)
Press to add moisture in any cooking mode. Steam will
inject into the cavity as long as the icon is touched.

@Y Delta-T Core Temperature (optional) - only visible
in certain modes Cook by probe. Mode automatically
adjusts cooking temperature in proportion to the internal
temperature of the product.

Smoking Mode (optional) - only visible in
convection mode or combination mode. This indicator
will illuminate when the smoking function is set by the
operator in a timer, probe or programmed cooking cycle.

EXPRESSTOUCH FACTORY DEFAULT SETTINGS

COOKING MODE OVEN TEMPERATURE CORE TEMPERATURE COOKING TIME
Steam (% ég:g) (17%(3)2:) 25 minutes
Combination Steam (i’;é):g) (176022:) 70 minutes
Convection (f ;g:g) (176023 30 minutes
Broiler/Finishing (optional) ____°F N/A —_— ——
Retherm (available on 275°F 160°F 5 minutes
ExpressTouch only) (135°C) (70°C)

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-7




EXPRESSTOUCH OPERATING INSTRUCTIONS

HACCP ACCESS

The ExpressTouch Combitherm meets the requirements 1. To download the data collected, remove the cap of a
of established HACCP criteria by providing automated USB port located on the side of the oven and insert the
sampling, record keeping, set-point validation, recipe USB flash drive. If the flash drive is not recognized
used, dates and time. Data is captured when Core by the Combitherm, a question mark will appear on
Temperature Probe cooking method is chosen. This screen. Try again with another flash drive device or
information can be downloaded to a USB drive and then call Alto-Shaam Service.

copied to your computer. The file format is text (.txt).
2. PSP PRESS TO DOWNLOAD INFORMATION.

NOTICE: You can access this information from the
Upload /Download Screen. See illustrations on 5@@
page A-4 for navigation. 3. WAIT FOR THE ICON TO CHANGE FROM
LOADING TO COMPLETE.
CAUTION: The CombiOven USB port is not
recommended for use with personal 4. PRESS TO CONFIRM TRANSFER.
hand held devices. 5. Remove the USB flash drive and replace the cap on the
USB port.

The download process will automatically create a folder
on the USB flash drive titled “haccp”. Each text file
contains cooking program specifics. See illustration below.

HALCP

Unit: B8 130 :D6:FF 12563
Date: 2611 -A1-69
Program: Steam
Start time: 22:11A:3531
Stop time: 22:14:37
Elapzed cook time: Ba 84
Multi shelf timer: [gla]

Reduced energy: no

Recipe active: no
Temperature unit: waf

Cavity stort temperature: 191
Cavity stop temperature: 217
Cavity temperature reached: B8:82

Core start temperature: 176
Core stop temperature: 215
Core temperature reached: A 68
Door open count: 3]

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-8



EXPRESSTOUCH OPERATING INSTRUCTIONS

Turn on and preheat the oven  To cook manually by probe

Alto-Shaam recommends preheating the Combitherm® before cooking.
¢ Choose a Mode.

P he P ON k g oo Iigttlwill Steam  Combi Convection Retherm
) : -
ress fhe Rower K il © is boofing vp. * Press the Oven Temperature area to the right of

the thermometer icon, set oven temperature on the
¢ Choose a Mode. keypad, and press Enter. J

Steam Combi Convection Retherm

¢ Choose Preheat. &t

* Press the Probe Temperature area to the right of
the probe icon, set probe temperature on the

keypad, and press Enter. J

* Type temperature on keypad and press Enter.
P P P P J * Load food into oven and insert probe into food.

* Oven beeps when it is preheated. « Press the Start key. |>

TO COOI( With 'Loc:‘igerciure
preprogrammed recipes

* Load food into oven.

* Press the Recipes key. @

Probe

* Locate food item program by scrolling Temperature

through pages using arrow keys.

* Press preprogrammed food item icon.

Start key

* Oven begins operating automatically.

To cook manually by time

¢ Choose a Mode.

Steam Combi Convection Retherm

* Press the Oven Temperature area to the right of the
thermometer icon, set oven temperature on keypad,

and press Enter. J

* Press the Cook Time area to the right of the timer, set
NOTICE: TO SHUT THE OVEN OFF, PRESS AND cook time on keypqd, and press Enter. J

HOLD @ FOR FIVE SECONDS. THE RED
LIGHT WILL APPEAR INDICATING THAT

THE OVEN WILL BEGIN THE SHUT DOWN  Press the Start key. [
PROCESS.

* Load food into oven.

TO FORCE SHUT DOWN IN THE RARE
EVENT THE CONTROL LOCKS UP, PRESS
AND HOLD @ FOR TEN SECONDS.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-9



EXPRESSTOUCH OPERATING INSTRUCTIONS

To use Gold-n-Brown™

* Follow the first three steps of “To cook manually by
probe” or “To cook manually by time” from the

front of this sheet.
* Press the Gold-n-Brown key.

* Select the desired Gold-n-Brown level
and press the corresponding key.

* Press the Start key. I>

To program a recipe
* Press the Add a Recipe key.

* Follow the first three steps of “To cook manually by
probe” or “To cook manually by time” from the

front of this sheet for each cooking step.

* If there is more than one cooking step,
press the Write key between each step.

* After the last cooking step, press gmm
the Confirm Changes key. g

* A keypad will appear. Input the name of the ﬁ
recipe and press the Confirm Changes key. &

NOTICE: TO SHUT THE OVEN OFF, PRESS AND
HOLD @ FOR FIVE SECONDS. THE RED
LIGHT WILL APPEAR INDICATING THAT
THE OVEN WILL BEGIN THE SHUT DOWN
PROCESS.

TO FORCE SHUT DOWN IN THE RARE
EVENT THE CONTROL LOCKS UP, PRESS
AND HOLD @ FOR TEN SECONDS.

To clean the oven
* Press the Cleaning key.

Press the Water On key.

If oven is too hot to proceed, the Oven Too Hot
warning screen will appear. Open the oven door to
allow the oven to cool. When the oven is finished
cooling, begin the cleaning procedure again.

Select Rinse, Light, . “. e P
Normal, or Heavy & i < G
Duty cleaning. Rinse Light Normal Heavy Duty
For Light, Normal, or Heavy Duty, insert
appropriate number of CombiClean® tabs as
directed by the touchscreen, or spray CombiClean
liquid cleaner inside the oven. Close the I>

oven door and press the Start key.

Oven beeps when it is done cleaning. Leave door
slightly ajar when cleaning is finished.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-10



SIMPLE CONTROL OPERATING INSTRUCTIONS

CONTROL PANEL IDENTIFICATION

Set Oven
Temperature

Steam Key =
Combination Key *

Convection Key

Cleaning Key *

Set Cook

The Steam mode provides the operator with the ability
to steam, poach, or blanch. This mode will automatically
steam at the boiling point of water; quick-steam above the
boiling point for faster cooking results; or low temperature
steam, below the boiling point, for more delicate products
such as paté, mousse, seafood, or custard.

The Combination mode will prove to be the most
versatile and widely used mode the Combitherm oven
has to offer. It will produce the best possible results on
the widest variety of products — all within the shortest
period of time. The unique control function of this mode
enables the operator to roast or bake with a combination
of steam and convection heat. In addition to shorter
cooking times, this combination of steam and heat offers
less product shrinkage and more moisture retention than
obtained in a standard convection oven.

The Convection mode operates with hot circulated air
within a temperature range of 85° to 485°F (29 to 252°C).
For many applications, better results may be

achieved with the Combination mode; therefore, the
operator may want to consider using the Convection
mode on a more limited basis.

Cook Time
Time display area

Oven Temperature
display area

<= OVEN COOL DOWN

<= UP/INCREASE

<= DOWN/DECREASE

<@ START/STOP

Cook by Probe
setting

Oven Cool Down Process:

* Cooking process must be inactive

* Press "Cool Down" button until LED lights (LED
remains ON while in Cool Down mode)

* Press "Decrease Value" or "Increase Value" to adjust
cool down temperature

* Cook temperature display area is used to display
cool down temperature

* Display will show last valid cool down temperature

¢ Cool down temperature range is 85° - 575°F
(30° - 300°C)

e Press "Start/Stop" until LED lights to accept cool
down temperature and initiate cool down process

* Door must be open to start cool down process;
Cook time display area will display "door" if door
is not open

* Cook temperature display area will display set cool
down temperature

* Cook time display area will display current cool
down temperature

Fahrenheit or Celsius Function -

choose temperature format:

¢ Unit is not in a cooking or cleaning process

e Press "Set Cooking Temperature", "Decrease Value"
and "Increase Value" buttons simultaneously for
1 second

e Cooking temperature display area will display last
value "C" or "F"; Display will alternate between "C"
and "F" every 2 seconds

e Press "Start/Stop" key when the display is showing
the desired value ("C" or "F")

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-11



SIMPLE CONTROL OPERATING INSTRUCTIONS

Turn on and preheat the oven

Alto-Shaam recommends preheating the Combitherm® before cooking.
P Green light will
appear while oven
® Press the Power key. — or & is booting up.

¢ Choose a Mode.

Steam Combi Convection

* Press Oven Temperature key.

* Adjust temperature with arrow keys.

* Press Cook Time key.

e Adjust time with arrow keys.

® Press the Start/Stop key. ’/

® Preheat oven before loading food.

NOTICE: TO SHUT THE OVEN OFF, PRESS AND

HOLD @ FOR FIVE SECONDS. THE RED
LIGHT WILL APPEAR INDICATING THAT
THE OVEN WILL BEGIN THE SHUT DOWN
PROCESS.

TO FORCE SHUT DOWN IN THE RARE
EVENT THE CONTROL LOCKS UP, PRESS
AND HOLD @ FOR TEN SECONDS.

To cook manually by probe

* Choose a Mode.

Steam Combi Convection
® Press the Oven Temperature key; ﬂ)
adjust temperature with arrow keys. A

* Press the Probe Temperature key; !J

adjust temperature using the arrow keys.

* Load food into oven and insert probe info food.

® Press the Start/Stop key. E]

To cook manually by time

Steam Combi Convection

¢ Choose a Mode.

® Press the Oven Temperature key;
adjust temperature with arrow keys.

® Press the Cook Time key; adjust
time using the arrow keys.

e Load food into oven.

® Press the Start/Stop key. ’/

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ A-12



PREVENTATIVE MAINTENANCE

Cleaning Agents . . . . .. ... B-2
Preventative Maintnance . . ... ... ... . . . . .. .. e B-3
Protecting Stainless Steel. . . ... ... ... . . . ... B-4
Cleaning Schedule. . . ... ... ... . . B-5
Ventless Hood Filters. . . . ... ... .. .. . . . . . B-6
Express Touch with CombiClean . ... ..... ... ... ... ... .. ... .. ........ B-7
Simple Control with CombiClean. . .. ....... ... ... ... . . . . . . . . . . ... B-8
Cleaning without CombiClean Program . ... .......... ... ... ............ B-9
Preventative Maintenance Checklist . .. ... ... ... ... ... ... ... ... ......... B-10
Return to Main Table of Contents ... ......... ... . ... . ... . ... ......... ii

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ B-1



PREVENTATIVE MAINTENANCE

ComBICLEAN CLEANING AGENTS

CombiClean tablets are to be used only with the factory installed automatic cleaning option.

A DANGER A DANGER

ALWAYS wear rubber gloves when using ALWAYS wear protective eye wear
CombiClean tablets or spray oven cleaner. when using spray oven cleaner.
NOTICE: Use authorized Combitherm cleaner only. FIRST AID:
Unauthorized cleaning agents may discolor or harm Skin: Flush with water. Remove contaminated clothing
interior surfaces of the oven. Read and understand and do not re-wear until washed. If irritation persists see
label and material safety data sheet before using the a physician.

oven cleaner. Eyes: Flush with water for 15 minutes. See a

CAUTION: Causes eye, skin, and respiratory tract physician immediately.

irritation. keep out of reach of children. Inhalation: If difficulty in breathing occurs, leave area

PRECAUTIONS: immediately and do not return until dust is settled. If

-Do not take internally. irritation persists, see a physmlan.

Ingestion: Drink large quantities of milk or water. DO
NOT INDUCE VOMITING. See a physician immediately.

PROTECTIVE PACKAGING OF TABLETS WILL
- Wash hands thoroughly after handling. BEGIN TO DISSOLVE ONTO SKIN IF HANDLED
WITH DAMP OR WET HANDS.

- Avoid contact with eyes and skin.

- Use rubber gloves when using this product.

- Avoid mixing with strong, concentrated acids.

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-2



PREVENTATIVE MAINTENANCE

PREVENTATIVE MAINTENANCE

In addition to the routine cleaning and maintenance
procedures, there are several additional steps to be

taken for both sanitation and to keep the oven running
efficiently. Refer to the following inspection checklists for
acomprehensive approach to longevity and equipment
efficiency. These additional safeguards will help prevent
down time and costly repairs.

DO NOT DISPOSE OF GREASE, FAT, WOOD
CHIPS OR SOLID WASTE DOWN THE OVEN
DRAIN.

Fats and solids will eventually coagulate in the drain system,
causing blockage. Consequently, water will back-up into the
condenser and interior oven compartment, resulting in an
oven that is inoperable.

MAKE CERTAIN THE DRAIN SCREEN IS
ALWAYS IN PLACE. REMOVE ANY SOLID WASTE
MATERIAL FROM THE OVEN BOTTOM AND
DRAIN SCREEN BEFORE IT ENTERS THE DRAIN
SYSTEM.

The routine removal of solids from the drain screen will help
prevent blockage.

USE THE AUTHORIZED COMBITHERM OVEN
CLEANER ONLY.

The use of unauthorized cleaning agents may discolor or
harm the interior surfaces of the oven.

WARNING
When smoking is completed, remove smoker box

from oven. Dispose of wood chips in a fire proof
waste receptacle to prevent the risk of fire.

TO PROLONG THE LIFE OF THE DOOR GASKET,
CLEAN THIS ITEM DAILY.

The acids and related compounds found in fat, particularly
chicken fat, will weaken the composition of the gasket unless
cleaned on a daily basis. Wipe with a hot, soapy cloth.

TO ADDITIONALLY PROTECT GASKET LIFE,
ALLOW OVEN DOOR TO REMAIN SLIGHTLY
OPEN AT THE END OF THE PRODUCTION DAY.
An open door will relieve the pressure on the door gasket.

ROUTINELY CLEAN DOOR HINGES.
Open oven door to relieve tension. Clean all parts of
the hinge.

ON A MONTHLY BASIS,
DECALCIFY OR DESCALE
THE OVEN.

Using the Scale Free cleaner,
CE-27889, place 7 ounces of the
product in the drain. Run a Heavy-
Duty cleaning cycle. After the
cleaning cycle has been completed,
use the hand shower to spray down
the oven interior. Swing open the
interior fan guard and spray down
the area behind the panel. Direct a
stream of water down the interior
drain cover to thoroughly rinse

the cleaner out of the oven. After the oven interior has been
sprayed down, run a RINSE cleaning cycle.

2l

w

To prevent SERIOUS PERSONAL
INJURY, DEATH, or PROPERTY
DAMAGE:

DO NOT steam clean, hose down
or flood the interior or exterior
with water or liquid solution of
any kind. DO NOT use water jet
to clean.

Failure to observe this precaution
will void the warranty.

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-3



PREVENTATIVE MAINTENANCE

PROTECTING STAINLESS STEEL SURFACES

Qg [tis important to guard against corrosion

r”\.\

in the care of stainless steel
surfaces. Harsh, corrosive,
or inappropriate chemicals
can completely destroy the
protective surface layer
of stainless steel. Abrasive
pads, steel wool, or metal implements will abrade
surfaces causing damage to this protective coating
and will eventually result in areas of corrosion.
Even water, particularly hard water that contains
high to moderate concentrations of chloride, will
cause oxidation and pitting that result in rust
and corrosion. In addition, many acidic foods
spilled and left to remain on metal surfaces are

contributing factors that will corrode surfaces.

Proper cleaning agents, materials, and
methods are vital to maintaining the appearance
and life of this appliance. Spilled foods should be
removed and the area wiped as soon as possible
but at the very least, a minimum of once per day.
Always thoroughly rinse surfaces after using a
cleaning agent and wipe standing water as quickly

as possible after rinsing.

CAUTION

RA
Q

To protect stainless steel surfaces,
completely avoid the use of

@\“E Bn(,& abrasive cleaning compounds,
O,

chloride based cleaners, or
cleaners containing quaternary
salts. NEVER use hydrochloric acid
(muriatic acid) on stainless steel.
NEVER use wire brushes, metal
scouring pads or scrapers.

CLEANING AGENTS

Use non-abrasive cleaning products designed for
use on stainless steel surfaces. Cleaning agents
must be chloride-free compounds and must not
contain quaternary salts. Never use hydrochloric
acid (muriatic acid) on stainless steel surfaces.
Failure to observe this precaution will void the
warranty. Always use the proper cleaning agent at
the manufacturer's recommended strength.
Contact your local cleaning supplier for

product recommendations.

CLEANING MATERIALS

Cleaning can usually be accomplished with the
proper cleaning agent and a soft, clean cloth.
When more aggressive methods are needed, use a
non-abrasive scouring pad on difficult areas and
make certain to scrub with the visible grain of
surface metal to avoid surface scratches. Never
use wire brushes, metal scouring pads, or scrapers
to remove food residue. Failure to observe this

precaution will void the warranty.

To prevent SERIOUS INJURY,
DEATH, or PROPERTY DAMAGE:

The appliance must be cleaned
thoroughly to avoid deposits of
grease and or food residues inside
the appliance that may catch fire. If
fat deposits and/or food waste inside
the appliance ignite, shut down the
appliance immediately and keep the
appliance door closed to extinguish
the fire. If further extinguishing is
required, disconnect the appliance
from the main power and use a fire
extinguisher (do not use water to
extinguish a grease fire!). Failure

to clean the appliance properly
invalidates the warranty and relieves
Alto-Shaam of all liability.

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢« B-4



PREVENTATIVE MAINTENANCE

CLEANING SCHEDULE

DAILY GASKET CLEANING DAILY OVEN CLEANING
It is important to prolong the life of the oven gasket To be performed at the end of the production day or
by cleaning on a daily basis. Routine cleaning will between production shifts.

help protect the gasket from deterioration caused by

acidic foods.
CLEANING CYCLE NEEDED AFTER SMOKING

To prevent the transfer of smoke residue to non-smoked
products, a cleaning cycle is required before cooking
non-smoked items.

1. Allow the oven to cool, then wipe the gasket
and crevices with clean cloth soaked in warm
detergent solution.

2. Wipe the gasket and crevices with a cloth and clean
rinse water.

MONTHLY CLEANING
Do not attempt to remove gasket or place

in the dishwasher. 1. Spray Head
2. Drain Pipe

PROBE USAGE AND CLEANING
After each use of the CORE TEMP mode, wipe the probe 1
tip with a clean paper towel to remove food debris. Follow TETER BRACKET - ﬂ
by wiping the probe with a disposable alcohol pad. Return 2‘;&225%13\1’53,?5';\@85'%43}/}«3@&\\,;E ==
the probe to the proper door bracket position. The probe oRsTACKING TS v ==
cable should not be placed near the broiler element at the HELMIT

RESET
top of the oven.

ELECTRICAL CONNECTION

Probe Cleaning Procedures R R —_| (CORD OR HARDWIRE)
1. Remove all food debris from probe between loads and
. . . . —
at the end of each production shift. Wipe the entire D pATER
. HAND SPRAYER VALVE
probe, probe cable assembly, and probe holding bracket 2 REQUIRES SEPERATE
with a clean cloth and warm detergent solution. 1-1/2" DRAIN

2. Remove detergent by wiping the probe, cable, and TANKCLEAN-OUT

bracket with a cloth and clean rinse water.

3. Wipe probe and probe bracket with disposable alcohol

pad or sanitizing solution recommended for food
contact surfaces.

4. Allow probe and cable to air dry in the probe To prevent SERIOUS PERSONAL
holding bracket. The probe cable should not be placed INJURY, DEATH, or PROPERTY
near the broiler element at the top of the oven. DAMAGE:

5. Wipe the probe with a disposable alcohol pad prior to DO NOT steam clean, hose down
inserting into a new food product. m or flood the int.erif)r or ex.terior

l with water or liquid solution of
any kind. DO NOT use water jet
' to clean.
Failure to observe this precaution
will void the warranty.

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-5



PREVENTATIVE MAINTENANCE

TOP EXHAUST VENT

/

FILTER TRACK

| lo o

| lo ( \ _O
/ FILTER SWITCH

1. Charcoal Filter: The charcoal filter should be
inspected for contaminant's on a regular basis.
Replacement must be made at a minimum of
three month intervals — more often if heavy
contaminant's are visible or if the filter no
longer controls odors.

To remove the charcoal filter, pull and slide out.

When replacing the filter, ensure that the filter
clip is in place at rear of the filter. Make certain
the air flow arrow(s) point toward the hood fan
(back of unit), and that the filter is replaced
using the filter track in the metal back plate
provided with the hood.

FI-24114

2. Grease Filter: Cleaning frequency should be

based on oven usage with a maximum of two
weeks between cleaning if the oven is used for
non-grease laden products or steam applications
only. Grease laden products require cleaning
frequency of at least once a week.

Remove the grease filter by pulling it straight
out of the housing. Place the filter in the
dishwasher or wash separately by placing in
hot, soapy water until all grease and particles
have been removed. Rinse thoroughly. Allow
the filter to air dry before reinstalling.

To replace the grease filter, the metal handles
on the filter casing should be facing toward the
front of the unit.

FI-24113

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢« B-6



PREVENTATIVE MAINTENANCE

EXPRESSTOUCH WITH COMBICLEAN OPTION

Four (4) cleaning levels are offered: rinse, light, normal,
and heavy-duty cleaning. CombiClean® tablets or
Combitherm liquid spray cleaner may be used. Side racks
and shelves may remain inside oven during cleaning.
Remove solid wastes from the bottom of the oven and the
drain screen to prevent blockage.

Notice: If a power outage were to occur during
any of the cleaning cycles, the oven will
begin a six (6) minute forced-rinse cycle.

SELECT CLEANING MODE FROM ANY SCREEN.

NOTICE: If oven is too hot to safely clean, an oven with
red interior will appear on the screen and the
cool down function is automatically activated.
Allow oven to cool to 200°F (93°C) before
cleaning.

CLEANING MODE MENU

)

PREVIOUS f
SCREEN

PRESS WATER ON ICON TO CONFIRM

THAT WATER SUPPLY IS TURNED ON.

OVEN TOO HOT WARNING

Must allow oven to cool down before inserting
CombiClean tabs or spraying with cleaner

SELECT DESIRED LEVEL OF CLEANING.

& RINSE (20 MINUTES)

o
O o

-C-QD LIGHT (30 MINUTES)

Oo o
O
NORMAL (1 HOUR 21 MINUTES)

°0 ~ R
@ HEAVY-DUTY (2 HOURS 6 MINUTES)

INSERT APPROPRIATE NUMBER OF CoMBICLEAN 1 0z
OR 0.5 0z TABLETS as directed by touchscreen or spray
interior of oven with combitherm liquid spray cleaner.
User may add one additional tablet in either normal or
heavy duty modes for particularly dirty ovens.

COMBI CLEANER REQUIREMENT

The number of required CombiClean
tabs is shown.

b

STARTf

|D TOUCH THE GREEN START ARROW ICON TO
BEGIN CLEANING.
Oven beeps when cleaning is finished.
Leave door slightly ajar.

CLEANING IN PROCESS

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ B-7



PREVENTATIVE MAINTENANCE

SIMPLE CONTROL WITH COMBICLEAN
OPTION

One (1) heavy-duty cleaning cycle (2 hours 5 minutes) is
offered. CombiClean® tablets or Combitherm liquid
spray cleaner may be used. Side racks and shelves may
remain inside oven during cleaning. Remove solid wastes
from the bottom of the oven and the drain screen to
prevent blockage.

Notice: If a power outage were to occur during
any portion of the cleaning cycle, the oven will
begin a six (6) minute forced-rinse cycle.
Cook temperature display area will display “RIN”.
Cook time display area will display “-.--"

SELECT CLEANING MODE.

NOTICE: If oven is too hot to safely clean, "door" will
appear on the screen and the cool down
function is automatically activated. Open the
oven door to allow oven to cool to 200°F (93°C)
before cleaning.

Cooking temperature display area will display "CLn".
Cooking time display area will display "6" - referring to
the number of cleaning tablets to insert.
Lift interior oven drain screen and insert six (6)
ComBICLEAN TABLETS or spray interior of oven with
Combitherm liquid spray cleaner. User may add one
additional tablet for particularly dirty ovens.
Close oven door.

>
Press key until the LED lights to begin cleaning cycle.
Cooking temperature display area will display "CLn".

Cooking time display area will display time remaining.

Oven beeps when cleaning is finished. Leave door
slightly ajar.

Oven Temperature
display area

Cleaning Key *

| @@= START/STOP

Cook Time
display area

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-8



PREVENTATIVE MAINTENANCE

CLEANING - WITHOUT COMBICLEAN PROGRAM

The CT Express Combitherm can be ordered without the CombiClean® option. Combitherm
liquid spray cleaner should be used.

NOTICE: If oven is too hot to safely clean, touch the cool down function key & to activate.

Open the oven door to allow oven to cool to 200°F (93°C) before cleaning.

Side racks and shelves may remain inside oven during cleaning. Remove solid wastes from
the bottom of the oven and the drain screen to prevent blockage.

Wearing safety glasses and rubber gloves, generously spray the interior oven surfaces
with an even coating of Combitherm Liquid Oven Cleaner. Spray all built in components,
shelves, and side racks. Spray both sides of the oven.

*  Securely close the oven door and let the solution stand for a minimum of 10 minutes.

*  Press Power on.
9]

*  Press Steam .

. _
& for ten minutes.

* SetTime

*  Oven beeps for 3 minutes at the end of the steam cycle or until the door is opened or
until a cook mode button is pressed.

*  Open door.

*  Make certain to thoroughly rinse all surfaces to remove any cleaning solution residue.
Use a non-abrasive cleaning pad for any problem areas.

*  Replace the side racks and shelves.

*  Wipe door gasket with a hot, soapy cloth.
Wipe again with a clean rinse cloth.

e Leave door slightly ajar to air dry.

To prevent SERIOUS PERSONAL
INJURY, DEATH, or PROPERTY
DAMAGE:

DO NOT steam clean, hose down
or flood the interior or exterior
lm with water or liquid solution of
any kind. DO NOT use water jet
' to clean.

Failure to observe this precaution
will void the warranty.

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-9



More frequent preventative maintenance inspection/service is required when cooking large quantities of fatty foods. The acids
and related compounds found in fat, particularly chicken fat, accumulate over time and can damage oven components.

ALTO-SHAAM — UNIT INFORMATION

Business Name:

Model Number:

Serial Number:

Daily Inspection - Start Date:

DAILY INSPECTION CHECKLIST
% N\ %\,
INSPECT & CLEAN: b\ %

Product Probe (Thermometer)

Door Gasket (Inner Door Seal)

Inner Door Glass

Front Drip Tray

Touchscreen & Overlay

(Inspect for cracks, peeling, moisture, etc)

Execute Automatic Wash Cycle
(With Approved Cleaning Chemical ONLY)

EMPLOYEFE INITIALS [y S s Sy [ [P J——

COMPONENT FAILURE & REPLACEMENT

List details of the failure(s) beside the day they occurred. (Leave blank if components are working properly)

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-10



More frequent preventative maintenance inspection/service is required when cooking large quantities of fatty foods. The acids
and related compounds found in fat, particularly chicken fat, accumulate over time and can damage oven components.

ALTO-SHAAM — UNIT INFORMATION

Business Name:

Model Numbet:

Serial Number:

Weekly Inspection - Date:

WEEKLY INSPECTION CHECKLIST

Inspect - Oven Cavity Lamp

Inspect - Oven Cavity for signs of Grease/Catbon Buildup

Inspect - Behind the Fan Panel inside the Oven Cavity for signs of Grease/Carbon Buildup

Inspect - Behind the Fan Panel inside the Oven Cavity for signs of Scale Buildup

Inspect - The Heat Exchanger for any signs of major deformation
(If Yes, IMMEDIATELY remove from setvice and take corrective action steps)

Inspect - The Heat Exchanger for any loose/disconnected pipes or flanges
If Yes, IMMEDIATELY remove from service and take corrective action steps

Inspect - Convection Elements for signs of cracking, deformation, or damage

GO

HOOD

UNITS Clean Ventless Hood grease filters
ONLY,

EMPLOYEE INITIALS

COMPONENT FAILURE & REPLACEMENT

List details of the weekly failure(s) beside the week they occurred. (Leave blank if items are working properly)

Week 1

Week 2

Week 3

Week 4

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-11



More frequent preventative maintenance inspection/service is required when cooking large quantities of fatty foods. The acids
and related compounds found in fat, particularly chicken fat, accumulate over time and can damage oven components.

ALTO-SHAAM — UNIT INFORMATION

Business Name:

Model Number:

Serial Number:

Monthly Inspection - Date:

MONTHLY INSPECTION CHECKLIST

Inspect/Test - Proper Draining of the Oven Cavity

Inspect - All Drain Lines for Leaks or Clogs

ELEC. BOILER
Descale the Steam Generator

Inspect - Oven Cavity for any signs of Scale Buildup

Descale the Oven Interior

Inspect Ventless Hood paper filter (replace as needed)

Test Ventless Hood drain for proper drainage and signs of leaking

EMPLOYEE INITIALS

COMPONENT FAILURE & REPLACEMENT

Summarize any component failure(s) that may have occurred during this month. (Leave blank if items are working propetly)

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-12



More frequent preventative maintenance inspection/service is required when cooking large quantities of fatty foods. The acids
and related compounds found in fat, particularly chicken fat, accumulate over time and can damage oven components.

ALTO-SHAAM — UNIT INFORMATION

Business Name:

Model Number:

Serial Numbert:

12 Month Inspection - Date:

TWELVE-MONTH INSPECTION CHECKLIST

Replace - Steam Bypass Hose

Inspect - Cleaning Pump Hose

Inspect/Test - Proper Draining of the Oven Cavity

Inspect - All Drain Lines for Leaks or Clogs

Inspect - All Solenoid Hoses (Both Ends)

Inspect - Upper Browning Valve Hose

Inspect - Low Pressure Relief Valve & Hose

Inspect - Convection Element Seal (from the electrical compartment)

Inspect - Gas Heat Exchanger Seal (from the electrical compartment)

Inspect - N6 Oven Temperature Probe Seal

N Descale the Steam Generator

ELEC. BOILER
UNITS ONLY Remove & Inspect - Steam Generator Elements

o

Inspect - Hand Shower Hose

Inspect - Hand Shower Handle

Inspect - Product Probe

Inspect - Water Injection Tube

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-13



Inspect - Oven Cavity for any signs of Scale Buildup

Inspect - Oven Cavity Lamp

Inspect - Oven Cavity for signs of Grease/Carbon Buildup

Inspect - Behind the Fan Panel inside the Oven Cavity for signs of Grease/Carbon Buildup

Inspect - Behind the Fan Panel inside the Oven Cavity for signs of Scale Buildup

Inspect - The Heat Exchanger for any signs of major deformation
(If Yes, IMMEDIATELY remove from service and take corrective action steps)

Inspect - The Heat Exchanger for any loose/disconnected pipes or flanges
(f Yes, IMMEDIATELY remove from service and take cotrective action steps)

Inspect & Ensure - Exhaust Pipes are Exiting the Oven Cavity

Inspect - Heat Exchanger Flange Gasket (Replace as Needed)

Inspect & Tighten - Heat Exchanger Flange Bolts

Inspect & Tighten - Heat Exchanger Burner Flange Hardware & Gasket
(Replace as Needed)

Inspect & Tighten - Heat Exchanger Igniter Flange Hardware & Gasket
(Replace as Needed)

Inspect - Heat Exchanger Exhaust Pipes
(Ensure they ate exiting out past the oven cavity ceiling flange) ESG models only

Inspect - Oven Cavity Ceiling Flange & Flange Gasket - ESG models only

Tighten - Burner Flange Bolts

D00DOODDDDD

Tighten - Igniter Flange Bolts

Inspect - Heat Exchanger Weep Holes to ensure they are free of obstructions

(If the hole is obstructed, IMMEDIATELY remove oven from service and replace the Heat Exchanger) Not

applicable to CTP/CTC models

@

Inspect - Convection Elements for signs of cracking, deformation, or damage

Replace - Oven Lamp Cover(s) & Gasket(s)

Descale the Oven Interior

Inspect - Door Gasket (Replace as Needed)

Wipe Down the Inner Door Glass

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS » B-14




Inspect - Front Drip Tray (Clean as Needed)

Inspect - Front Drip Tray Hose

Inspect - Control Ovetlay

Inspect & Tighten - All Electrical Connections

Inspect & Test - All cooling fans for proper operation

Inspect & Tighten - Door Hinges

Inspect & Tighten - Door Handle

Review - Error Code History

Note the Software Version (Update if Not Current)

Record - Water Pressure (Static & Dynamic)

Record - Line Voltage Across All Lines

Record - Line Voltage to Ground on Each Line

Record - Amperage Across All Three Legs (WHEN HEATING)

Function Test All Components (List Components)

COMPONENT FAILURE & REPLACEMENT

Note any component failure that was discovered during this twelve month inspection. (Leave blank if items are working propetly)

Customer Signature

Technician Signature

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ B-15




ERROR CODES

Emergency Operation Mode . . ... ... .. . . . . . . . . ... C-2
Error Codes . . . . .. C-3
Return to Main Table of Contents . . .. .. ... ... . . . ii

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ C-1



ERROR CODES

EMERGENCY OPERATION MODE

If the oven malfunctions, an error code will appear in the SET THE OVEN CONTROLS AS IF OPERATING UNDER
display. In the event of an error, the Combitherm may be NORMAL CIRCUMSTANCES.

operated on a limited basis. Error conditions under which
continued operation is possible are indicated by “Yes”

in the chart on the next page. To operate the oven in the
event of an error code:

Depending on the error code involved, oven function,
such as temperature range, may be limited.

lD PRESS THE START ICON TO BEGIN COOKING.

lD PRESS THE START ICON TO ACKNOWLEDGE D
THE ERROR. PRESS THE STOP ICON WHEN TIMER EXPIRES.

The icons that begin to flash represent operational

. The Combitherm will return to normal operation when
modes that are still usable.

the oven fault is corrected.
SELECT ONE OF THE AVAILABLE COOKING MODES.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-2



ERROR CODES

EMERGENCY OPERATION MODE (CONTINUED)
ERROR CODES

When the oven malfunctions, an error code will appear in the display.

E PRESS THE START ICON TO ACKNOWLEDGE THE ERROR.

The icons that begin to flash represent operational modes that are still usable.

When the oven fault is corrected, the Combitherm will return to normal operation.

Model Mode
Error .
Code Display Shows ES | ESG Steam Combination Convection Retherm
ESI
EO1 | Low Water Boiler Yes | No No No To 365°F/185°C No
EO02 | Control Temp High Yes | Yes No No No No
EO3 | Fan Motor Error Yes | Yes No No No No
EO4 | Fan Motor 2 Error Yes | Yes No No No No
E11 | Convection Temperature High Yes | Yes | BOILER UNITS No No No
ONLY
E13 | Boiler Temperature High Yes | No No No Yes No
E15 | Condenser Temperature High Yes | Yes No No To 356°F/180°C No
E20 | B11 Core Temperature Probe Single Point | Yes | Yes No No No No
Fault - HACCP only
E21 | N6 Cavity Probe Fault Yes | Yes | BOILER UNITS No No No
ONLY
E22 B10 Core Temp Probe Fault Yes Yes BY TIME ONLY | BY TIME ONLY BY TIME ONLY BY TIME ONLY
E23 | B4 Boiler Probe Fault Yes | No No No No No
E24 | B5 Bypass Probe Fault Yes | Yes No No Yes No
E25 | B3 Condenser Probe Fault Yes | Yes Yes No To 356°F/180°C No
E26 | N8 Boiler Safety Temperature Probe Fault | Yes | No No No No No
E27 | Boiler Element Temperature High Yes | No No No Yes No
E34 | Steam Generator Drain Pump Fault Yes | No No No No No
E36 | Steam Temperature High Yes | No No No Yes No
ES51 No Water in Boiler Yes | No No No Yes No
E53 | Fan Motor High Temperature Yes | Yes No No No No
E54 | Fan Motor 2 High Temperature Yes | Yes No No No No
E55 | Vent Not Open Yes | Yes Yes Yes Yes Yes
(NO BROWNING) (NO BROWNING) (NO BROWNING) (NO BROWNING)
E57 | No Rinse Water Yes | Yes Yes Yes Yes Yes
E93 | Communication Error FROM Display Board | Yes | Yes No No No No
E94 | Communication Error TO Display Board Yes | Yes No No No No

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-3




ERROR CODES

If your Alto-Shaam® unit is not operating properly, check the following before calling your Authorized
Alto-Shaam Service Agent:
@ Check that unit is receiving power. Circuit breaker turned on?

NOTICE

This section is provided for the assistance of qualified and trained service technicians only and is not

intended for use by untrained or unauthorized service personnel. Do not attempt to repair or service
the oven beyond this point. Contact Alto-Shaam for the nearest authorized service agent. Repairs
made by any other service agents without prior authorization by Alto-Shaam will void the warranty.

When the oven malfunctions, an error code will appear in the display.

D PRESS THE START ICON TO ACKNOWLEDGE THE ERROR.

When the oven error notification has been acknowledged, the Combitherm will attempt to return
to normal operation.

Error
Code

Error Call Out in Display

Description of Error

Possible Causes

EO1

Low Water Boiler

Low water level in boiler

— Water supply is shut off.
— Low water pressure.

— Generator drain cap/hose missing or leaking.
— Generator drain pump is defective.
— Generator drain pump elbow leaking.

— Fill solenoid not energized.
— Fill solenoid faulty.

— Wiring or connection error at the solenoid or the

relay board.

— Water level probe connection/wiring error at

probe or relay board.

— Water level probe requires descaling and/or

replacement.

EO2

Control Temperature High

Relay board surface
temperature too high

— Cooling fan(s) not being energized.

— Cooling fan(s) faulty.

— Wiring/connection error at cooling fan(s).

— Faulty relay board.

EO3

Convection Fan Motor Error

Convection fan motor failure

— Motor VFD not energized.

— No input signal to VFD from relay board.
— Motor VFD faulty, not outputting to motor after

input signal received.

— Motor fan wheel blocked/obstructed.
— Connection/wiring error at VFD, motor, hall effect

sensor, relay board.
— Faulty motor.

EO04

Lower Convection Fan
Motor Error

Lower convection fan motor
failure on 20-20 unit

— Motor VFD not energized.

— No input signal to VFD from relay board.
— Motor VFD faulty, not outputting to motor after

input signal received.

— Motor fan wheel blocked/obstructed.
— Connection/wiring error at VFD, motor, hall effect

sensor, relay board.
— Faulty motor.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-4

(CONTINUED ON NEXT PAGE)



ERROR CODES

Error | Error Call Out in Display Description of Error Possible Causes
Code
E11 Convection Temperature Oven cavity temperature N6 | — Convection element contactor stuck closed/on.
High too high — Faulty oven temperature probe connection at
relay board.
— Faulty N6 oven temperature probe.
— Faulty relay board.
E13 Boiler Temperature High Steam generator — Immersion element is not submersed in water
temperature too hot due to scale build up on the water level probe/
inside the tank.
— Immersion element contactor stuck closed.
— Faulty B4 steam generator temperature probe
connection at relay board.
— Faulty B4 temperature probe.
E15 Condensor Temperature Condensor water — Untreated water supply line is disconnected or
High temperature too high shut off. o ) )
— Cooling solenoid is not being energized when B3
probe is above set point.
— Faulty B3 condensate temperature probe
connection at relay board.
— Faulty B3 condensate temperature probe.
E20 HACCP Only - B11 Core Single point core — Probe not installed inside oven.
Temperature Probe Single temperature probe defect or | — Faulty B11 Single Point Core Temperature probe
Point Fault disconnected receptacle connection at relay board.
— Faulty B11 single point core temperature probe.
Error E20 is not shown in display. — Debris buildup on probe receptacle pins inside of
Instead a probe sign with “?” is the oven.
shown as popup window. In case
the customer cooks in time mode
during first step and during second
step switches to probe mode but has
no probe in place, the error E20 will
be shown in the error code list and
HACCP list.
E21 N6 Oven Cavity N6 probe “open” — Faulty N6 oven cavity temperature probe
Temperature Probe Fault connection at relay board.
— Faulty N6 oven temperature probe.
E22 B10 Core Temperature Multipoint core temperature |— Faulty B10 multipoint core temperature probe
Probe Multipoint Fault probe defect or connection at relay board.
disconnected — Faulty B10 multipoint core temperature probe.
E23 B4 Boiler Probe Fault B4 probe “open” — Faulty B4 boiler temperature probe connection at
relay board.
— Faulty B4 boiler temperature probe.
E24 B5 Bypass Probe Fault B5 probe “open” — Faulty B5 steam bypass probe connection at
relay board.
— Faulty B5 steam bypass probe.
E25 B3 Condensor Probe Fault B3 probe “open” — Faulty B3 condensor probe connection at relay
board.
— Faulty B3 condensor probe.
E26 N8 Immersion Element N8 probe “open” — Faulty N8 safety temperature probe connection at
Safety Probe Fault relay board.
— Faulty N8 safety temperature probe.

(CONTINUED ON NEXT PAGE)

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-5




ERROR CODES

ERROR CODES

Error
Code

Error Call Out in Display

Description of Error

Possible Causes

E27

N8 Immersion Element
Temperature Too High

Immersion element too hot

— Scale buildup inside steam generator and/or on

— Immersion element contactor stuck closed.
— Faulty N8 safety temperature probe.

water level probe.

E34

Steam Generator Drain
Pump Fault

Water level in steam
generator does not drop
during cleaning program

— Scale buildup inside the steam generator and/or
water level probe.

— Obstruction on inlet side of steam generator
drain pump.

— Boiler steam generator pump not being energized.

— Steam generator drain pump defective.

E36

Steam Temperature High

Oven cavity temperature is
too high when operating in
steam mode or combination
mode

— Water supply is not connected or shut off.

— Low water pressure.

— Y1 solenoid valve not energized on a call for steam.
— Y1 solenoid faulty.

— Flow restrictor obstructed.

— Water injection pipe obstructed.

— Steam bypass hose obstructed.

— B5 steam bypass probe dirty or faulty.

E51

No Water In Boiler

Steam generator fill error

— Water supply is disconnected or shut off.

— Low water pressure.

— Boiler drain cap leaking or missing.

— Boiler drain pump defective.

— Drain pump elbow leaking.

— Fill solenoid not energized.

— Fill solenoid faulty.

— Connection/wiring error at the solenoid or the
relay board.

— Water level probe connection/wiring error at
probe or the relay board.

— Water level probe requires descaling and/or
replacement.

ES53

Fan Motor High
Temperature

Fan motor high limit

— Faulty motor high limit connection at relay board.
— Obstructed fan wheel.
— Faulty convection motor.

E54

Lower Fan Motor High
Temperature
(20-20 unit size only)

Fan motor high limit

— Faulty motor high limit connection at relay board.
— Obstructed fan wheel.
— Faulty convection motor.

E55

Vent Not Open

Browning valve does not
open

— Browning valve vent motor not being energized.

— Alignment issue between motor cam and vent
motor safety switch (micro switch).

— Faulty connection at vent motor, vent motor
switch or relay board.

— Fault vent valve safety switch (micro switch).

— Faulty vent motor.

(CONTINUED ON NEXT PAGE)

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-6



ERROR CODES

ERROR CODES

Error | Error Call Out in Display Description of Error Possible Causes
Code
E57 No Rinse Water During rinse no water — Water supply is shut off.
flow is detected through — Low water pressure.
solenoid valve — Check wiring to all components mentioned below.
— Flow switch is dirty or defective.
— Double water solenoid valve defective (Y3.)
— Relay board, high voltage, defective.
E92 Communication Error, Communication error — Faulty ribbon cable connections between boards.
RB Does Not Properly between display board and | — Faulty ribbon cable.
Respond relay board — Relay board, low voltage, connector defective.
— Display board connector defective.
E93 Communication Error, Communication error — Faulty ribbon cable connections between boards.
FROM Display Board between display board and — Faulty ribbon cable.
low voltage relay board — Relay board, low voltage, connector defective.
— Display board connector defective.
E94 Communication Error, Communication error — Faulty ribbon cable connections between boards.
TO Display Board between display board and | — Faulty ribbon cable.
low voltage relay board — Relay board, low voltage, connector defective.
— Display board connector defective.
E98 RB is in Celsius and DB is Change the unit — Control programming issue.
in Fahrenheit configuration in the setup — Ribbon cable defective.
menu — Relay board, low voltage, connector defective.
— Display board connector defective.
E99 RB is in Fahrenheit and DB Change the unit — Control programming issue.
is in Celsius configuration in the setup — Ribbon cable defective.
menu — Relay board, low voltage, connector defective.
— Display board connector defective.
E100 | DB version is not equal to Software update may have — Perform software update.
RB version. Error generated | failed. — Ribbon cable defective.
by DB. — Faulty compact flash card.
— Relay board, low voltage, connector defective.
— Display board connector defective.
— Software may need to be updated again.

(CONTINUED ON NEXT PAGE)

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-7




ERROR CODES

ERROR CODES

Error
Code

Error Call Out in Display

Description of Error

Possible Causes

E101

DB version is not equal to
RB version. Error generated
by RB.

Software update may have
failed.

— Perform software update.

— Ribbon cable defective.

— Faulty compact flash card.

— Relay board, low voltage, connector defective.
— Display board connector defective.

— Software may need to be updated again.

E102

Ventless Hood Fault —
Filters Not Present

Filter safety switches are
not properly activated.

— Grease and/or charcoal filter not installed.
— Faulty filter switch.
— Poor connection at safety switch or relay board.

E103

Ventless Hood Fault —
Pressure Failure

Ventless hood operation
failure.

— Hood power switch not turned to the on position.
— Hood power switch defective.

— Hood fan not operating.

— Filter(s) clogged/need replacement.

— Pressure switch tube plugged or disconnected.
— Faulty pressure switch or connection error/failure.
— Hood fan turning in the wrong direction.

E104

Ignition Failure

Attempt for ignition.

— Gas supply disconnected or turned off.

— Gas supply pressure too low/too high.

— Gas valve not being energized by ignition control.
— Ignition control not creating a spark.

— Faulty spark wire and/or igniter.

— Faulty flame sense wire or sensing wire connection.
— Faulty ignition control.

— Blocked or obstructed flue pipe(s).

E105

Low Water Pressure

Low or no water pressure to
oven.

— Water supply not connected or turned off.

— Water pressure too low.

— Solenoid valve not being energized.

— Solenoid valve not opening.

— Pressure switch faulty.

— Poor connection at pressure switch and/or relay
board.

E106

Cleaning Pump Fault

Cleaning pump is not
running.

— Cleaning pump motor not being energized.

— Cleaning pump faulty.

— Poor connection at pump motor and/or relay board.
— Hall effect sensor wiring/connection error/failure.

E107

Boiler Drain Pump Fault

Boiler drain pump is not
running.

— Boiler drain pump motor not being energized.

— Boiler drain pump faulty.

— Poor connection at pump motor and/or relay board.
— Hall effect sensor wiring/connection error/failure.

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » C-8




TROUBLESHOOTING TREES

No Convection Heat (1PH) ... ... ... ... . . . . . i D-2
No Convection Heat (208-240V, 3PH) . . . ... .. ... . ... ... D-3
No Convection Heat (380-415V, 3PH) . . . . .. oottt e e D-4
No Convection Element Heat with Retherm Option (208-240v, 3PH) . ... ........... D-5
No Convection Element Heat with Retherm Option (380-415V, 3PH) . ... ........... D-6
No Steam Operation (1PH). . . . . oo vttt e e e e D-7
No Steam Operation (208-240V, 3PH) . . . . o v ottt e e e e e e D-8
No Steam Operation with Retherm Option (208-240v,3PH) . ... ................. D-9
No Steam Operation (380-415V, 3PH) . . . o v v vttt e e e e e D-10
No Steam Operation with Retherm Option (380-415V,3PH) . .. .................. D-11
Too Much Steam Production . . .. ... ... ... ... .. . . .. ... D-12
No Smoke . . .. .. D-13
No Catalytic Converter Operation . .. ........ ... ... . ... D-14
Two Speed Motor - No High Speed Motor Operation

- with motor protection switch . . . ... .. ... . .. . .. D-15

- without motor protection switch . ... ...... . ... ... . ... . ... .. ... . .. ... D-16
Two Speed Motor - No Low Speed Motor Operation

- with motor protection switch . . . . ...... ... ... ... ... ... .. .. D-17

- without motor protection switch . . ......... ... ... ... . ... .. ... ... ... D-18
Single Speed Motor - No Motor Operation

- with motor protection switch . . . ... .. ... ... . ... D-19

- without motor protection switch . . ......... ... ... ... . ... .. ... ... ... D-20
No Display/Control Not Powering On (Unit Dead). . ... ...................... D-21
No Display/No Operation - Simple Control ... ....... ... ... ... ... .......... D-22
No Browning Vent Motor Operation .. .......... ... ... ... .. .. ... ... ..... D-23
No Oven Lamp . ... ... .. D-24
No Condensate Injection (E15 Error Code). . . . v v v v vt e e e e e e e e e D-25
No Cleaning Operation . . . . .. ... ... D-26
No Cooling Fan Operation .. ........ ... .. . . . .. . .. D-27
No Hood Operation . . ... .. . . . e D-28
Hood Door Safety Latch Not Closing . . . .. ....... ... ... ... .............. D-29
Hood Door Safety Latch Not Releasing . .. ......... ... . ... ... ......... D-30
No Browning Bar Heat (280-240v,3PH) . ... ... ... .. ... . . . D-31
No Browning Bar Heat (380-415V, 3PH) . . . . . . .. ... . D-32
K-77 Safety Contactor Troubleshooting (380-415V0nly). . . . ... ... ..o .. D-33
Return to Main Table of Contents ... .......... . ... ... .. ............... ii

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-1



TROUBLESHOOTING TREES

No Convection Heat (1PH)

Is N-6 oven temperature
probe below set point?

N-6 must be below set
point

Is K-41 contactor coil
energized?

L1/A1 from RBH X4/412,
L2/A2 from N7 high limit

Is K-41 contactor closing?

Replace K-41 contactor @ @

L1/1 from TB 1, L2/3 from TB 3 e D) Is voltage across terminals
(Mo 1/3 on K-41 contactor?

Is voltage across terminals
2/4 on K-41 contactor?

Replace K-41 contactor

Is voltage across 3-4 and
2-5 on E-41 convection
elements?

Repair wiring between K-41
and E-41 (o > -
Ohm out E-41 element and Is E-41 drawing current
replace if necessary @ on all legs?

Convection cycle is
operating

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-2



TROUBLESHOOTING TREES

No Convection Heat (208-240V, 3PH)

Is N-6 oven temperature
probe below set point?

N-6 must be below set

€ Is K-41 contactor coil
point

energized?

L1/A1 from RBH X4/412,
L2/A2 from N7 high limit

Is K-41 contactor closing?

Replace K-41 contactor Clio 5 Ces D
Is L1/L2/L3 voltage across
L1/L2/L3 supplied from TB 1/2/3 Ciio > terminals 2/4/6 on K-41
contactor?

Is voltage across terminals
1/3/5 on K-41 contactor?

Replace K-41 contactor

Is voltage across 3-4
and 2-5 and 1-6 on E-41
convection elements?

Repair wiring between K-41
and E-41 m @

Is E-41 drawing current
on all legs?

Ohm out E-41 element m

and replace if necessary

Convection cycle is
operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-3



TROUBLESHOOTING TREES

No Convection Heat (380-415V, 3PH)

Is N-6 oven temperature
probe below set point?

N-6 must be below set .
point Is K-41 contactor coil

energized?

L1/A1 from RBH X4/412,
L2/A2 from N7 high limit

Is K-41 contactor closing?

Replace K-41 contactor @
) Is L1/L2/L3 voltage across
L1/L2/L3 supplied from K-77 7 No D i 8
contactor 1/3/5 Mo > term'”%'gngg{gr‘??” K-41

Is voltage across terminals
2/4/6 on K-41 contactor?

Replace K-41 contactor

Is there L1/L2/L3 voltage
across terminal 1 at
F10/11/12 fuses?

Repair wiring between K-42
and F10/11/12 m

Is there L1/L2/L3 voltage
across terminal 2 at

Repair blown F10/11/12 Cho D

fuse(s) F10/11/12 fuses?
Is voltage across 3-4
Repair wiring between No and 2-5 and 1-6 on E-41

F10/11/12 fuses and E-41 convection elements?

Is E-41 drawing current on

Ohm out E-41 element all legs?

and replace if necessary

Convection cycle is
operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS « D-4



TROUBLESHOOTING TREES

No Convection Element Heat with Retherm Option (208-240V, 3PH)

Is N-6 or B5 below set
point?

One must be below
set point in order for
convection elements to be
active in Retherm

Is K-41 contactor coil
energized?

L1/A1 from RBH X4/412, L2/A2
from N7 high limit through A2
on K-42 contactor

Is K-41 contactor closing?

Replace K-41 contactor

L1/L2 supplied from TB 1/3 @ lfeﬂq/iﬁfs'ozl}iggnaﬁ[ﬂﬁs
contactor?

Is voltage across terminals
1/3 on K-41 contactor?

Replace K-41 contactor

Is K-42 contactor coil
energized?

A1/L1 supplied from RBH X4/410, A2/L2
supplied from N7 high limit through K-61 o D
N/C contacts (if Browning Bar option) Ces D

Is L3 power at terminal 6
of K-42 contactor?

L3 supplied to K-41/6 Cho >

from TB 5

Is L3 power at terminal 5 of
K-42 contactor?

Replace K-42 contactor

Is voltage across E-41
convection elements?

Repair wiring between
K-41 and E-41 Chio > Ces D

Ohm out E-41 element oD Is E-41 drawing current on
and replace if necessary ~——

all legs?

Convection Retherm cycle
is operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-5



TROUBLESHOOTING TREES

No Convection Element Heat with Retherm Option (380-415V, 3PH)

point?

One must be below
set point in order for
convection elements to be
active in Retherm

Is N-6 or B5 below set

L1/A1 from RBH X4/412,
L2/A2 from N7 high limit
through A2 on K-42 contactor

Is K-41 contactor coil
energized?

Is K-41 contactor closing?

Replace K-41 contactor

L1/L2 supplied from K-77
contactor

Is L1/L2 voltage across

Replace K-41 contactor

Is voltage across terminals

No terminals 1/3 on K-41

contactor?

2/4 on K-41 contactor?

Repair wiring

between K-42
and F10/11

Is there L1/L2 voltage
across terminal 1 at

F10/11 fuses?

A1/L1 supplied from RBH X4/410,
A2/L2 supplied from N7 high limit
through K-61 N/C contacts (if
Browning Bar option)

Is K-42 contactor coil
energized?

L3 supplied to K-41/6
from K-77 contactor

Is L3 power at terminal 5 of
K-42 contactor?

Replace K-42 contactor

Chio >

Is L3 power at terminal 6 of

K-42 contactor?

Repair wiring between
K-42 and F12

Is there L3 voltage across
terminal 1 at F12 fuse?

Replace blown F12 fuse

No

Is there L3 voltage across
terminal 2 of F12 fuses?

Repair wiring between K-41
and E-41

Is voltage across E-41
convection elements?

Ohm out E-41 element and
replace if necessary

Convection Retherm cycle

is operating

Is E-41 drawing current on
all legs?

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-6



TROUBLESHOOTING TREES

No Steam Operation (1PH)

Is water connected
to the oven, turned on and
operating at pressures

between 30-90 psig?

Connect water,
turn on, or correct

Is controlling probe below
pressures and retest

its set point?

Controlling probe must be
below set point for steam
production to take place

Is Y1 solenoid being
energized?

L1/A1 supplied from
RBH X4/408, L2
supplied from TB 12

Replace Y1 solenoid

Is Y1 solenoid opening?

Repair obstruction between Y1

Is water flowing from Y1
and flow control valve inlet

to flow control valve inlet?

Repair/replace flow control

A Is water flowing through
valve as required

flow control valve?

Is water flowing from
flow control valve outlet
to injection pipe inlet?

Repair obstruction between flow
control valve and injection pipe

Is injection pipe clear of

Repair/replace injection pipe debris?

Repair injection pipe/

Is water flowing into the
disintegration box as required

center of the fan wheel?

L1/A1 from RBH X4/412,

Is K-41 contactor coil
L2/A2 from N7 high limit

energized?

Replace K-41 contactor

L1/1 from TB 1, L2/3

Is voltage across terminals
from TB 3

1/3 on K-41 contactor?

Replace K-41 contactor Is voltage across terminals

2/4 on K-41 contactor?

Repair wiring between
K-41 and E-41

Is voltage across 3-4 and
2-5 on E-41 convection
elements?

Ohm out E-41 element and

Is E-41 drawing current on
replace if necessary

all legs?

Steam cycle is operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-7



TROUBLESHOOTING TREES

No Steam Operation (208-240V, 3PH)

Is water connected
to the oven, turned on and
operating at pressures
between 30-90 psig?

Connect water, turn on,
or correct pressures
and retest

Is controlling probe below
its set point?

Controlling probe must be
below set point for steam

Is Y1 solenoid being
production to take place

energized?

L1/A1 supplied from
RBH X4/408, L2
supplied from TB 12

Replace Y1 solenoid Is Y1 solenoid opening?

Repair obstruction between Y1

Is water flowing from Y1
and flow control valve inlet

to flow control valve inlet?

Repair/replace flow control

A Is water flowing through
valve as required

flow control valve?

Is water flowing from
flow control valve outlet
to injection pipe inlet?

Repair obstruction between flow
control valve and injection pipe

Is injection pipe clear of

Repair/replace injection pipe debris?

Repair injection pipe/

Is water flowing into the
disintegration box as required

center of the fan wheel?

L1/A1 from RBH X4/412,
L2/A2 from N7 high limit

Is K-41 contactor coil
energized?

Replace K-41 contactor

Is L1/L2/L3 voltage across
terminals 2/4/6 on K-41
contactor?

L1/L2/L3 supplied from
1B 1/2/3

Is voltage across terminals

Replace K-41 contactor 1/3/5 on K-41 contactor?

Is voltage across 3-4
and 2-5 and 1-6 on E-41
convection elements?

Repair wiring between
K-41 and E-41

Ohm out E-41 element and

Is E-41 drawing current on
replace if necessary

all legs?

Steam cycle is operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-8



TROUBLESHOOTING TREES

No Steam Operation with Retherm Option (208-240V, 3PH)

Is water connected
to the oven, turned on and
operating at pressures
between 30-90 psig2

Connect water,
turn on, or correct
pressures and retest

Is controlling probe below
its set point?

Cho 5

Controlling probe must be
below set point for steam
production to take place

Is Y1 solenoid being
energized?

L1/A1 supplied from | S No Cvesd
RBH X4/408, L2
supplied from TB 12

Replace Y1 solenoid Is Y1 solenoid opening?

Is water flowing from Y1

Repalr obstruction between ¥t CID to flow control valve inlet?

and flow control valve inlet

Repair/replace flow control

A Is water flowing through
valve as required

flow control valve?

Is water flowing from
flow control valve outlet

Repair obstruction between flow m
to injection pipe inlet?

control valve and injection pipe

Repair/replace injection pipe CNo Is injection pipe clear of

debris?

Is water flowing into the

Repair injection pipe/
disintegration box as required m center of the fan wheel?

L1/A1 from RBH X4/412, L2/A2 from N7 high

Is K-41 contactor coil
limit through A2 on K-42 contactor i

energized?

Replace K-41 contactor CID

Is L1/L2 voltage across
terminals 2/4 on K-41
contactor?

L1/L2 supplied from
TB1/3

Is voltage across terminals

Replace K-41 contactor o g Br0se a2

A1/L1 supplied from RBH X4/410, A2/L2
supplied from N7 high limit through K-61
N/C contacts (if Browning Bar option)

Is K-42 contactor coil
energized?

L3 supplied to K-41/6 Is L3 power at terminal 6
from TB 5 m of K-42 contactor?
. Is L3 power at terminal 5
Replace K-42 contactor CID of K-42 contactor?
Repair wiring between Is voltage across E-41
pK.41 ang E-41 m convection elements?

Ohm out E-41 element and

4 Is E-41 drawing current
replace if necessary

on all legs?

Steam cycle is operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-9



TROUBLESHOOTING TREES

No Steam Operation (380-415V, 3PH)

Connect water,
turn on, or correct
pressures and retest

s water connected
to the oven, turned on and
operating at pressures
between 30-90 psig?

Is controlling probe below
its set point?

Controlling probe must be
below set point for steam
production to take place

(No 55

Is Y1 solenoid being
energized?

L1/A1 supplied frgm (No ) CYes

RBH X4/408, L
supplied from TB 12

Replace Y1 solenoid

Is Y1 solenoid opening?

Repair obstruction between Y1
and flow control valve inlet

Is water flowing from Y1
to flow control valve inlet?

Repair/replace flow control
valve as required

Is water flowing through
flow control valve?

Repair obstruction between flow
control valve and injection pipe

Is water flowing from
flow control valve outlet
to injection pipe inlet?

Is injection pipe clear of

Repair/replace injection pipe debris?

Repair injection pipe/
disintegration box as required

Is water flowing into the
center of the fan wheel?

L1/A1 from RBH X4/412, L2/A2 from N7 high
limit through A2 on K-42 contactor

Is K-41 contactor coil
energized?

Replace K-41 contactor

Replace K-41 contactor

Is L1/L2 voltage across
terminals 2/4 on K-41
contactor?

L1/L2 supplied from
TB1/3

Is voltage across terminals
1/3 on K-41 contactor?

A1/L1 supplied from RBH X4/410, A2/L2
supplied from N7 high limit through K-61
N/C contacts (if Browning Bar option)

Is K-42 contactor coil
energized?

L3 supplied to K-41/6
from TB 5

Repair wiring between
K-41 and E-41

Is L3 power at terminal 6
of K-42 contactor?

Is L3 power at terminal 5

Replace K-42 contactor
of K-42 contactor?

Is voltage across E-41
convection elements?

Ohm out E-41 element and

‘ Is E-41 drawing current on
replace if necessary

all legs?

No

Steam cycle is operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-10



TROUBLESHOOTING TREES

No Steam Operation with Retherm Option (380-415V, 3PH)

Is water connected
to the oven, turned on and
operating at pressures
between 30-90 psig?

Connect water,
turn on, or correct
pressures and retest

Is controlling probe
below its set point?

(No>

Controlling probe must be
below set point for steam
production to take place

Is Y1 solenoid being
energized?

L1/A1 supplied from
RBH X4/408, L2
supplied from TB 12

Replace Y1 solenoid

Repair obstruction
between Y1 and flow CNoD
control valve inlet

Is water flowing from
Y1 to flow control
valve inlet?

Repair/replace flow control oD

A Is water flowing through
valve as required

flow control valve?

Repair obstruction between Is water flowing
?Iow control valve and o from flow control valve outlet
injection pipe 0 injection pipe inlet?
Repair/replace Is injection pipe clear
injection pipe Qo > I of deb[r)ig?
(YesO
ir iniection pi Is water flowing
.. Tepalr injection pipe/. oD into the center of the
disintegration box as required fan wheel?

L1/A1 from RBH X4/412, L2/A2 from N7 high

Is K-41 contactor coil
limit through A2 on K-42 contactor

energized?

Replace K-41 contactor CNoD

L1/L2 supplied from

Is L1/L2 voltage across
K-77 contactor

terminals 1/3 on K-41
contactor?

Is voltage across
Replace K-41 contactor CNo > terminals 2/4 on K-41
contactor?
Repair wiring between Is there L1/L2
voltage across terminal 1
K-42 and F10/11 o> AL FI0/11 fuses?

A1/L1 supplied from RBH X4/410, A2/L2
supplied from N7 high limit through K-61 NoD
N/C contacts (if Browning Bar option)

Is K-42 contactor coil
energized?

Is L3 power at
terminal 5 of K-42
contactor?

L3 supplied to K-41/16
from K-77 contactor Qo >

Is L3 power at
Replace K-42 contactor CNo> terminal 6 of K-42
contactor?
Repair wiring between Is there L3 voltage
P K-42 an% F12 o> across terminal 1 at
F12 fuse?
Is there L3 voltage
Replace blown F12 fuse No > across terminal 2 at
2 fuse?
Repair wiring between Is voltage across
Peat and E-41 o> E-41 convection
elements?
Ohm out E-41 element and Is E-41 drawing current
replace if necessary Qo > on all Ieggs?

Steam cycle is operating

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-11



TROUBLESHOOTING TREES

Too Much Steam Production

Is steam bypass port
blocked?

Clear obstruction to steam

bypass port and retest Is steam bypass hose

blocked?

Clear obstruction to steam
bypass hose and retest

Is B5 steam bypass probe
dirty or damaged?

Repair/replace as needed «

Repair/replace low pressure relief /P Is low pressure relief valve

: 0 fully seated in the closed
valve as required ~—— position?

Is a closed system present?

Inspect clean out port on @ @

condensate pan and ensure it is
completely closed and sealed

Operational
If problem persists contact
factory for assistance

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-12



TROUBLESHOOTING TREES

No Smoke

Is smoke icon selected?

Select smoke function and

Is the browning vent
start a cycle

closed?

Smoke will not function if
browning vent is open as detected

by browning vent switch Is there voltage across terminal

1-6 at the smoke element?

L1/1 from RBH X3/306
through SK 3A Fuse (test
fuse) L2/6 from TB

Ohm out element and replace
if necessary

Is element drawing current?

Smoke cycle is operating

If still low or no smoke production taking
place refer to the operation/care manual for
proper operating procedures

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-13



TROUBLESHOOTING TREES

No Catalytic Converter (CC) Operation

Is there voltage across
terminal 1-6 at CC
element?

L1/1 from RBH X2/200
through CC 3A fuse (test
fuse) L2/6 from TB

Is CC element drawing
current?

Inspect vents inside oven
and ensure they are clear of
obstruction, Inspect catalyst
for integrity

Ohm out CC element,
replace if necessary

If all ok, CC is working
properly

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-14



TROUBLESHOOTING TREES

Two Speed Motor - No High Speed Motor Operation (with motor protection switch)

Is F-51 motor
protection switch (MPS) in
the start position?

Reset switch and test
operation

L1 supplied to terminal 21
from RBH/X3/300

Is there L1 power
supplied to terminal 21 of
K-52 contactor?

Is there L1 power at terminal
22 of K-52 contactor?

Replace faulty K-52
contactor

Is K-52 coil energized
and engaged

Unit is in low speed
operation

Repair wiring between K-52/22
and F-51/2

Repair/replace F-51 MPS

Repair wiring between F-51/5

Is L1 power at terminal 2
o> of F-517

Is L1 power at terminal 5
of F-51?

and motor

L1/14 from TB 16, L2/13 from N7
high limit through motor high limit

L2/12 from TB 14/2

No

Is L1 power at motor?

Is motor relay coil
energized?

Is L2 power at terminal 12

Replace motor relay

Repair wiring between motor

of motor relay?

Is L2 power at terminal 8 of
motor relay?

No Is there voltage across blue/

relay and motor

Ohm out motor and replace
if necessary

white wires at motor?

Is motor running?

High speed motor operation
is working

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-15



TROUBLESHOOTING TREES

Two Speed Motor - No High Speed Motor Operation (without motor protection switch)

is there L1 power supplied
to terminal 21 of K-52
contactor?

L1 supplied to terminal 21

from RBH/X3/300 Is there L1 power at terminal

22 of K-52 contactor?

Is K-52 coil energized

Replace faulty K-52 _._ b g9
contactor o > and engaged

Unit is in low speed
operation

Is there L1 power at the blue

Repair wiring between K-52 and T
motor blue wire — wire of the motor?

Is motor relay coil
energized?

L1/14 from TB 16, L2/13 from N7
high limit through motor high limit @

e Is L2 power at terminal 12
L2/12 from TB 14/2 ¥N0/ of motor relay?

Is L2 power at terminal 8 of
motor relay?

Replace motor relay @

Repair wiring between motor C No D Is there voltage across blue/
relay and motor N~—— white wires at motor?

Ohm out motor and replace if @

necessary

Is motor running?

High speed motor operation
is working

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-16



TROUBLESHOOTING TREES

Two Speed Motor - No Low Speed Motor Operation (with motor protection switch)

Is F-51 motor protection
switch (MPS) in the start
position?

Reset switch and test

Is K-52 contactor coil
operation

energized?

L1/A1 from RBH X3/304,
L2/A2 from N7 High limit Is K-52 contactor closing?

Replace K-52 contactor

Repair wiring between K-52/A2

T Is L1 power at terminal 4 of
and K-52/4 (No K-52 contactor?

Replace K-52 contactor @ Is L1 pO\é\/fe}r(?gztgrminal 3

Is L1 power at black wire

Repair wiring between K-52/3 m
on motor?

and motor

Is motor relay coil

L1/14 from TB 16, L2/13 from N7 m energized?

high limit through motor high limit

Is L2 power at terminal 12
of motor relay?

L2/12 from TB 14/2 Cho D

Is L2 power at terminal 8 of
motor relay?

Replace motor relay @

Is there voltage across
black/white wires at motor?

Repair wiring between
motor relay and motor @

Ohm out motor and replace Is motor running?
if necessary m

Low speed operation is ok

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-17



TROUBLESHOOTING TREES

Two Speed Motor - No Low Speed Motor Operation (without motor protection switch)

Is K-52 contactor coil
energized?

L1/A1 from RBH X3/304,
L2/A2 from TB 13-4

Is K-52 contactor closing?

Replace K-52 contactor @ @
Repair wiring between K-52/A2 No D Is L1 power at terminal 4 of
and K-52/4 ~——— K-52 contactor?
CYes 3
Replace K-52 contactor CNo D Is L1 pover _ast 2t‘grminal 3
@D
Repair wi;izg ﬁ:e(t)\t/\(/)eren K-52/3 @ Is L1 p%vr\{er;g}obrlgck wire
Fgh it hough metor igh i Clio>

L2/12 from TB 14/2 @ Is L2 g?vn\q%rt:rt :glr:;i?nal 12

Replace motor relay 0 Is L2 DOn\%VOetro’c;trﬁ;T?inal 8 of
ot rolay Snd motor Chio > Dlackiwhito wiros a moior?

Onm ouitf rr?gctg;sznrg replace @ Is motor running?

Low speed operation is ok

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-18



TROUBLESHOOTING TREES

Single Speed Motor - No Motor Operation (with motor protection switch)

Is F-51 motor
protection switch (MPS) in
the start position?

Reset switch and
test operation

Is there L1 power
supplied to terminal 21 of
K-52 contactor?

L1 supplied to terminal
21 from RBH/X3/300

Is there L1 power at
terminal 22 of K-52 contactor?

Replace faulty K-52 - Is K-52 coil energized
contactor m and engaged?

Unit is in low speed
operation

Is L1 power at terminal 2
of F-51?

Repair wiring between
K-52/22 and F-51/2 @

Repair/replace F-51 MPS No

Is L1 power at terminal 5
of F-51?

Is L1 power at blue wire

Repair wiring between
F-51/43 and motor m on motor?

L2/43 supplied from N-7 N
High limit 0

Is L2 power at terminal
43 of F-517

Repair wiring between m Is L2 power at white wire
F-51/5 and motor on motor?
Repair motor wirin No Is there voltage across
ep: Y blue/white wires at motor?
Ohm out motor and replace m Is motor running?

if necessary

Motor is operating correctly

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-19



TROUBLESHOOTING TREES

Single Speed Motor - No Motor Operation (without motor protection switch)

Is there L1 power at the blue
wire of the motor?

L1 supplied to blue wire

Is motor relay coil
from RBH/X3/300

energized?

L1/14 from TB 16, L2/13
from N7 high limit through
motor high limit

Is L2 power at terminal 12
of motor relay?

L2/12 from TB 14/2

Replace motor relay C No ) Is LZOI%On\qvgtro e:trgirl;w?mal 8

Repair wiring between motor

Is there voltage across blue/
relay and motor

white wires at motor?

Ohm out motor and replace
if necessary

Is motor running?

Motor is working

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-20



TROUBLESHOOTING TREES

No Display/Control not powering on (Unit Dead)

Is voltage across L1/L2 at
main TB?

Is voltage across terminal
1/F1 and terminal 1/F2
6.3A fuses?

Check cord/plug/main
circuit breaker — Install/
Repair/Reset as needed

Repair wiring between
main TB and F/1F2 fuses

Is voltage across terminal 2/F1
and terminal 2/F2 6.3A fuses?

Replace blown F1/F2 (o 3 Ces D

fuses(s)

Repair wiring between F1/F2 /,\P Is voltage across L1/N at
and Power Supply ~—— power supply?

Is 12 VDC across terminals
V+ and V- at power supply?

Replace power supply

Is 12 VDC across display
(LCD) terminals DB3 and
DB1?

Repair wiring between power
supply and LCD m @
Test On/Off board cable for Is there 12 VDC across
continuity. If cable ok, replace m pin 1-2 on On/Off board?
display board

Test On/Off board -
On = Temporary switch between 1-3
Off = temporary switch between 1-4

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-21



TROUBLESHOOTING TREES

No Display/No Operation - Simple Control

Check cord/plug/main
circuit breaker — Install/
Repair/Reset as needed

Is voltage across L1/L2 at
main TB?

Repair wiring between main TB
and F1/F2 fuses

Repair wiring between F1/F2

Is voltage across terminal
1/F1 and terminal 1/F2
6.3A fuses?

Is voltage across terminal 2/F1
and terminal 2/F2 6.3A fuses?

No replace blown F1/F2
fuses(s)

and power supply

/P Is voltage across L1/N at
N power supply?

Is 12 VDC across terminals V+
and V- at power supply?

Replace power supply

Is 12 VDC across RBL
terminals X8-pins 1-2?

Repair wirin
suppl

g between power
y and RBL

Correct cable and retest

Is the ribbon cable securely
seated at the RBL and the
display board?

Is there continuity across
all ribbon cable connection
points end-to-end?

Replace ribbon cable

Is there 12 VDC at pins

31/32 and 33/34 on the
ribbon cable?

Re

place relay board

Test On/Off board cable
for continuity. If cable ok,

replace display board

MN-36008 (Rev. 9) 03/16 »

CNo DD Is there 12 VDC across pin
e 1-2 on On/Off board?

Test On/Off board -
On = Temporary switch between 1-3
Off = temporary switch between 1-4
Replace On/Off board as needed, if On/Off
board tests ok, replace display board

COMBITHERM CT EXPRESS ¢ D-22



TROUBLESHOOTING TREES

No Browning Vent Motor Operation

Is there 12 VDC across
vent motor wiring?

V-1 from RBL X8/2, V+

from RBL X5/5 Is vent motor turning?

Replace vent motor Is motor stopping after

rotating 90°?

Inspect/test vent motor switch and wiring
between vent motor switch and RBL.
Switch is open when vent is closed and
closed when vent is open.

Replace vent assembly if all wiring ok and

vent motor continues to rotate. Vent motor is operating

properly.

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-23



TROUBLESHOOTING TREES

No Oven Lamp

Is oven lamp fully intact?

Replace lamp Is L1 power at RBH

terminal X4/416?

Repair wiring between RBH/416
and TB 17/3

Is L1 power at RBH
X4/414?

Ensure LED DO1 is lit,
replace RBH if necessary

Repair wiring between /P Is L1 power at F3 2A fuse
RBH/414 and F3/1 N terminal 1?

Is L1 power at F3 2A fuse
terminal 27

Replace blown F3 fuse

Is L1 power at oven lamp
receptacle?

Repair wiring between
F3/2 and oven lamp 0 @
Repair wiring between | Is L2 power at F4 2A
F4/1 and TB 12 @ fuse terminal 1?

Is L2 power at F4 2A fuse
terminal 2?

Replace blown fuse

Is L2 power at oven lamp
receptacle?

Repair wiring between @
F2/2 and oven lamp @

Replace receptacle and/or
oven lamp

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-24



TROUBLESHOOTING TREES

No Condensate Injection (E15 error code)

Is B3 probe above 190°F (88°C)?

B3 must be above 190°F (88°C) Is voltage across the coil

of the Y2 solenoid?

L1/A1 supplied from RBH
X2/210, L2/A2 supplied
from TB 12

Is Y2 solenoid opening?

Ensure water pressure o 3 Ces D
does not exceed 90 psi.
Replace Y2 solenoid

Repair obstruction between Y2 — Is water flowing to
solenoid and the condensate (_No > condensate iniegtion
injection nozzle nozzle?

Is water flowing into the
condensate pan?

Repair obstruction in @ @

condensate injection nozzle

Is clean out port on
condensate pan closed?

Close clean out port and retest @

Inspect B3 probe, repair/
clean/replace as required

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-25



TROUBLESHOOTING TREES

No Cleaning Operation

s water connected to the over;
turned on and operating at
pressures between 30-90 psig?

Connect water,
turn on, or correct

Is cleaning pump being
pressures and retest

energized?

L1 supplied from RBH X2/208,

L2 supplied from TB 12 Is cleaning pump

operating?

Inspect pump inlet for @ @
blockage. Repair blockage and/
or replace pump as required

Repair obstruction in hose N Is water/chemical flowing
between pump and injection pipe (( No between pump and

injection pipe?

Is injection pipe clear
of debris?

Repair/replace injection pipe

Is clean out port on
condensate pan closed?

Close clean out port and retest 0

Is Y3 rinse solenoid

L1/A1 supplied from X2/216, w energized?

L2/A2 supplied from TB 12

Is Y3 rinse solenoid
opening?

Ensure water pressure does
not exceed 90 psi.
Replace Y3 solenoid

Is water flowing from
Y3 solenoid to the
injection pipe?

Repair obstruction in hose
between Y3 and injection pipe m @

Pump and Rinse solenoid
are operating*

*Refer to operation/care manual for best
practices regarding cleaning procedures

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-26



TROUBLESHOOTING TREES

No Cooling Fan Operation

Is L1 power at RBH
terminal X4/416?

No repair wiring between

Is L1 power at RBH
RBH/416 and TB 17/3 Ya/4149

Ensure LED DO1 is lit,

replace RBH if necessary Is L1 power at TB 15?

Repair wiring between TB Chio 3 Ces D

15 and RBH X4/414

Repair wring between TB 15 /m Is L1 power at fan
and fan thermal switch N~— thermal switch?

Is L1 power going through
the fan thermal switch?

Thermal switch closes at 130°F @ @
(54°F). If above 130°F (54°F),
replace thermal switch

Is L1 power at each
cooling fan motor?

Repair wiring between thermal
switch and cooling fan motors m @

Is L2 power at each
cooling fan motor?

L2 supplied from TB 12 @

Confirm voltage across
motor wires and repair/
replace cooling fan motors
as required

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-27



TROUBLESHOOTING TREES

No Hood Operation

Is L1 power at TB 16?

Is L1 power at F5 5A fuse

L1 supplied from RBH
X4/414 terminal 27

Repair wiring between TB
Is L1 power at F5 5A fuse
167572 terminal 1?

Replace blown fuse

Repair wring between F5 fuse
and hood switch terminal 4

Is L1 power at hood switch
terminal 4?

Replace faulty hood switch Is L1 power at hood switch

terminal 3?

Install hood filters, close door
and retest

Are hood filters installed
and the hood door
closed?

Repair wring between hood switch

Is L1 power at common
terminal 3 and FSWA1

terminal of FSW1?

Ensure safety switch is being
depressed by the filter. Realign
and/or replace FSW1 As required

Repair wring between FSW1

Is L1 power at common
N/0 and FSW2 Common

terminal of FSW2?

Ensure safety switch is being
depressed by the filter. Realign

Is L1 power at N/O terminal
and/or replace FSW2 As required

of FSW2?

L1 is supplied from FSW2 N/O open,
L2 supplied from TB 19. Repair

Is there voltage at hood fan
wiring/ replace motor as required

and is hood fan operating?

Clean/replace filter(s) as

: Are filters clean (less than
required

25% blockage)?

Test pressure at switch (.25” w.c required
for switch to close). If pressure not present,
inspect filters and pressure tube between
hood cavity and hood pressure switch

Is hood pressure switch
closing?

Hood is operating
properly

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-28



TROUBLESHOOTING TREES

Hood Door Safety Latch Not Closing

Is Combi door closed?

Combi door must be . .
closed for latch to engage Is Combi door switch

closed?

Replace/repair door switch
as required

Repair/replace door switch

Is 0 VDC across RBL
as required X2/5-6?
12 VDC supplied from e D) Is there 12 VDC at door
RBL X6 pins 1 and 2 w/ safety latch solenoid?

Repair/replace solenoid/latch

Is solenoid engaging
as required

the latch?

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-29



TROUBLESHOOTING TREES

Hood Door Safety Latch Not Releasing

Is Combi door open?

Door handle must be

Has the door handle

opened been open for more than
45 seconds?
The door latch releases based
upon a timer. Wait a full 60
seconds for the latch to release
Replace/repair door switch o D) Is there 12 VDC across
as required Qo RBL X2/5-6?

Replace faulty latch e D) Is there 12 VDC at door
solenoid assembly (No ) safety latch solenoid?

Replace faulty RBL

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-30



TROUBLESHOOTING TREES

No Browning Bar Heat (208-240V, 3PH)

Is K-61 Browning Bar
contactor energized?

A1/L1 supplied from RBH/

X3/306, L2 supplied from N7 Is L1/L2/L3 power across

high limit terminals 1/3/5 on K-61
contactor?
Repair wiring between w @
1/3/5 on K-61 and main TB
Is L1/L2/L3 power across
Replace K-61 contactor @ terminals 2/4/6 on K-61

contactor?

Repair wiring between Is power across terminals
K-61 and Browning Bar Chio 1/6 and 2/5 and 3/4 on

element E-61 browning element?

Is Browning Bar element

Ohm out Browning Bar element @
drawing current?

and replace if required

Browning Bar element active

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ D-31



TROUBLESHOOTING TREES

No Browning Bar Heat (380-415V, 3PH)

Is K-61 Browning Bar
contactor energized?

A1/L1 supplied from RBH/
X3/306, L2 supplied from
N7 high limit

Is L1/L2/L3 power across
terminals 1/3/5 on K-61
contactor?

L1/L2/L3 supplied from

K-77 contactor Is L1/L2/L3 power across

terminals 2/4/6 on K-61
contactor?

Replace K-61 contactor

Repair wiring between K-61 and oD Is L1/L2/L3 power across
F20/21/22 fuses No J terminal 1 of F20/21/22 fuses?

Is there L1/L2/L3 power
across terminal 2 of
F20/21/22?

Replace blown fuse(s)

Is power across terminals
1/6 and 2/5 and 3/4 on E-61
browning element?

Repair wiring between F20/21/22 m

and Browning Bar element @

Is Browning Bar element

Ohm out Browning Bar element @
drawing current?

and replace if required

Browning Bar element active

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-32



TROUBLESHOOTING TREES

K-77 Safety Contactor Troubleshooting (380-415V only)

Is K-77 contactor coil
energized?

L1/A1 supplied from TB 16, TB 16
supplied from RBH X4/414, L2/A2
supplied from N7 high limit

Is L1/L2/L3 power across
terminals 2/4/6 on K-77
contactor?

Repair wiring
Is L1/L2/L3 power across
Replace K-77 contactor @ terminals 1/3/5 on K-77
contactor?

K-77 is operating correctly

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ D-33



PARTS INFORMATION

SERVICE PARTS

Exterior. . .. .. E-2
Rear and Bottom Service Parts . . .. ....... ... ... . ... .. ... . E-3
Painted Panels . . . ... ... ... . . .. E-4
Right Hand Door Assembly. . . . ... ... ... . ... ... .. . . .. . .. ... ... E-6
Left Hand Door Assembly. . . . . ... ... . ... .. . E-7
Field Retrofit Kit: Bumper With Threads. . . . ........................... E-8
Interior View . . . . .. . E-9
Top Interior and Right Side. . . ... ... ... ... . .. . ... . .. . .. ... E-10
Interior Rear (Before O07/15). . . . . ... . . . E-11
Interior Rear (After 07/15) . . . . ... . . E-12
Directional Panel Assembly . . . . ........ . ... ... . E-13
Combitherm Motor. . . ... ... . E-14
Electrical Cord & Routing . . ... ... .. ... .. . E-15
Plumbing . . . ... ... e E-16
Control Assembly - Simple (Before 09/14). . ... ...... ... . ... ... ..... E-18
Control Assembly - Simple (After 09/14). . .. ... ... .. . ... .. ... ... ..., E-19
Control Assembly - Express Touch (Before 02/15) .. ..................... E-20
Control Assembly - Express Touch (After 02/15) . . ......... ... ... ..... E-21
Touch Control Replacement Kit (Before 02/15) . . ... ... ... ... ... ... .... E-22
Touch Control Replacement Kit (After 02/15) . . . ......... ... . ... ..... E-23
Touch Control Conversion Kit. . .. ....... ... ... ... ... . ... . .. ... .. ... E-24
Catalytic Converter. . . . ... ... . .. . . e E-25
Broiling Element. . . . ... ... . E-26
Condenser Tank. . .. ... ... E-27
Lamp Assembly . . . ... ... E-28
Smoker Chip Tray Assembly. . ... ... ... .. ... . . ... E-29
Optional Single Point Probe Assembly . . .. .......... ... ... ......... E-30
Optional Hand Shower Assembly . . ........ ... ... ... .. ... ... ......... E-31
Electrical Assembly . . . ... ... ... E-32
Ventless Hood Assembly. . .. ....... ... . ... . . . . . . E-40
Return to Main Table of Contents .. .............. ... ... .. ............ i

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-1



PARTS INFORMATION

EXTERIOR VIEW

I
@\ ‘/ﬂ' 1 H‘ I
o
e o=
Ec =
e ——

1
I
o ololilly 4

) |
o8 [o]+

b

i

S N LN
A @é SECTION A-A
ltem Part Description Qty. ltem Part Description Qty.
1 SC-29871 |Screw, #8 x 1/2" Hex Flg 47 17 1012295 |Bracket, Gasket Corner Channel 1
2 1012981 |Cover, Element Splash 1 18 | SC-22281 |Screw, M5 x 0.81 x 16mm Flat 3
3 1012382 |Bracket, Motor Mount 1 19 5015470 |Insulation Kit 1
4 5014726 |Weld Assembly, Vent Tube 1 20 1012300 |Plate, Hinge Door, Upper, RH 1
B BU-28391 |Bushing, Socket, Membrane 1 1012301 |Plate, Hinge Door, Upper, LH 1
6 CL-22196 |Clip, Holding, M6 4 21 SC-22926 | Screw, M5 x 0.8 x 16mm, Hex 3
7 ST-22193 |Stud, M6 x 27mm, 1/4 Turn 4 22 | SC-22281 |Screw, M5 x 0.8 x 16mm Flat 2
8 SD-22194 |Spring, M6 x 48, Safety 4 23 1012822 |Plate, Hinge Door, Lower, LH 1
9 | WS-22195 |Washer, Safety, Steel 4 1012821 |Plate, Hinge Door, Lower, RH 1
10 | WS-22302 |Washer, Split Lock 1 24 5014123 | Gasket, Door 1
11 | NU-22292 |Nut, M8-1.25, Hex, 18-8, Din #934 1 25 1012268 |Panel, Side Access, S/S 2
12 5014033 |Drip Tray, Weld Assembly 1 1013024 |Panel, Side Access, Painted (specify color) 2
13 | SR-29602 |Side Rack, Wire, S/S 2 26 1012637 |Bracket, Air Tunnel 1
14 LT-29636 |Latch, Door, Dog 1 27 DA-2943 |Drain Screen Assembly 1
15 SH-2903 |Shelf 2 28* | WS-29885 |Washer, Nylon, For 5/16" 1
16 1012798 |Deflector Strip 1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-2




PARTS INFORMATION

REAR & BOTTOM SERVICE PARTS

REAR VIEW

(12—

LEFT SIDE VIEW
Item Part Description Qty. | | ltem Part Description Qty.
1 1012266 | Panel, Top Access, S/S** 1 9 1013370 |Panel, Bottom Access 1
2 PB-29664 |Plumbing, Hand Sprayer 1 10 1013359 | Cover, Condenser Tank 1
3 HL-29741 |Holder, Hand Sprayer 1 11 CP-29648 |Cap, Push-on, Fits 1-1/4" 0D 1
4 1012268 |Panel, Side Access, S/S** 1 12 BU-34977 |Cable Gland, M32, Black 1
5 HO0-29669 |Hose, Hand Sprayer 1 13 5017990 |Back Panel with Inserts 1
6 VA-29646 |Valve, Hand Sprayer Shut-off 1 14 1015490 |[Air Vent 1
7 PB-35228 | Plumbing, 3/4" GHT (M) to 1/2" NPT (F) 1 15 BT-26884 |Tether bracket (not standard on all models) 1
8 1012645 | Bracket, Mount Shut-off Valve 1

** See following page for painted panel part numbers

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-3



PARTS INFORMATION

PAINTED PANELS

Iltem Description Part Number ltem Panel Color Part Number
A |Panel, Cover, Sensor Black PE-35548 J  |Panel, Spot, Hndl Mnt, LH Door Black PE-35602
Brown PE-35552 Brown PE-35606
Burgundy PE-35549 Burgundy PE-35603
Custom PE-35553 Custom PE-35607
Red PE-35550 Red PE-35604
White PE-35551 White PE-35605
B |Panel, Enclosure, Base Black PE-35536 K |Panel, Spot, Hndl Mnt, RH Door Black PE-35596
Custom PE-35541 Brown PE-35600
Brown PE-35540 Burgundy PE-35597
Burgundy PE-35537 Custom PE-35601
Red PE-35538 Red PE-35598
White PE-35539 White PE-35599
C |Panel, Enclosure, Top Black PE-38009 L |Panel, Spot/Weld, Touch Control, LH Black PE-35614
Brown PE-38013 Brown PE-35618
Burgundy PE-38010 Burgundy PE-35615
Custom PE-38014 Custom PE-35619
Red PE-38011 Red PE-35616
White PE-38012 White PE-35617
D |Panel, Side Access Black PE-35524 M | Panel, Spot/Weld, Touch Control, RH Black PE-35608
Brown PE-35528 Brown PE-35612
Burgundy PE-35525 Burgundy PE-35609
Custom PE-35529 Custom PE-35613
Red PE-35526 Red PE-35610
White PE-35527 White PE-35611
E [Panel, Spot, Control, Simple Black PE-35584 N |Panel, Top Access Black PE-35530
Brown PE-35588 Brown PE-35534
Burgundy PE-35585 Burgundy PE-35531
Custom PE-35589 Custom PE-35535
Red PE-35586 Red PE-35532
White PE-35587 White PE-35533
F|Panel, Spot, Control, Touch, LH Black PE-35590 0 |Panel, Weld, Door, LH Black PE-35578
Brown PE-35594 Brown PE-35582
Burgundy PE-35591 Burgundy PE-35579
Custom PE-35595 Custom PE-35583
Red PE-35592 Red PE-35580
White PE-35593 White PE-35581
G |Panel, Spot, Control, Touch, , RH Black PE-35554 P |Panel, Weld, Door, RH Black PE-35572
Brown PE-35558 Brown PE-35576
Burgundy PE-35555 Burgundy PE-35573
Custom PE-35559 Custom PE-35577
Red PE-35556 Red PE-35574
H [Panel, Spot, Cover, Access Black | PE-35632 White PE-35575
Brown PE-35636 Q |Panel, Weld, Outer Shell, LH Black PRIOR 10 7/1/15 PE-35566
Burgundy PE-35633 Black AFTER 7/1/15 PE-37447
Custom PE-35637 Brown PRIOR T0 7/1/15 PE-35570
Red PE-35634 Brown AFTER 7/1/15 PE-37451
White PE-35635 Burgundy PRIOR T0 7/1/15 PE-35567
| |Panel, Spot, Enclosure Black PE-35626 Burgundy AFTER 7/1/15 PE-37448
Brown PE-35630 Custom PRIOR TO 7/1/15 PE-35571
Burgundy PE-35627 Custom AFTER 7/1/15 PE-37452
Custom PE-35631 Red PRIOR TO 7/1/15 PE-35568
Red PE-35628 Red AFTER 7/1/15 PE-37449
White PE-35629 White PRIOR TO 7/1/15 PE-35569
White AFTER 7/1/15 PE-37450

CONTINUED ON THE NEXT PAGE

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS e E-4



PARTS INFORMATION

PAINTED PANELS CONTINUED

ltem Panel Color Part Number ltem Panel Color Part Number
R |Panel, Weld, Outer Shell, RH Black PRIOR 10 7/1/15 PE-35560 S | Panel, Weld/Spot, Door, LH Black PE-35638
Black AFTER 7/1/15 PE-37441 Brown PE-35642
Brown PRIOR T0 7/1/15 PE-35564 Burgundy PE-35639
Brown AFTER 7/1/15 PE-37445 Custom PE-35643
Burgundy PRIOR TO 7/1/15 PE-35561 Red PE-35640
Burgundy AFTER 7/1/15 PE-37442 White PE-35641
Custom PRIOR TO 7/1/15 PE-35565 T |Panel, Weld/Spot, Door, RH Black PE-35620
Custom AFTER 7/1/15 PE-37446 Brown PE-35624
Red PRIOR TO 7/1/15 PE-35562 Burgundy PE-35621
Red AFTER 7/1/15 PE-37443 Custom PE-35625
White PRIOR TO 7/1/15 PE-35563 Red PE-35622
White AFTER 7/1/15 PE-37444 White PE-35623

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-5



PARTS INFORMATION

RIGHT HAND DOOR ASSEMBLY

ltem Description Part Number
A |Weld Assembly, Right Hand Door Black 5015467
Brown 5015759
Burgundy 5015468
Custom 5015469

SPOT ASSY,
Red 5015757 HANDLE MOUNT
A SEE SHOP ORDER g
White 5015758 \: 0 * DOOR HANDLE
N H A SCREWS SHOULD
N BE TIGHTENED TO

16 INCH-POUNDS

WELD ASSY, DOOR
SEE SHOP ORDER

Right Hand Door Assembly - 5015466

Item Part Description Qty.
1 1007698 |Cover, Door Magnet, Single
MA-25734 | Magnet, Door, AR-7E, Black
SC-22273 | Screw, M4 x 0.7mm Pan
WS-22300 |Washer, M4 Split Lock
SC-29735 | Screw, M5 x 0.8 x 35mm Pan
WS-22301 |Washer, M5 Split Lock S/S 18-8
5013647 |Assembly, Inner Glass Right Hand Door
1012299 |[Clip, Inner Glass Right Hand Door
9 RI-27108 |Rivet, Sealed
10 GL-29868 |Glass, Outer, Door
11 SP-36060 |Spacer, Inner Glass Table Top
12 5014392 | Spot, Assembly, Handle Mount S/S
13 5015462 | Spot Assembly, Door Right Hand S/S
14 | HD-29635 |[Handle, Door, Pendulum
15 | TA-25125 |Tape, Duplomont 5'
16 5015005 |Assembly, Latch
“NOT SHOWN Right Hand Door Assembly
with Ventless Hood - 5015466

O |IN[O (OB [Ww N

USE LOCKTITE

=== =22 22w |w|w|w|2 | = (=

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢« E-6



PARTS INFORMATION

LEFT HAND DOOR ASSEMBLY

ltem Description Part Number
A |Weld Assembly, Right Hand Door Black 5014749
Brown 5015744
Burgundy 5014800
Custom 5014801
Red 5015742
White 5015743

WELD ASSY, DOOR
SEE SHOP ORDER

SPOT ASSY, HANDLE MOUNT
SEE SHOP ORDER

DOOR HANDLE SCREWS SHOULD
BE TIGHTENED TO 16 INCH-POUNDS

Left Hand Door Assembly - 5014748

Item Part Description Qty.
1 5014828 |Assembly, Inner Glass Left Hand Door

SC-29735 |Screw, M5 x 0.8 x 35mm Pan

WS-22301 |Washer, M5 Split Lock S/S 18-8
1013174  [Clip, Inner Glass Left Hand Door
RI-27108 |Rivet, Sealed

SP-36060 |Spacer, Inner Glass Table Top

HD-29635 |Handle, Door, Pendulum

TA-25125 |Tape, Duplomont 5'

9 GL-29868 |Glass, Outer, Door

10 1007698 |Cover, Door Magnet, Single

11 MA-25734 | Magnet, Door, AR-7E, Black

12 SC-22273 | Screw, M4 x 0.7 x 10mm Pan

13 | WS-22300 |Washer, Split Lock

14 5015005 |Assembly, Latch

*NOT SHOWN

O |IN[O (OB [wWw N

e D D B B B B Bl DN Bl ) FOCR (OVR B

Left Hand Door Assembly
with Ventless Hood - 5015584

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-7



PARTS INFORMATION
FIELD RETROFIT KIT: BUMPER WITH THREADS

gy —_—
- — === - 1
Iy - _—— |
= ‘\~_
e _ —
Ns\ - — |
Se=_ _

RETROFIT KIT INSTRUCTIONS:

SEE NOTE #3

2X .3020" (0.01mm)

/SIZE “N” DRILL ITEM 4

01 X \@ SEE NOTE #2

i

| —SEENOTE #1

1. REMOVE OLD BUMPER AND CLEAN SURFACES.

2. DRILL OUT TWO HOLES (SIZE N: 0.3020") WITH DRILL BIT PROVIDED.
3. USE INSERT GUN TO CRIMP TWO INSERT NUTS (NU-23909).

4. INSTALL BUMPER WITH THREADS (5018362), 2 PLACES.

/
DETAIL A
e

"% %
o

CONTENTS OF KIT,
DOOR NOT INCLUDED

Item Part Description Qty.
1 5018362 |Bumper With Threads 2
2 NU-23909 |Nut, Hex Insert M5 2
3 68566 Drill Bit, Size N 1
4 SC-25091 | Screw, M5 x 0.8 x 16mm SSCR 1
5 BM-37115 | Bumper Stop, Inner Door 1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-8



PARTS INFORMATION

INTERIOR VIEW

-

734 1 %

Item Part Description Qty. | | ltem Part Description Qty.

1 CB-34033 |[Cable, 20" (510mm) long 10 SR-29602 |Side Rack, Wire, S/S

2 CV-23896 |Cover, S/S Ring 11 SH-2903 | Shelf, S/S

3 5016140 |Injection Tube, with Cleaning 12 LT-29636 |Latch, Door

5016205 |Injection Tube, without Cleaning 13 EL-29560 |Element, Convection, 2 Coil, 1Ph
SA-23934 | Injection Tube Seal EL-29649 |Element, Convection, 3 Coil, 3Ph
1013034 |Bracket 14 GS-29818 | Seal, Convection Element
5014123 |Gasket, Door 15 1012798 | Deflector Strip
WH-29634 |Fan Wheel, 197mm 0D 16* | EL-35057 |Broiling Element, 208-240V
1013935 |Cover Plate EL-36032 |Broiling Element, 318-480V
LG-29644 |Legs, 4" Bullet 17* | GS-35461 |Broiling Element Gasket Seal
LG-26867 |Legs, 6" Bullet GS-25662 | Broiling Element Gasket Seal
FT-29080 |Feet, Seismic, 6" 18* 1013741 |Broiling Element Bracket

9 5014033 |Drip Tray Assembly 19* CN-3654 |Broiling Element Contactor

*NOT SHOWN

(N | |o |

alalnlnlm|lalm|lala|la|al—a—
alalalpa|lalm|lala|lalal—a (=

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-9



PARTS INFORMATION

TOP INTERIOR AND RIGHT SIDE

RIGHT SIDE VIEW

ltem Part Description Qty.
1 FA-36957 |Fan, Box, 70CFM, 230V, 50-60Hz
2 BU-3378 |Bushing, Snap, 1-1/8", Black
3 TT-3750 |Thermostats, CT, Safety, 340°C, 208-240V
TT-36204 |Thermostat, Thermal, Cutout, 340°C Fail Safe Type, 380-415V
HD-29635 |Handle, Door Pendulum
5 PE-37221 |Panel Overlay for Touch Control, after 05/15
PE-29870 |Panel Overlay for Touch Control, prior to 05/15
PE-36835 |Panel Overlay for Simple Control, after 09/14
PE-29869 |Panel Overlay for Simple Gontrol, prior to 09/14
6 BA-34670 |Board, Relay
7 GD-2396 |Fan Guard
8 BU-28391 |Bushing, Low Pressure Membrane

G IO (UG DEIFQN R [NEIG) IR NG IR RS I NCY Y

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-10



PARTS INFORMATION

INTERIOR REAR BEFORE 7/1/15

\
° a 1N In) °o© o
a 1N In)
a DN A In)
{ﬂ__ﬂ} o O a Inglal Y
pﬂd a DN 10}
e o o a N 4 A
o o
of o
® ® °
‘
o (4 A —

- T
é L
@)
e

|

booddos e

lo

iz

9 92 %0ep g

= o
°
o :
11 9 8
10
I I
ltem Part Description Qty. | | ltem Part Description Qty.

1 VVA-26838 |Valve, Baffle 2 11 H0-29667 |Hose, Steam, 4" Long *
2 H0-29435 [Hose, 1-5/8" * 12 VA-33723 |Valve, Solenoid Triple 1
3 HO-2957 |Hose, Steam Bypass, .775 x .575 x .100 * 13 DA-24973 | Drain, Pump, Steam Generator 1
4 H0-29435 |Hose, 1-5/8" * 14 PB-29289 |Plumbing, Reducer Hose 7/8" 1
5 EB-27207 |Elbow, 1-7/8" ID 1 15 PB-29489 |Coupler, 1/2"to 1/2", Straight 1
6 H0-28790 |Hose, 1/2" * 16 | MO0-29746 |Motor, Fan Wheel, 230V 1
7 EB-22221 |Elbow, 0.62 Dia., Center R.875 1 17 1012981 |Cover, Element Splash 1
8 FT-29124 |Fitting, 1/2" Barb to 3/8" NPT 2 18 PR-33724 |Probe, 1650mm Wire Length 1
9 VA-29643 | Valve, Flow Control, 0.06 GPM 1 19 EB-35867 |Elbow, Barbed, 1/2" to 1/2" 2
10 H0-22255 |Hose, 1/2" Flex, Clear, 2-3/4" Lg * 20 PB-27838 |Plumbing, Nylon, 1/2" 1

* ORDER PER FOOT

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-11




PARTS INFORMATION

INTERIOR REAR AFTER 7/1/15

o0 4
a DN a D
Jai N 4 D
Jai N a A
a N a D
a N a D
I N a D
(<]

® @
O =
® @®
Oooo@

284 slelep p o

]

i,

L dd]L

Item Part Description Qty. | | ltem Part Description Qty.
1 VA-26838 | Valve, Baffle 2 11 VA-37014 |Single Solenoid Valve, 208-240V 1
2 HO-29435 |Hose, 1-5/8" * 12 PB-29289 |Plumbing, Reducer Hose 7/8" 1
3 HO-2957 |Hose, Steam Bypass, 0.775 x 0.575 x 0.100 * 13 VA-37015 |Double Solenoid Valve, 208-240V 1
4 EB-27207 |Elbow, 1-7/8" ID 1 14 PB-29489 |Coupler, 1/2"to 1/2", Straight 1
5 EB-22221 |Elbow, 0.62 Diameter., Center R.875 1 15 MQ-29746 |Motor, Fan Wheel, 230V 1
6 FT-29124 |Fitting, 1/2" Barb to 3/8" NPT 2 16 1012981 | Cover, Element Splash 1
7 VA-29643 |Valve, Flow Control, 0.06 GPM 1 17 PR-33724 | Probe, 1650mm Wire Length 1
8 HO-22255 |Hose, 1/2" Flex, Clear, 2-3/4" Lg * 18 HO-28790 |Hose, 1/2" *
9 HO0-29667 |Hose, Steam, 4" Long * 19 EB-35867 |Elbow, Barbed, 1/2" to 1/2" 2
10 DA-24973 |Drain, Pump, Steam Generator 1 20 PB-27838 |Plumbing, Nylon, 1/2" 1

* ORDER PER FOOT

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT

EXPRESS ¢ E-12



PARTS INFORMATION

DIRECTIONAL PANEL ASSEMBLY

ltem Part Description Qty.
1 5016146 |Directional Panel, no Cleaning 1
2 5016147 |Directional Panel, no Cleaning, with Broiling Element 1
3 5016701 |Directional Panel, with Cleaning 1
4 5016702 |Directional Panel, with Broiling Element and Cleaning 2
5 SC-22924 | Screw, M6 x 1.0 x 20mm Hex 1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-13



PARTS INFORMATION

COMBITHERM MOTOR

SERVICE KIT 5014911

Item Part Description Qty.
1 NU-22291 |Nut, M6-1.0 x Hex 18-8, S/S
2 WS-22302 |Washer, Split Lock
** | MO-29746 | Motor, 230V, 2 Speed

3
4** | SD-23939 |Spring

5** | BU-29663 |Bushing, Motor Shaft
6** | WS-29661 |Washer, Motor Shaft Seal

7 | WH-29634 |Wheel, Fan, 197mm 0D

8 1013034 |Bracket, Disintegration Box

9 | WS-22301 |Washer, M5 Split Lock

10 | NU-22289 |Nut, M5-0.8 Hex Nut, 18-8 Din #934

**INCLUDED IN SERVICE KIT 5014911

alaln|lalppalma| ==

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-14



PARTS INFORMATION

ELECTRICAL CORD & ROUTING (AVAILABLE ONLY ON 208V, 1PH MODELS)

[N
oQo
o
o
o

| B
i '
I
q .9 3

CD-3304 & PG-34207 (208V, 1PH, 60HZ ONLY)
CD-36230 (208-240V, 1PH, 50HZ ONLY

Item Part Description Qty.
1 CD-3304 |Cord, 208V, 1PH, 60Hz Only, 10 Gauge, 3 Conductor

CD-36230 |Cord, 208-240V, 1PH, 50Hz Only

2 PG-34207 |Plug, 208V, 1PH, 60Hz Only

*NO CORD/PLUG (ALL OTHER MODELS)

—_ ==

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-15



PARTS INFORMATION

PLUMBING

A

s

Q
L] LR\

INJECTION TUBE ASSEMBLY

SHOWN WITH CLEANING

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-16



PARTS INFORMATION

PLUMBING
Item Part Description Qty.
1 CV-23896 |Cover, ML, S/S Ring, Light Coved Corner 1
2 SC-22281 |Screw, M5 x 0.8 x 16mm Flat 4
3 5013627 |Condensor Tank Weld 1
4 SA-22212 |Condensate Seal 1
5 CM-28145 | Clamp, Hose, 20mm 12
6 HO0-2957 [Hose, Translucent Silicon 1
7 CL-22234 |Clamp, Worm Gear, 40-60, Hose - without cleaning 2
Clamp, Worm Gear, 40-60, Hose - with cleaning 4
8 HO0-29435 |Hose, 1-5/8" (41mm) ID 1
9 HO-22116 |Fitting, Elbow, 90 Deg. 1
10 PB-29162 |Manifold, Injection Tube 1
11 VA-29643 |Valve, Flow Control, 0.06 GPM 1
12 HO0-22255 |Hose, 1/2" Flex, Clear 1
HO0-2957 |Hose, Translucent Silicon, 15" LG AFTER 7/1/15 1
13 FT-29124 |Fitting, 1/2" Barb to 3/8" NPT Adaptor 1
14 VA-33723 | Valve, CT, Solenoid Triple 1
15 CM-29038 |Clamp, Hose, 38mm 2
16 CP-29648 |Cap, Push-on, Fits on 1-1/4" 0D 2
17 SA-25061 |Probe Seal 1
18 PR-33751 |Probe, B5 Bypass 1
19 PR-33751 |Condensate Probe 1
20 SC-29871 |Screw, #8 x 1/2" Hex FLg 2
21 WS-22300 |Washer, Split Lock 2
22 SC-22273 | Screw, M4 x 0.7 x 10mm Pan 2
23 CM-29301 |Clamp, Hose, 23mm - without cleaning 2
Clamp, Hose, 23mm - with cleaning 11

24 HO-28790 |Hose, 1/2" (13mm) ID, Hi-Temp

25 EB-22221 |Elbow, 0.63 Dia., Center R.875

26 H0-29667 |Hose, Steam, 4.5" Lg

27 CM-22794 |Clamp, Gear, HSS, 20 S/S, Range 3/4'-1-3/4"
28 DA-24973 | Pump, Cleaning

29 WS-22302 |Washer, Split Lock

30 SC-27078 | Screw, M6 x 1.0 x 10mm Pan

31 CM-29037 |Clamp, Hose, 32mm

32 PB-29289 |Reducer, 7/8"x 1/2"

33 PB-29489 |Coupler, 1/2" to 1/2"

34 PB-27838 |Plumbing, Nylon, 1/2"Y

35 5016164 |Cleaning Deflector Weld Assembly

36 RI-27108 |Rivet, Sealed

37 SA-26890 |Seal, Vent Motor

38 VVA-26838 |Vent Motor

39 WS-22295 |Washer, Flat M5 S/S

40 WS-22301 |Washer, M5 Split Lock S/S 18-8

41 SC-22926 | Screw, M5 x 0.8 x 16mm, Hex

42 FT-27406 |Coupling w/o. Stop, 1.5"

43 CM-29039 |Clamp, Hose, 55mm

44 EB-27207 |Washer, Drain Support

45 5016205 |Injector Tube Weld Assembly - without Cleaning
5016140 |Injection Tube Weld Assembly - with Cleaning
46 SA-23934 | 0-Ring, Light

47~ EB-35867 |Elbow, Barbed, 1/2"to 1/2"

48 HO-28790 |Hose, 1/2" ID, Hi-Temp, 19.5" LG AFTER 7/1/15

*NOT SHOWN

RIS I Y [ QY DRI DI I O [ (S INGCT (NSO IO RGO (PRI (DY IS RS BEIGY IF NN I NCY) S G [P G Y

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-17



PARTS INFORMATION

CONTROL ASSEMBLY - SIMPLE

BEFORE 09/14

67451
ltem Part Description Qty.
1 BU-25094 |Bushing, Brass, Distance 8
2 CP-25405 |Cap, 15mm Dia. x 8.5mm Button 13
3 (GS-23622 |Gasket, Foam 20" length 1
4 BA-34778 |Board, On/Off 1
5 (C-29772 | Control Assembly, Simple 1
6 (B-34033 |Cable, Communication, 510mm 1
7 (B-29873 |Cable, On/Off Board 1
8 NU-25095 |Nut, Knurled, M3, High, A2, S/S 8

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-18



PARTS INFORMATION

CONTROL ASSEMBLY - SIMPLE

AFTER 09/14

67451
ltem Part Description Qty.
1 BU-25094 |Bushing, Brass, Distance 8
2 CP-25405 |Cap, 15mm Dia. x 8.5mm Button 11
3 GS-23622 |Gasket, Foam 20" length 1
4 CC-36871 |Board, On/Off 1
5 CC-29772 |Assembly, Control Simple Basic 1
6 (B-34033 |Cable, Communication, 510mm 1
7 (B-29873 | Cable, On/Off Board 1
8 NU-25095 |Nut, Knurled, M3, High, A2, S/S 8

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-19



PARTS INFORMATION

CONTROL ASSEMBLY - EXPRESS TOUCH

BEFORE 02/15

67445

Item Part Description Qty.
1 5014363 |Spot Assy, Control S/S 1
5014761 |Spot Assy, Control Black 1
5014762 | Spot Assy, Control Burgundy 1
5014763 |Spot Assy, Control Custom 1
2 5014562 |Assy, Display Mounting Bracket 1
3 5014750 |HACCP PKG With USB Port 1
4 BA-29719 |Board, Control Simple Plus 1
5 BA-34778 |Board, ON/OFF, Touch Screen 1
6 BA-35138 |Programmed Board 1
7 BU-25094 | Bushing, ML, Brass, Distance 2
8 BZ-34675 |Buzzer, Speaker, IND Rated 8 Ohm 1
9 CB-29872 |Cable, LVDS, Simple Plus 1
10 | CB-29873 |Cable, ON/OFF Board 1
11 CB-34914 |Cable, Speaker, Board, Touch 1
12 CP-25405 |Cap, 15mm Dia x 8.5 mm Button 2
13 | NU-25095 |[Knurled M3 High A2 S/S 6
14 NU-27851 | Nut-Hex 5 mm With Star Washer 4
15 PE-29870 |Panel Overlay, Touch 1
16 | CB-34033 |Cable, Communication, 510mm 1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-20



PARTS INFORMATION

CONTROL ASSEMBLY - EXPRESS TOUCH

PHYSICAL APPEARANCE MAY
DIFFER THAN MODEL VIEW

AFTER 02/15

68704

Description

Qty.

Spot Assy, Control RH S/S

Spot Assy, Control LH S/S

Gasket, Foam 20" Length

Assy, Display Mounting Bracket

M4 x 6mm PH PAN HD M/S 0.7

Washer, Flat M4 18-8 S/S

Buzzer, Speaker, with Cable

Bushing, Brass, Distance

Display, Overlay

Cable, ON/OFF Board

Board, ON/OFF Touch

Cable, Power LCD Screen

Knurled M3 High A2 S/S

Program Board

Cable, Communication, 510mm

Cable, LVDS, Interface Board

Board, Control Simple Plus

ltem Part
1 5014363
5015265
2 GS-23622
3 5021078
4 SC-22271
5 WS-22294
6 BZ-34675
7 BU-25094
8 PE-37221
9 CB-29873
10 | CC-36871
11 CB-37252
12 | NU-25095
13 | BA-35138
14 | (B-34033
15 | (CB-38234
16 | BA-29719
17 5014750

HACCP PKG with USB Port

alalala|lalw|la|lm|lalalmm|lalanlmlw]=—

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS

E-21



PARTS INFORMATION

TOUCH CONTROL REPLACEMENT KIT (EXPRESS TOUCH ONLY)

Control Replacement Kit - 5015926

O

BEFORE 02/15

Item

Part

Description

1

NU-25095

Nut, Knurled, M3 High A2 S/S

(B-38234

Cable, LVDS, Express Touch

5014562

Display Mounting Bracket Assembly

(SN N EICR O

BA-35138

Board, Compact Flash

=== =]

BA-29719

Board, Interface

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-22



PARTS INFORMATION

TOUCH CONTROL REPLACEMENT KIT WITHOUT GLASS
(EXPRESS TOUCH ONLY)

3

o

AFTER 02/15

Control Replacement Kit - 5021693

Item Part Description Qty.
1 1017353 |Bracket, LCD Mountin
2 SC-37356 |Screw, PPH, SST
3 | BA-37222R | Display Kit Without Touch Glass

—_ =

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-23



PARTS INFORMATION

TOUCH CONTROL CONVERSION KIT
(CONVERT DOUBLE BUTTON TO SINGLE BUTTON)

AFTER 02/15

Control Replacement Kit - 5021512

Item Part Description
1 (B-37252 |CABLE, POWER LCD SCREEN
BA-37222 |7' DISPLAY, W/O TOUCH GLASS
1017353 |BRACKET, LCD MOUNTING
(C-36871 |BOARD, ON/OFF, ONE BUTTON
(CB-38234 |CABLE, LVDS, TWISTED PAIR
SC-37356 |SCREW, PPH, SST
WS-22294 | WASHER, FLAT M4 18-8 S/S

o

L B e et el el el =1

N~ |Ww (N

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-24



PARTS INFORMATION

CATALYTIC CONVERTER

67780
Item Part Description Qty.
1| FU-34938 |Fuse, 3 Amp 1
2 SC-22766 |Screw, M4 x 0.8 x 10mm Pan 8
3 1014243 |Cover 1
4 (GS-35495 |Gasket Seal 1
5 FI-29651 |Filter 2
6 GS-35494 | Gasket Seal 1
7 | EL-35051 |Element, Heater 1
8 SC-22271 |Screw, M4 x 0.7 x 10mm Pan 4

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-25



PARTS INFORMATION

BROILING ELEMENT

Item Part Description Qty.
1 NU-22289 |Nut, M5-0.8 Hex Nut 18-8 din #934 4
2 WS-22301 |Washer, M5 Split Lock 4
3 GS-35461 |Gasket, Element Seal 2
4 EL-35057 |Element, 208-240V 1

EL-36032 |Element, 380-415V 1
5 GS-35662 |Gasket, Seal, Mounting Bracket 1
6 1013741 |Bracket, Broiling Element 1
7 SC-22926 |Screw, M5 x 0.8 x 16mm, Hex 4

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-26



PARTS INFORMATION

CONDENSER TANK

9013628

Item Part Description Qty.
1 SA-22212 |0-Ring, Red, Silicone 70 Durometer, 225C, 59.6mm x 5.33mm 1

5013627 |Condensor Tank Weld Assembly 1
SA-25061 |Seal, T-Couple Probe 2
PR-33751 |Probe, Thermocouple 3050mm Wire Length 2

Sl (N

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-27



PARTS INFORMATION

LAMP ASSEMBLY

R

5016299

Item Part Description Qty.
1 CV-23896 |MN, S/S Ring, Light Coved Corner 1
2 LP-33413 |CT, Glass, Light 1
3 LP-35865 |Light Bulb, 230V, 40W 1
4 LP-37019 |[Socket, G9, Screw Mtg 1
5 SA-23934 | 0-Ring, Light, 7-20ML Elec. 1
6 SC-22281 |Screw, M5 x 16 Flat Head Csink 4
7 SC-28846 |Screw, M3 x 0.5 x 22mm Pan 2
8 | WS-22299 |Washer, M3 Split Lock 2

Prior to 7/2015

Item Part Description Qty.
1 SC-23141 | Screw 4
2 CV-26607 |Oven Light Cover 1
3 GL-26608 |Oven Light Glass 1
4 GS-26609 |Oven Light Gasket 1
5 LP-35865 |Light, 40W Bulb 1
6 LP-35866 |Light, Snap-In Receptacle 1
Prior to 2/2013 (NOT interchangeable with LP-35865 and LP-35866)

Item Part Description Qty.
5 LP-34206 |Light, 40W Bulb 1
6 LP-34161 |Light, Snap-In receptacle 1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-28



PARTS INFORMATION

SMOKER CHIP TRAY ASSEMBLY

[——]
e
\
5015597
Item Part Description Qty.
1 NU-22289 |Nut, M5-0.8 Hex 18-8 Din #934 4
2 | WS-22301 |Washer, M5 Split Lock S/S 18-8 4
3 (GS-35229 |Gasket, Seal, Smoker Element 1
4 SC-22779 |Screw, M5 x 0.8 x 20mm Pan 4
5 EL-35216 |Element 1
6 5015311 |Smoker Bracket 1
7 5015596 |Smoker Box 1
8* | WC-22540 |Wood Chips, Cherry, 2 Ib. bag 1
9* | WC-22542 |Wood Chips, Apple, 2 Ib. bag 1
10* | WC-22544 |Wood Chips, Sugar Maple, 2 Ib. bag 1
11* | WC-2828 [Wood Chips, Hickory, 2 Ib. bag 1
12* | FU-34784 |Fuse, Smoker, 5 Amp 1
FU-33452 |Fuse, Smoker, 6.3 Amp - 380-415V 2
13* | CE-26277 |Cleaner Kit, Smoker 1

*NOT SHOWN

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-29



PARTS INFORMATION

OPTIONAL SINGLE POINT PROBE ASSEMBLY

NOTICE: Tip of probe should extend 26" (660mm) from
the front face of the unit for proper installation.

5014297
Item Part Description Qty.
1 |SA-22199 Seal, 0-Ring 1
2 |WS-22323 Washer, Flat 1
3 | SA-22322 Seal, Insert, 4mm Dia. 1
4 |WS-22297 Washer, Flat 1
5 [PR-29650 Probe, 1300mm length 1
6 |SA-22320 Seal, Top, PG9 1
7 | SA-22321 Seal, Cone, PG9, Brass 1
8 |PG-3826 Plugs, Adaptor, tube to plug 1

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-30



PARTS INFORMATION
OPTIONAL HAND SHOWER ASSEMBLY

5014743

ltem Part Description Qty.
1 PB-29664 |Plumbing, Hand Sprayer

SC-29871 |Screw, #8 x 1/2" Hex Flg

HL-29741 |Holder, Hand Sprayer

HO-29669 |Hose, Hand Sprayer

VA-29646 |Valve, Hand Sprayer Shut-Off

1012645 |Bracket, Mount Shut-Off Valve

PB-35228 |Plumbing, 3/4" GHT (M) to 1/2" NPT (F)

~N|o(o| s~ |w|N
aAlala|lalala|—=

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-31



PARTS INFORMATION

ELECTRICAL ASSEMBLY - SIMPLE CONTROL - 208V 1PH & 240V 1PH
(5013817 shown)
(

O L
@—_

SECTION A-A

PO OO O™

o | [=le

00000000000

O O

< 0000000000000

0000000000000

OOOOOOOOOOOOOI
0000000000
0000000000
0000000000

0000000000
0000000000

0000000000 &«

0000000000

OO0OO0O0OO0OQROCO
00000 o000
0000000000
0000000000

JUMPERS

=

B

ltem Part Description Qty. | | ltem Part Description Qty.
1* 5013818 |Spot Assembly, Electronic Chassis Rail 1 18 TM-3785 | Partition 2
2" 5015146 |Assembly, Fan Tunnel 1 19 TM-3788 | Terminals, Mark, L 4
3 BA-36144 |Board, Power Supply, 12V, 50W 1 20 TM-3789 | Terminals, Mark, P 2
4 BU-3006 [1/2" Hole Bushing 1 21 TM-3790 | Terminals, Mark, 1 2
5 BU-3378 |1-1/8" Snap Bushing 1 22 TM-3791 | Terminals, Mark, 2 2
6 CN-3731 |Contactor, 50 AMP 1 23 TM-3799 |Terminals, Mark, E 2
7 CU-29666 |Capacitor, 16uF 1 24 TM-3932 | Terminal, Ground 1
8 FU-33184 |Fuse, 5 x 20mm, Slow Blo, 2 AMP, 250V 4 25 TM-33675 |Jumper Strip 2
9 FU-33452 |Fuse, Neozed, 6.3 AMP 2 26 TM-34305 |Terminal, Screwless End 2
10 FU-34771 |Fuse Holder, 2 Bank 1 27 TM-34306 |Terminal, Ground, 6mm, Spring 1
11 FU-35680 |Fuse, 6.25 AMP 1 28 TM-34307 |Terminal, 6mm, Orange, Spring 3
12 RL-33483 |Relay, 240V LY1F 1 29 TM-34308 | Terminal, 6mm, Blue, Spring 3
13 RL-34634 |Universal Mounting Socket 1 30 TM-34309 |Terminal, End Section, Spring 3
14 RL-37266 |Spring, Hold Down 1 31* | TM-34310 |Jumper Bar 1
15 SC-22268 | Screw, M3 x 0.5 x 8mm Pan 2 32 TM-34311 |Terminal, Fuse Holder, 8mm 3
16 SC-29871 | Screw, #8 x 1/2" Hex FLG 4 33 TM-34315 | Terminal, End Plate 1
17 TM-3779 | Terminal Block 4 34 WS-22299 |Washer, Split Lock 2

*NOT SHOWN
MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-32



PARTS INFORMATION

ELECTRICAL ASSEMBLY - SIMPLE CONTROL - 208-240V 3PH

(5014568 shown)
&) o i l
N ® o
\© o o
®\\© ° aiﬁf’(:)@c@)(:)@@@c@)
O Of U @
° SECTION B-B
33
a9 (9 T
27) (30 14
29
@ 20 @ 7 13
@ YVY
@ sisesie
e g acag
.\ RIS _GE)@E)GB T 5
[[IIII]-MW~ OO OO OO D O O
% 2|o||o|o|[o]@ 10
® D@y ch
sles0 -
W giiiied] |
. @] 5666000066
Moo 8228282282
H 066060660600 A
E@@ \ §§§§Z‘§§§§§
f 11 == Soodecoacs
L= O 0] " =
22 (17) @4 (16)
2 @) @7)
ltem Part Description Qty. | | ltem Part Description Qty.
1 1009584 | Din Rail 11-1/2" 1 20 TM-3785 |Partition 3
2" 5013818 [Spot Assembly, Electronic Chassis Rail 1 21 TM-3788 | Terminals, Mark, L 6
3* 5015146 |Assembly, Fan Tunnel 1 22 TM-3789 | Terminals, Mark, P 2
4 BA-36144 |Board, Power Supply, 12V, 50W 1 23 TM-3790 | Terminals, mark, 1 2
5 BU-3006 |1/2" Hole Bushing 1 24 TM-3791 | Terminals, Mark, 2 2
6 BU-3378 |1-1/8" Snap Bushing 1 25 TM-3792 | Terminals, Mark, 3 2
7 CN-3731 | Contactor, 50 Amp 1 26 TM-3799 | Terminals, Mark, E 2
8 CU-29666 |Capacitor, 16uF 1 27 TM-3932 | Terminal, Ground 1
9 FU-33184 |Fuse, 5 x 20mm, Slow Blo, 2 Amp, 250V 4 28 | TM-33675 |Jumper Strip 3
10 FU-33452 |Fuse, Neozed, 6.3 Amp 2 29 | TM-34305 |Terminal, Screwless End 4
11 FU-34771 |Fuse Holder, 2 Bank 1 30 TM-34306 |Terminal, Ground, 6mm, Spring 1
12 FU-35680 |Fuse, 6.25 Amp 1 31 TM-34307 |Terminal, 6mm, Orange, Spring 3
13 RL-33483 |Relay, 240V LY1F 1 32 | TM-34308 |Terminal, 6mm, Blue, Spring 3
14 RL-34634 |Universal Mounting Socket 1 88 TM-34309 |Terminal, End Section, Spring 3
15* RL-37266 |Spring, Hold Down 4 34* | TM-34310 |Jumper Bar 1
16 SC-22268 |Screw, M3 x 0.5 x 8mm Pan 2 35 TM-34311 | Terminal, Fuse Holder, 83mm 3
17 SC-22766 | Screw, M5 x 0.8 x 10mm Pan 3 36 TM-34315 | Terminal, End Plate 1
18* | SC-29871 |[Screw, #8 x 1/2" Hex Flange 4 37 WS-22299 |Washer, Split Lock 2
19 TM-3779 | Terminal Block 6 38 | WS-22301 |Washer, M5 Split Lock S/S 18-8 3

*NOT SHOWN
MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-33



PARTS INFORMATION

ELECTRICAL ASSEMBLY - SIMPLE CONTROL - 380-415V 3PH
(5014569 shown) @

G JUMPERS

(<

i

/‘\U | SECTION G-G

23

24) (22)
@ 23)|(23
.\
S
‘®®®®® OO OO C C
N B B B B
C 33 37
[UT
] AERIR
o8 okl
41
32 25
@ 30

Item Part Description Qty. | | Iltem Part Description Qty.
1* 1009584 | Din Rail 11-1/2" 1 23 TM-3779 | Terminal Block 8
2" 5013818 |Spot Assembly, Electronic Chassis Rail 1 24 TM-3785 | Partition 4
3* 5015146 |Assembly, Fan Tunnel 1 25 TM-3788 | Terminals, Mark, L 6
4 BA-36144 |Board, Power Supply, 12V 50W 1 26 TM-3789 | Terminals, Mark, P 2
5 BU-3006 |1/2" Hole Bushing 1 27 TM-3790 | Terminals, Mark, 1 2
6 BU-3378 |1-1/8" Snap Bushing 1 28 TM-3791 | Terminals, Mark, 2 2
7 CN-3731 |Contactor, 50 AMP 2 29 TM-3792 | Terminals, Mark, 3 2
8 CU-29666 | Capacitor, 16uF 1 30 TM-3799 | Terminals, Mark, E 2
9 FI-33989 |Filter, RD-Module 3 31 TM-3932 | Terminal, Ground 1
10 FI-33990 [EMI Filter 2 32 TM-33479 | Terminals, Mark, N 2
11 FU-33184 |5 x 20mm, Slow Blo, 2 AMP, 250V 4 33 TM-33675 |Jumper Strip 4
12 FU-33444 |Fuse, DO2 Neozed Base Snap-On & 34 TM-34305 |Terminal, Screwless End 4
13 FU-33445 |Fuse, DO2 Neozed Screw Cap 3 35 | TM-34306 |Terminal, Ground, 6mm, Spring 1
14 FU-33447 |Fuse, DO2 Neozed Gauge Ring 20A 3 36 | TM-34307 |Terminal, 6mm, Orange, Spring 3
15 FU-33450 |Fuse, DO2 Neozed 20A, Blue 3 37 TM-34308 |Termianl, 6mm, Blue, Spring 3
16 FU-33452 |Neozed, 6.3 AMP 4 38 TM-34309 |Terminal, End Section, Spring 3
17 RL-33483 |Relay, 240V LYIF 1 39* | TM-34310 |Jumper Bar 1
18 RL-34634 |Universal Mounting Socket 1 40 TM-34311 |Terminal, Fuse Holder, 8mm 4
19 RL-37266 |Spring, Hold Down 1 4 TM-34315 | Terminal, End Plate 1
20 SC-22268 | Screw, M3 x 0.5 x 8mm Pan 2 42 WS-22299 |Washer, Split Lock 2
21 SC-22766 | Screw, M5 X 0.8 X 10mm Pan 3 43 | WS-22301 |Washer, M5 Split Lock S/S 18-8 3
22* | SC-29871 |[Screw, #8 x 1/2" Hex Flange 4

*NOT SHOWN

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-34



PARTS INFORMATION

ELECTRICAL ASSEMBLY - SIMPLE CONTROL - 220-240V 1PH

(5018177 shown)
g — JUMPERS
Salse ® °
ag 1aag
-
°lC__p @
dadidad P
KK
o] AANA A
// I\ SECTION H-H
OOOOODO DD D
GRS H
@ 555555595982l
()% 000000000
&) 0000000000
@ 5525520500 (8)
i I
A [ B e— LR 1 21635208000 f)
e i = @ é -

Item Part Description Qty. | | Iltem Part Description Qty.
1* 1009584 | Din Rail 11-1/2" 1 23 TM-3779 | Terminal Block 8
2" 5013818 |Spot Assembly, Electronic Chassis Rail 1 24 TM-3785 | Partition 4
3* 5015146 |Assembly, Fan Tunnel 1 25 TM-3788 | Terminals, Mark, L 6
4 BA-36144 |Board, Power Supply, 12V 50W 1 26 TM-3789 | Terminals, Mark, P 2
5 BU-3006 |1/2" Hole Bushing 1 27 TM-3790 | Terminals, Mark, 1 2
6 BU-3378 |1-1/8" Snap Bushing 1 28 TM-3791 | Terminals, Mark, 2 2
7 CN-3731 |Contactor, 50 AMP 2 29 TM-3792 | Terminals, Mark, 3 2
8 CU-29666 | Capacitor, 16uF 1 30 TM-3799 | Terminals, Mark, E 2
9 FI-33989 |Filter, RD-Module 3 31 TM-3932 | Terminal, Ground 1
10 FI-33990 [EMI Filter 2 32 | TM-33479 |Terminals, Mark, N 2
11 FU-33184 |5 x 20mm, Slow Blo, 2 AMP, 250V 4 33 | TM-33675 |Jumper Strip 4
12 FU-33444 |Fuse, DO2 Neozed Base Snap-On 2 34 TM-34305 |Terminal, Screwless End 4
13 FU-33445 |Fuse, DO2 Neozed Screw Cap 2 35 | TM-34306 |Terminal, Ground, 6mm, Spring 1
14 FU-33447 |Fuse, DO2 Neozed Gauge Ring 20A 2 36 TM-34307 |Terminal, 6mm, Orange, Spring 3
15 FU-33450 |Fuse, DO2 Neozed 20A, Blue 2 37 TM-34308 |Termianl, 6mm, Blue, Spring 3
16 FU-33452 |Neozed, 6.3 AMP 4 38 TM-34309 |Terminal, End Section, Spring 3
17 RL-33483 |Relay, 240V LYIF 1 39* | TM-34310 |Jumper Bar 1
18 RL-34634 |Universal Mounting Socket 1 40 TM-34311 |Terminal, Fuse Holder, 8mm 4
19 RL-37266 |Spring, Hold Down 1 4 TM-34315 | Terminal, End Plate 1
20 SC-22268 | Screw, M3 x 0.5 x 8mm Pan 2 42 WS-22299 |Washer, Split Lock 2
21 SC-22766 | Screw, M5 x 0.8 x 10mm Pan 3 43 WS-22301 |Washer, M5 Split Lock S/S 18-8 3

22* | SC-29871 |[Screw, #8 x 1/2" Hex Flange 4

*NOT SHOWN

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-35




PARTS INFORMATION

ELECTRICAL ASSEMBLY - EXPRESS TOUCH - 208V 1PH & 240V 1PH
(5014731 shown)

]
L] o
@\ ® o
@\ o]
[e] o
SECTION D-D
17 24
7 30)(29)3%(28) (10)
D L AAl D
sl 0 i#o )
1 3 L3
26 ® ® & |FERR|dad (a0 ele
(25— || SlS|oislgl [T 1 s Rl
(0| = —Tri i o N e I e Y e Y e Y
| ® II ® * Lﬁl‘ A N =
anlan |\ Va|
P ? 2 BB o bid
@t ja N
O ,
JUMPERS /@
A
f ] f
= 5 =y
Item Part Description Qty. | | ltem Part Description Qty.
1* 5015146 |Assembly, Fan Tunnel 1 18 TM-3785 | Partition 2
2 BA-36144 |Board, Power Supply, 12V 50W 1 19 TM-3788 | Terminals, Mark, L 4
3 BU-3006 |1/2" Hole Bushing 1 20 TM-3789 | Terminals, Mark, P 2
4 BU-3378 |1-1/8" Snap Bushing 1 21 TM-3790 | Terminals, Mark, 1 2
5 CN-3731 | Contactor, 50 AMP 1 22 TM-3791 |Terminals, Mark, 2 2
6 CN-34304 |Contactor, 240V, 25 AMP 1 23 TM-3799 | Terminals, Mark, E 2
7 CU-29666 |Capacitor, 16uF 1 24 TM-3932 | Terminal, Ground 1
8 FU-33184 |5 x 20mm, Slow Blo, 2 AMP, 250V 4 25 TM-33675 |Jumper Strip 2
9 FU-33452 |Neozed, 6.3 AMP 2 26 TM-34305 |Terminal, Screwless End 2
10 FU-34771 |Fuse Holder, 2 Bank 1 27 TM-34306 |Terminal, Ground, 6mm, Spring 1
11 FU-35680 |Fuse, 6.25 AMP 1 28 | TM-34307 |Terminal, 6mm, Orange, Spring 3
12 RL-33483 |Relay, 240V LY1F 1 29 TM-34308 | Terminal, 6mm, Blue, Spring 3
13 RL-34634 |Universal Mounting Socket 1 30 TM-34309 |Terminal, End Section, Spring 3
14 RL-37266 |Spring, Hold Down 1 31* | TM-34310 |Jumper Bar 1
15 SC-22268 | Screw, M3 x 0.5 x 8mm Pan 2 32* | TM-34311 |Terminal, Fuse Holder, 8mm 3
16* | SC-29871 |[Screw, #8 1/2" Hex Flange 4 33 TM-34315 | Terminal, End Plate 1
17 TM-3779 | Terminal Block 4 34 WS-22299 |Washer, Split Lock 2
*NOT SHOWN

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT

EXPRESS ¢ E-36



PARTS INFORMATION

ELECTRICAL ASSEMBLY - EXPRESS TOUCH - 208-240V 3PH
(5014732 shown)

-®
(8

ONY§ i
® °
@\ ° EEQ"C}DC@)@C}@@C@)
fo ol
(o} q
SECTION E-E
30
19 19 6 8 14
20) 1(20)(19 13) (29
29 27
Sisesises /@
E(‘asels@l}) ® & & RRVXM laqdcoq Hele
@ ols|lss]isls I I LLLLLY %
@ (0| x| || as fﬂ DO OD D DD
|0||20|2||2|@ 110 10
7&/ DD DD @?mmmmo%cyéccc =
COCOCOC, oo
sleusiece
E JUMPERS @ 0000000000000 E
9% 9999999939 ¢edl
@| cocooooocooo0
L O EERERERREE
M 0000000000 « |
E = 22232‘23233
f 11 = 2009000000 A
e T T @é e
Item Part Description Qty. | | ltem Part Description Qty.
1* 1009584 | Din Rail 11-1/2" 1 20 TM-3785 |Partition 3
2% 5015146 |Assembly, Fan Tunnel 1 21 TM-3788 | Terminals, Mark, L 6
3 BA-36144 |Board, Power Supply, 12V 50W 1 22 TM-3789 | Terminals, Mark, P 2
4 BU-3006 |1/2" Hole Bushing 1 23 TM-3790 | Terminals, Mark, 1 2
5 BU-3378 |1-1/8" Snap Bushing 1 24 TM-3791 | Terminals, Mark, 2 2
6 CN-3731 |Contactor, 50 AMP 2 25 TM-3792 | Terminals, Mark, 3 2
7 CN-34304 |Contactor, 240V, 25 AMP 1 26 TM-3799 | Terminals, Mark, E 2
8 CU-29666 |Capacitor, 16uF 1 27 TM-3932 | Terminal, Ground 1
9 FU-33184 |5 x 20mm, Slow Blo, 2 AMP, 250V 4 28 TM-33675 |Jumper Strip 3
10 FU-33452 |Neozed, 6.3 AMP 2 29 TM-34305 |Terminal, Screwless End 4
11 FU-34771 |Fuse Holder, 2 Bank 1 30 TM-34306 |Terminal, Ground, 6mm, Spring 1
12 FU-35680 |Fuse, 6.25 AMP 1 il TM-34307 |Terminal, 6mm, Orange, Spring 3
13 RL-33483 |Relay, 240V LY1F 1 32 TM-34308 | Terminal, 6mm, Blue, Spring 3
14 RL-34634 |Universal Mounting Socket 1 33 TM-34309 |Terminal, End Section, Spring 3
15 RL-37266 |Spring, Hold Down 1 34* | TM-34310 |Jumper Bar 1
16 SC-22268 | Screw, M3 x 0.5 x 8mm Pan 2 35 TM-34311 |Terminal, Fuse Holder, 8mm 3
17 SC-22766 | Screw, M5 x 0.8 x 10mm Pan 3 36 TM-34315 | Terminal, End Plate 1
18* | SC-29871 |[Screw, #8 x 1/2" Hex Flange 4 37 | WS-22299 |Washer, Split Lock 2
19 TM-3779 | Terminal Block 6 38 | WS-22301 |Washer, M5 Split Lock S/S 18-8 3

*NOT SHOWN
MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-37



PARTS INFORMATION

ELECTRICAL ASSEMBLY - EXPRESS TOUCH - 380-415V 3PH

(5014733 shown) D
5 @
% /JUMPERS

AR

44

A
@\ =
OO O OO
@@ | | [o[e][ele| 02| [ele
QM. —
28 5000000000000
F 30 66606660666600 F
00000000000001
U 6600060060
] dEEE 05606060060
== e so0c99sssel
TUo|To|Tg 0000000000
0000 0000
ﬁ 1 o T !oooﬁoaoo | N ﬁ
= 15 o e =
17 @ (22)
Item Part Description Qty. | | ltem Part Description Qty.

1* 1009584 |Din Rail 11-1/2"
2 5015146 |Assembly, Fan Tunnel
BA-36144 |Board, Power Supply, 12V 50W
BU-3006 |1/2" Hole Bushing
BU-3378 |1-1/8" Snap Bushing
CN-3731 |Contactor, 50 AMP
CN-34304 |Contactor. 240V, 25 AMP
CU-29666 |Capacitor, 16uF
9 FI-33989 |Filter, RC-Module
10 FI-33990 |EMI Filter
11 FI-34492  |Filter, For Spring Clamp
12 FU-33184 |5 x 20mm, Slow Blo, 2 AMP, 250V
13 FU-33444 |Fuse, DO2 Neozed Base Snap-On
14 FU-33445 |Fuse, DO2 Neozed Screw Cap
15 FU-33447 |Fuse, DO2 Neozed Gauge Ring 20A
16 FU-33450 |Fuse, DO2 Neozed 20A, Blue
17 FU-33451 |Fuse, Terminal, 6.3 AMP
18 FU-33452 |Neozed, 6.3 AMP
19 RL-33483 |Relay, 240V LY1F
20 RL-34634 |Universal Mounting Socket
21 RL-37266 |Spring, Hold Down
22 SC-22268 | Screw, M3 x 0.5 x 8mm Pan
23* | SC-22766 |Screw, M5 x 0.8 x 10mm Pan

“NOT SHOWN MN-36008 (Rev. 9) 03/16 » COMBITHERM CT EXPRESS » E-38

24* | SC-29871 |Screw, #8 x 1/2" Hex Flange

25 TM-3779 | Terminal Block

26 TM-3785 | Partition

27 TM-3788 | Terminals, Mark, L

28 TM-3789 | Terminals, Mark, P

29 TM-3790 | Terminals, Mark, 1

30 TM-3791 | Terminals, Mark, 2

31 TM-3792 | Terminals, Mark, 3

32 TM-3799 | Terminals, Mark, E

33 TM-3932 | Terminal, Ground

34 TM-33479 |Terminals, Mark, N

35 TM-33675 |Jumper Strip

36 TM-34305 |Terminal, Screwless End

37 TM-34306 |Terminal, Ground, 6mm, Spring
38 TM-34307 |Terminal, 6mm, Orange, Spring
39 TM-34308 |Terminal, 6mm, Blue, Spring
40 TM-34309 |Terminal, End Section, Spring
41* | TM-34310 |Jumper Bar

42 TM-34311 | Terminal, Fuse Holder, 8mm
43 TM-34315 |Terminal, End Plate

44 WS-22299 | Washer, Split Lock

45 WS-22301 |Washer, M5 Split Lock S/S 18-8

S

WIN | = |2 (WWW[= (BN (NN NN (N (o ||

wlm|lalalnlm|lw|lw|lw|lw|lam|lw|lw|m|lm|lw|la|m|aa|—




PARTS INFORMATION

ELECTRICAL ASSEMBLY - EXPRESS TOUCH - 220-240V 1PH

(5018165 shown) (17
(16) (a2)
JUMPERS
@ @ |
-

g
q c%:
e T O @
\@ cccccjx

4
4
Q
<o
Q
®
°

@
©
o

SECTION G-G °©

c=Aiiavn

P Q
—Ha

T
ss|es|s]
2lo|[0e||2]e| |2

||
1

POOOOD D

0000000000000 l

0000000000000

@ 0000000000000 G

@] 0000000000000
0000000000

@| coocccococooo

@] 0000000000
0000000000
= ®| 0000000000 /@
€ 0000000000 4,/
0oooofo000
0000090000
0000000000
i 1| 4 0000000000
1 o T Jooocoopooo
u] nl X e
¥ (9

Item Part Description Qty. | | Iltem Part Description Qty.
1* 1009584 | Din Rail 11-1/2" 24* | SC-22766 |Screw, M5 x 0.8 x 10mm Pan
2 5013818 |Spot Assembly, Electrical Chassis Rail 25* | SC-29871 |[Screw, #8 x 1/2" Hex Flange
3* 5015146 |Assembly, Fan Tunnel 26 TM-3779 | Terminal Block

4 BA-36144 |Board, Power Supply, 12V 50W 27 TM-3785 | Partition

5 BU-3006 [1/2" Hole Bushing 28 TM-3788 | Terminals, Mark, L

6 BU-3378 |1-1/8" Snap Bushing 29 TM-3789 | Terminals, Mark, P

7

8

=

w

CN-3731 |Contactor, 50 AMP 30 TM-3790 | Terminals, Mark, 1

CN-34304 |Contactor, 240V, 25 AMP 31 TM-3791 | Terminals, Mark, 2
9 CU-29666 |Capacitor, 16uF 32 TM-3792 | Terminals, Mark, 3
10 FI-33989 [Filter, RC-Module 33 TM-3799 |Terminals, Mark, E
11 FI-33990 [EMI Filter 34 TM-3932 | Terminal, Ground
12 FI-34492 |Filter, For Spring Clamp 35 TM-33479 |Terminals, Mark, N
13 FU-33184 |5 x 20mm, Slow Blo, 2 AMP, 250V 36 | TM-33675 |Jumper Strip
14 FU-33444 |Fuse, DO2 Neozed Base Snap-On 37 | TM-34305 |Terminal, Screwless End
15 FU-33445 |Fuse, DO2 Neozed Screw Cap 38 | TM-34306 |Terminal, Ground, 6mm, Spring
16 FU-33447 |Fuse, DO2 Neozed Gauge Ring 20A 39 | TM-34307 |Terminal, 6mm, Orange, Spring
17 FU-33450 |Fuse, DO2 Neozed 20A, Blue 40 | TM-34308 |[Terminal, 6mm, Blue, Spring
18 FU-33451 |Fuse, Terminal, 6.3 AMP 41 TM-34309 |Terminal, End Section, Spring
19 FU-33452 |Neozed, 6.3 AMP 42 TM-34311 |Terminal, Fuse Holder, 8mm
20 RL-33483 |Relay, 240V LY1F 43 | TM-34315 |[Terminal, End Plate
21 RL-34634 |Universal Mounting Socket 44 WS-22299 |Washer, Split Lock
22 RL-37266 |Spring, Hold Down 45* | WS-22301 |Washer, M5 Split Lock S/S 18-8
23 SC-22268 | Screw, M3 x 0.5 x 8mm Pan 46 TM-34310 |Jumper Bar

*NOT SHOWN

[[CY ey ey gy BN PR N O IO NG NG I NG PG VO PG T (PO (R [V NGO (PG IO PUIFQY DUIFQN UG Y
=W 2[R (WW W= BN ||

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-39



PARTS INFORMATION

VENTLESS HOOD ASSEMBLY

- FRONT AND SIDE VIEW

oY,

Vi

SWayL

DETAILE

!
Q -
IX A
N 7

DETAILB

e COMBITHERM CT EXPRESS

. E-40

MN-36008 (Rev. 9) 03/16



PARTS INFORMATION

VENTLESS HOOD ASSEMBLY - SIDE AND REAR VIEW

NOTE: f— e — e — o —
ITEMS PLEASE

SEE 4.10ESI UNIT
ASSEMBLY FOR
CORRECT LOCATIONS

Filters

Iltem Part Description
20 FI-24113  |Fllter, Grease VHML-10
21 FI-24114 | Fllter, Odor Guard Il

DETAIL A

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-41



PARTS INFORMATION

VENTLESS HOOD ASSEMBLY - 67751

ltem Part Description Qty. ltem Part Description Qty.
1 1013195 |Cover, Back 1 19 FA-37258 |Fan, AC, Backward Curved 1
2 1013196 | Cover, Sensor Stainless Steel 1 20 FI-24113  |Fllter, Grease VHML-10 1
PE-35548 | Cover, Sensor Black 1 21 FI-24114  |Fllter, Odor Guard Il 1
PE-35549 | Cover, Sensor Burgundy 1 22 FT-38065 |Adaptor, Male, 3/16 x 1/4 NPT 1
PE-35550 |Cover, Sensor Red 1 23 GS-2019 | Gasket, 1/2", Panel, Self Adhesive, 2.75' LG 1
PE-35551 | Cover, Sensor White 1 24 | HO0-29435 |Hose, 1-5/8" ID, 36" LG 1
PE-35552 | Cover, Sensor Brown 1 25 LK-34292 |Lock, Rahrback GMBH 1
PE-35553 |Cover, Sensor Custom 1 26 NU-2296  |Nut, Hex #8-32 3
3 1013223  |Snorkel, Back 1 27 | NU-23909 |Nut, Hex Insert M5 2
4 1013224 | Snorkel, Front 1 28 NU-38064 |Locknut, 1/4 NPT, Nylon, Black 1
5 1013372 |Bracket, Capacitor 1 29 RI-27108 |Rivet, Sealed 51
6 1017565 |Enclosure, Top, Stainless Steel 1 30 SC-22268 |Screw, M3 x 0.5 x 8mm Pan 1
PE-38009 |Enclosure, Top, Black 1 31 SC-22766 |Screw, M5 x 0.8 x 10mm Pan 5
PE-38010 |Enclosure, Top, Burgundy 1 32 SC-22779 |M5-0.8 x 20mm, Philips Pan Head, M/S 7
PE-38011 [Enclosure, Top, Red 1 33 SC-23664 |Screw M4 x 10mm Hex Head Trim 4
PE-38012 |Enclosure, Top, White 1 34 SC-29871 |Screw, #8 x 1/2" Hex Flange 36
PE-38013 |Enclosure, Top, Brown 1 35 SC-34729 |Screw, M4 x 0.7 x 8mm Pan 2
PE-38014 |Enclosure, Top, Custom 1 36 | SW-35056 |Switch, 5A 125-250V AC, 1/10 HP 2
7 1017566 |Guard, Exhaust 1 37 | WS-22293 |Washer, Flat 1
8 5014331 |Calibrated Pressure Switch 1 38 | WS-22294 |Washer, Flat M4 18-8 S/S 6
9 5014726 | Weld Assembly, Vent Tube 1 39 | WS-22295 |Washer, Flat M5 S/S 11
10 5014923 |Inner Tube 1 40 | WS-22299 |Washer, Split Lock 1
11 5014968 |Enclosure, Assembly Base, Stainless Steel 1 4 WS-22300 |Washer, Split Lock 6
5015564 |Enclosure, Assembly Base, Black 1 42 | WS-22301 |Washer, M5 Split Lock S/S 18-8 11
5015565 |Enclosure, Assembly Base, Burgundy 1 43 | WS-23424 |Washer, Flat, #8, 18-8 SST 3
5015566 |Enclosure, Assembly Base, Custom 1 44 | WS-27045 |Washer, #8, Lock Washer 3
5015832 |Enclosure, Assembly Base, Red 1 45 PL-28413 |Pull, Key Ring, 3/4" Manual 2
5015833 |Enclosure, Assembly Base, White 1 46* 1011021 |Cable, VHES 1
5015834 | Enclosure, Assembly Base, Brown 1 47* 1013225 | Spacer, Tunnel 1
12 5014969 |Enclosure, Spotweld, Stainless Steel 1 48* 1013412 |Tabs, Closure 1
PE-35626 |Enclosure, Spotweld, Black 1 49* 1013511 | Snorkel, Back, Lower 1
PE-35627 |Enclosure, Spotweld, Burgundy 1 50" | 5015245 |Tunnel Spotweld 1
PE-35628 |Enclosure, Spotweld, Red 1 51* 5015613 |Clip, Filter, Assembly 1
PE-35629 |Enclosure, Spotweld, White 1 52* BU-3008 |3/4" White Snap Bushing 1
PE-35630 |Enclosure, Spotweld, Brown 1 53* BU-3009 |Bushing, Snap, 5/16" 1
PE-35631 |Enclosure, Spotweld, Custom 1 54* | (CL-28849 |Clip, Crimp for 1/16" Wire Cable 2
13 5014975 |Cover, Access, Spotweld Stainless Steel 1 55* | CM-3585 |Self Adhesive Wire Clamp 1
PE-35632 |Cover, Access, Spotweld Black 1 56* | FU-34771 |Fuse Holder, 2 Bank 1
PE-35633 |Cover, Access, Spotweld Burgundy 1 57* | FU-34784 |Fuse, 5 AMP 2
PE-35634 |Cover, Access, Spotweld Red 1 58* | LT-25513 |Latch, Pawl/Cain 2
PE-35635 |Cover, Access, Spotweld White 1 59* SL-3836  |Sleeve, Grommet Edging 1
PE-35636 |Cover, Access, Spotweld Brown 1 60* | TM-34305 |[Terminal, Screwless End 2
PE-35637 |Cover, Access, Spotweld Custom 1 61* | TM-34307 |Terminal, 6mm, Orange, Spring 1
14 5015121 | Assembly, Motor, Panel 1 62* | TM-34308 |Terminal, 6mm, Blue, Spring 1
15 5015598 |Lock, Soldered, Rahrback 1 63* | TM-34309 |Terminal, End Section, Spring 1
16 BU-28391 |Bushing, Socket, Membrane 1 64* | TM-34801 |[Terminal, 5mm Pluggable, 9 Pole 1
17 CL-22234 |Clamp, Worm Gear, 40-60, Hose 1 65* | TM-34931 |Terminal, 3.5mm Pluggable, 7 Pole 1
18 | CU-38016 |Capacitor, Fan, 2uF, 450V AC 1 66* | TU-24183 |Tubings, 3/16 ID, 14" LG 1
*NOT SHOWN

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ E-42




WIRING DIAGRAMS

Always refer to the wire diagram(s) included with the unit for most current version.

208-240V, 60Hz, 1Ph
208-240V, 60Hz, 3Ph
TTAZ21 F-12

380-415V, 50Hz, 3Ph

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS * F-1



&N
>
<
™
T
S
a
©
z
=
=

0174071
133Hs

1/%1/11 3iva
H mv m R N OMd OAW ‘Ad

WWYADVIA DONINIM

Hdl A0Y2-AB02 01-PX1D
WYYHS-0L1Y

ddVv 3lvd NOILI¥OS3a 0203 | A
OAW|E102/£1/50 vs.um v smpmssoodes | s | 8
OAW[EL0Z/1E/01]  miveumsmevaosodos | @0 | &
OAW |5 102/ 18/20] 1991 112 mou uo; 230 9o somol mon ol

37dWIS TI9GI0S  L33HS 1ND 3ONI¥343d
$S33dX3 0196105  133HS LND 3ON3N343d

¥y
e

nO O

6ELPI0S  L33HS LNJ 3ONI&343d

(20 Bd) TH HOLOW

(¢a:¢ Bd) zox

(g 19 Bd) £/4X HEY <—q

N3dO

i

I

anis aNNO¥O:

dl

(8E6YE-NA (TLLVE-WL> 40 T3SI¥AWOI SI 3D 3sSnd

(PBLYE-ND ‘(QLLYE-WL) 40 G3ISTAAWOD SI XS 3SN4

QANNOY¥D SISSYHO O1 T3ILI3NNOD 1141 B 641
(GL9EE-WL >d3JWNC /M T3LI3INNOJ 3¥¢¥ J NId vEL B €41

(OIEPE-WLY d3dWNr /M TILIINNOD 3dv 914l 3 ‘SIdL

COIEYE-WL> ¥3IdWNr /M T3LI3NNOD 3y vIdl 3 ‘€14l ‘2rdl
(GLOEE-WL> d3dWNr /M T3LI3NNOD 3d9Y O NId 2€1 % 141

(8IEE-NAD (TIIEPE-WL) 40 T3SINWOD 339V ¥4 3 ‘€4
TI6¥10S # SLIN 30IAY3S A0LOW

(0895€-N4A) “(JLLyE-WL> 40 T3SIAdWOD ST 24

BIEE-ND ‘IEYE-WL) 40 T3ISIAAWOD SI T4

310

A

B

09262-13

aoav

a0

TOT
¢ gl

M3IA d93d IN3W3T3

w3

TEsE-ND

Lv A

oS

NOILOIANOD R

Gl e = o ) g o o = oY

2

COMBITHERM CT EXPRESS « F

36008 (Rev. 9) 03/16 »

MN



&N
>
<
>
T
<
a
O
z
=
=

o1 4072
133HS

1/v1/11 alva
| 16€LL oud

Hdl A0¥2-802 301-X13

WYIDVIA DNRIIM ===w|=.—..—=

ddv

alva

NOILdI¥OS3d 0D3| AJ¥

1508813

o a—t @\ /\ O~

ao¥vo

|_H_, (v:2 6d) 1/2x Hay
A
%.wo 3sn4

912ge-13

1-g1 EA‘%

[ats]

JILHIANOD OILATVLYO

(yv:L Bd) v/ex Hay

dINONS

(BEGYE-NAD ‘(ILLYE-WL> 40 T3SI¥AWOI SI 3D 3Snd

YBLYE-ND ‘(QLLYE-WL) 40 3STHAWOD ST MS 3SN4

ONNO¥O SISSYH] O1 @31J03NNOJ 1141l B8 64l

(SL9EE-WL >¥IMWNC /M T3LO3NNOD 3d¥ 3 NId vEL 3 €41

COIEPE-WL) d3dWNC /M G3LI3INNOD 3av 914l 3 ‘Sidl

COTEPE-WL) ¥IJWNC /M TILI3INNOD 33V vIgl 3 ‘€14l 2rdl
(GLOEE-WL) ¥3dWNC /M OILIINNOJ 3d¢ 3 NId 241 % 16l

(P8IEE-NA ‘(TIEVE-WL) 40 T3SIAAWOI 3dv ¥4 3 ‘€4
1167105 # SLIX 3JIAA3S J0LOW

€0895€-N4A) “(JLLYE-WL) 40 T3SINAWOD SI 24

(PBIEE-ND ‘ATEYE-WL) 40 T3ISI¥AWOD SI T4

310

ol o g o

3

9) 03/16 « COMBITHERM CT EXPRESS * F-

36008 (Rev.

MN



&N
>
<
™
T
S
a
©
z
=
=

017 407€¢
133Hs

11/v1/11 31va

ﬁ mv m R R OMd OAW ‘A8

Hdl A0¥e-802 301-¥X1J
INYYHS-011Y

WYIOVIA ONRIIM

ddVv

ilva

NOILI3Os3a O03| AJd

194 Ol 33333

(37 £ Bd) L/9X Hay

(BEGYE-NA (ILLYPE-WLY 40 T3SI¥AWOI SI 3D 3Snd

(PBLYE-NA (ILLYE-WL) 40 T3SINWOD SI S 3snd

UNNOYT SISSYHD 0L T3L03NNOD 11EL 38 68l

(SL9EE-WL >d3dWNr /M T3ILO3INNOD 3% O NId vHL % €41

CQIEPE-WL> d3dWNC /M T3LI3NNOD 3dv 9141 3 ‘Sidl

OIEVE-WL> J3JWNT /M QILI3NNOD 39v vIEL B ‘€141 ‘218l
(GL9EE-WL) ¥3dWNC /M T3LI3INNOD 3¢ 3 NId 261 B 141

(PBIEE-ND “UIEYE-WL) 40 UISIYANOD 339 ¥4 3 ‘€4

TI6¥10S # SL1IX 30IAY3S A0LOW

(089SE-NA (ILL¥E-WL)> 40 T3SIdWOD SI 24

B B > B b B>

2o PBIEE-ND ‘TIEVE-AL 40 CISTMDI ST T4 /\
N3do o N3dO :

SENE 310N
\
I
I

= u/, +
I
I
|

—o o
T 2
(3v i 6d) ¢/ex Hey

Of 1O oy 1 Bd) y—¢L 4l

vz

F0C7¢-NO

(#0:1 Bd) 1N (4L 9 Bd) v/2x T U | 73]
(42 9 Bd) ¢/2x 184=— ) (av :g 6d) z—v1 BL
ﬁ j (18 :6 BA)AOOH SSIUNIA
7
oL gL
Sy A
8 VA .

4

9) 03/16 « COMBITHERM CT EXPRESS * F-

36008 (Rev.

MN



&N
>
<
>
T
<
a
O
z
=
=

-3Llva

01407y 1/¥1/10
133HS 7 Hmmﬁh OMd OAW ‘A8

Hdl A0¥e-802 301-¥X1J

WYIOVIA ONRIIM

INYYHS-0LTY

ddv 3lva NOILdI¥OST

a O3 | A3Y

1 9401 3333y

(v0:1 Bd) 1—/N

(42 9 Bd) ¢/2x

(42 9 6d) v/zx T8

gde—

(v g 6d) z-¥L a1

TH AOLOK

\

W.vW|V (18 :6 5d)IOOH SSINUNIA
3
g oL gLl

¥3'9 bd) /¢ Hay

(BE6YE-ND “(ILLYE-WL) 40 U3SI¥AWOI SI 33 3Snd

(YBLYE-ND ‘(ILLYE-WL) 40 3SIHAWOD ST S 3SN4

aNNO¥D SISSYHD OL G3LI3NNOD 114l 3 edl
(SL9EE-WL >¥IdWNC /M T3LIINNDOD 33¥ O NId L % €41

COIEVE-WL> ¥IdWNC /M TILI3INNOD 33 9141 % ‘Sidl

(OIEYE-WL) d3dWNr /M T3LI3INNOD 3V 14l 3 ‘€14l 21dl
(SL9EE-WL) d3dWNr /M T3LI3INNOD 3dv O NId 241 B 1681
PBIEE-ND ‘AIEYE-WL) 40 T3SINAWOD 3d¥ ¥4 3 ‘€4
116¥10S # SLIM 30IAY3IS JOLOW

(089SE-NA (TLL¥E-WLY 40 T3SINAWOD SI 24

(PBIEE-ND ‘AIEYE-WL) 40 T3SINdWOD SI 14

310

NOILdO (d33dS INO

el et S e e s

5

9) 03/16 « COMBITHERM CT EXPRESS ¢ F

36008 (Rev.

MN



&N
>
<
™
T
S
a
©
z
=
=

o1 4o07s ; 1/v1/11 Ava
133HS HOMH‘R OMd|  OARW Ad
Hdl A0¥2-802 301-¥X1J
WYADVIA DNRIM E===w =.—..—=
ddv 3lvad NOILdI¥O$3a 003 AJd
1 ©d Ol 333433

cazis 69> 1ga ao

(BE6YE-ND “ULLYE-WL) 40 U3ISINAWOD SI 23 3snd

W8LYE-NA ‘TLLYE-WL) 40 U3SINdWOD SI NS 3SN4

QONNOHO SISSYHO OL T3LI3NNOD 118l B 681

(SL9EE-WL >¥3dWNT /M T3LI3NNOD 33¥ O NId ¥d1 B €41

COTEVE-WL> ¥3dWNr /M Q3LI3NNOD 3dv 9141 B 'Sldl

(OIEYE-WL) d3dWNC /M T3LI3INNOD 3av p1EL B ‘€141 ‘21l
(GL9EE-WL> d3dWNC /M T3LI3NNOD 339 I NId 2€L 3 141

(PBIEE-ND (TTEFE-WL) 40 Q3SINAWOD 33 +4 3 ‘€4
1167105 # SLIM 30IAY3S J0LOW

(089SE-ND "ULLYE-WL)> 40 T3SINAWOD ST 24

(PBIEE-ND ‘(TIEPE-WL) 40 O3ISIAAWOD ST 14

310

Gl e St e S g o o = N

<ozs Sd>  1rs8x 4 (50 ¥ 69 % 93 :¢ Bd) ¥ A 70T (16 54) GOOH SSTUNIA

A = !

9 L 8L
rrig9b—va
A ;
<ozs B> ersex Tda< ~ NIan ol
caz e Sd> esa ao L MSd 2L 81
<3s 2z BSd> &/ X HEH

s s + = 1

6

9) 03/16 « COMBITHERM CT EXPRESS * F-

36008 (Rev.

MN



WIRING DIAGRAMS

0174079 1/¥1/11 Eva
133HS 7 16€LL RN ‘A9

Hdl A0¥2-802 301-¥X1J

WYADVIA DONRIIM

INYYHS-OLTY

80 21990 voTaR 60X

(£0:g 6d) y—11 a1

ddv | 3lva NOILdI¥DS3a 003[ A3y N R
{ odoi oo 5 H
B :
$ 9/8¥£-vd £
N ices!
S ILTHA
7
<80 6> M MOLOW a0 <dzie Sd> o e
<82y Bd> TH HO0L0W =20 <dz:e B9 & E] 3E0¥d 190N
a33dS 379NIS a33dS OML ® -2
m H ﬁ m 0s962-3d
al 5e
= 8| od
HIE AOTTIX [ aszee-de
3 ©l e 3 Tl SSVAE WYALS
o g o i)
s L Y —unnmu dN3L NIAD
g
2 o¢
s 8| <g
= 5| vg
~ £ €9
l% o 2§
2 S 19 —
@ K ‘4
- Jeuoiydg Q04 4UI0d-1HINK
i <vasre-nL>
1 5[ 2 7
ks § < g
r [ % v g
o g o ec-ud
32 5t m M 3034 100003 7
H B 14
€ = oJ 7
[ batou i i@ 30| ]
:6 bd B [ oo aeso| 0 g
(538 83) 9891 38 ; el el g o = o0 en tmsa
8B5G10S 3 [ sl omm|@ g as s 84 —A Tmsa
3 tgyopwoipawey | Sarewe|  @we| 0]
8 '319e3 uogqL [_en/No__[NWOG/330] | 0
° o Loxg TTITIToT
i R e e g LR
0/9vE-vd  19d B HAd
CErIRSYERE
s8E832-9YN
HOL0ON LNIA
i
HOILIMS LN3IA
TO4INOD WNOIS LNdNI
=l Z =l S =

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-7



WIRING DIAGRAMS

& =
< ]
s| |84
<|z|5 0
i —
Olg|F| —
. ale| O
M
Ol
zZ|Z| ™
z|Z || ™
IHIE
50|35,
HINHE
o g
510 [a)
2|0
o =
< o ° = oS
£ >
8 = 2T
23 ="z
ie «»| |
ERS of
o o @
g D &
= b 8 - || <
TT-35648 i S ini N
N =3
\ WITe 23
THERMAL SWITCH g
g
q
- 3
vaSires
CLEANING VALVE
€
“ u
q <
13
vat8a72a
COLD VALVE
0
CLEANING PUMP
MO-34636
! 0 %
3 I_ A J k]
2 < < 5
H
= 2
g 5
T 2
%
4 |
0 2 /\ e /\
]
B =/ s =/
8
e
b
8 g w m
g - s w2 el cou reaR vew
E
[
1 si= .
— fr—|
= T8 [106 |2 3
g = i oo 2
g 108 B ‘ 6AS ALARM 1 ‘ ‘ . ‘ | OR MOTOR BLUE <pg 4B#> s
n bl 10 aj = KS2 21 <pg IES> 0
o b 8 .
] 12 s g Q
5 P | 114 i [ = sa2-A1  <po D> o
< el Ty | e 7 304 [ = FUSE 12 (PG 2:83) 2
il 0 L
R - N | E— ‘
q -
Greast rurp N 2
0
v @
D06 o1 VI &
ascroe | g @ va-Fa723 —
L . STEAR VALVE o
b 8 M [
i 2 < M ha
- b wson [ wom 5 %
3 Y2 COOLING VALVE © & =
= Y1BOILER LESS ~ @
2
A
o 4
Q Sl o
o o . H @
‘ B ‘ ) e
o — a M LP—34206N+~
(@) w0 v
Di / Y3 VALVE POWER ENABLE / \ 0 2
— | N — [ o= —
= \> . @ ) g 3 oz 2] d=|2
o = RBH BA-34875 — n ¥ 1 S N B D e
s — S =
0
o I
N =
o
E
P T T

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-8



WIRING DIAGRAMS

o (@ [@ o

|

DISPLAY CONTROL

N1

:

26PIN RIBBON CABLE J/
i3 Rbbon Gale REL

N

—
\l
—

©

g o ()

BB go

©
Simple Basic
I
[
-
L L
BA-29718

essess]
DISP1
DISP

2

3

©E

3
§
2
&
378V NOg8Id NId9Z 8

(o) [ Bz | (o) ©

BA-29719
Simple Plus Display Control

©

a o
Ed m
bR
o SIE]” &
w
3lolz
S§‘—|
ajg|
g
Oum
AN
HEE N
E3|" e
5
5 1O o
g -
E%i
=N
o @
ole | |u
ey
>dmg
o =
g

I
A o
C
n
o o0
[
It
> >
w0
L 0

| ! ‘ ° |

=

W

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-9




MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » F-10

0174076 1/v1/11 Eva
133HS ._HOMHNN e OAW ‘Ad
Rl A0v2-802 301-PX10
WYADVIA DNINIM EE“ ehd=
ddv lva NOILdI¥OS3a 023 | A3
Togorees
R :g bd
(109 69) 7/9x T8 e >~ = (10i9 69) L/9x T84
COCYTE—MT
Z—-61 8l €61 a1
(svic Bd) 6/1X Ha i3 @ (vas 69) L-L 8L
£-61 €1
N |
—— B z
O|l® m.U/C\ 7
= 5= 2L |
20 | ma e °
- _ =
] > 9 2
3 Mg 2 N NWE N
Ol® 7 4 @ " _ 2 k] _ £21610G LI3HS 1NO JONIMIA
= = ™ = g
& JE T
(&}
[ e ha
= L mh
i ||
R ON/MS 3dNSS3dd @@ozxwgm 4374
G MS_3dNsS3ud TMS ¥3LTA LMS ¥3LT14
A MS NIV G4
NOO NOO .
e (svie 89) £/1x Hay /%O /mij oo/j o TosT (e0's 69) y-91 &L
D WO0J ON ON ON c Ty T 4
LEEYLOS—MS 950SE-MS 9G0SE-MS 10LEE-MS v8/vE—N4
—y
s z s <= + e 4 = 1
P




01740701 /vi/1 alva
133HS ﬁ O m L h OMJ  OANW Ad

Hdl A0¥2-802 301-¥X1J EE——ﬂlQ.—..—‘

WYADVIA DONRIIM

ddv alva NOILdI¥O$3a OO03| AJd

WIRING DIAGRAMS

il

CAPACITOR

| MSd .
09 @
9 ¥ C
= Q@M\W%DD% ﬂoU W GM @ﬁ}mﬁ, [Cal
00 Blolooo
OO O D O O 2oyl v T mw@_@gfg@_
1 19ee|oe
1 Bd =
@ Dloomoom| O @ ® Of5e =
GPPh s e 1
© F(g % ©ay 1™

NOLLdO Ve ONINATNE Sl vEL Tl e

MN-36008 (Rev. 9) 03/16 ¢« COMBITHERM CT EXPRESS ¢ F-11

ON4941




WIRING DIAGRAMS

21 4071
133HS

T/v1/11 Alva
(127 LL ud o

HdE A0ye-802 301-7X1J

WWYADVIA DONINIM

WYYHS-0L1Y

ddv [ 3lva NOILJI¥Os3a 03[ AR
OAW|€102/08/0L iy v w |zl
EN IRV P | el
OAW|S102/1€/20 - W | vl

€09S10S €4 NOILdO L33HS LNJ 3ONIH343d
T1€8SI0S 20 NOIL4O L133HS L1NJ 3ON3IN3I43Y
209G10G WS NOILJO L33HS LND 30N3H343Y
37dWIS 1095106 133HS LNJ 3ON3H343¥
SS3¥X3I 009S10S  L3IIHS LNJ 3INIH343Y
€21810G o0 €ESKPI0S  L33HS LND 3ONIHF43Y

o
s

LHNE)
<

liS)
1
o 6¥9%2-11 o

7 \/IN <— —> (8¢ 6d) zz/19y

c- -

(v0:9 6d) # (ca'g Bbd) £—¢1 A

(care 6d) 1z/19% <— —= v/

NOILdO 3vd ONINMONE

_‘ NOILdO dve uz—z)nﬂ

e

N3dO

1

1

anis aNNo¥o:

(209 64 % £0'G 6d) TH HOLON

o

(S]iE}]

gl

(BEGVE-ND ‘(LLYE-WL) 30 P3

dwod 33 3sn4

WBLYE-NAD ‘(TLLYE-WL) 40 Pasiduwod XS 3sni

ANND¥D SISSYHD 0L T3LO3NNOD 1141 8 661
(GLOEE-WL> A3JWNr /M T3LO3NNOD 3% 3 NId 941 8 GdL

(SL9EE-WL) ¥34WNC /M 3LI3NNOD 3aY O NId vdl B €41

OIYEE-WL> d3dWNC /M TILIINNOD a9 9141 3 ‘SidlL

COTYEE-WL) d3AWNC /M G3LJ3NNOD 3av vidl 3 ‘€141 ‘erdl
(SL9EE-WL> ¥3dWNC /M T3LI3NNOD 3dV J NId 241 B 14l

YBIEE-ND ‘ATEYE-WL) 40 T3SI¥AWOD ¥4 % ‘€4
116710S # SL1IX 30IAA3S J0LOW

€0895E-NA> (ILLYE-WL) 40 U3STAHWOD 24

25vEE-NDH “UIEYE-NA 40 GISIHJWOD T4

310

@%

(ElE]
€

svoee (45 '@ 6d) //bX HEd<— |
@\_,o
= 70T
[yl ne =
Ay
@) 707
aoNvd LHM m m_\_r
® 7971
oy v a3 | gl
w3 tEesE-ND

L¥ M

NS FHLIS—INON

= e e

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » F-12



mﬁum\mi 124/ / 11/v¥1/11 dlva
133HS OMd| OAW ‘A9 (BEGYE-NA (TLLPE-WL) 40 pasiuduwod 37 3SN4

HdE A0Y2-802 301-¥X1D
WVIDVIA DNIIIM WYYHS-0LTY PBLYE-ND (ILLPE-WL) 30 PasSduod 3S 3SN4
ddv| 3lva NOIdI¥Os3a O23| A3 ONNO¥D SISSYHO OL T3LOINNOD TIEL 8 6EL
| 9401 910

(GL9EE-WL> ¥IJWNC /M T3LO3NNDD 33¥ O NId 941 38 Gl

(SL9EE-WL) ¥3dWNC /M T3LI3INNOJ 3av O NId vEL B €41

€EGYTI0S  133HS LND 3ONIJIA3Y _‘ |4

(care Bd) 1g/19% =— —= 2v/Tv 7

_ 1/IN <— —>(vax¢ 6d) zz/19v (QIYEE-HL> ¥3WNr /M T3LOINNOO 3ov 9181 B ‘SIaL

NOILdO d9d ONINADONE

L N OIYEE-WL> ¥3dWNM /M 3ILOINNDD 3av pIEL % ‘€141 ‘2TEL
—_— (GL9EE-WL> ¥IMWNM /M (3ILOINNDD 3av 3 NId 2d1 % 161
NOILJD dve ONINADNE

(y0:¢ 6d) 2v/IMe —— |—— FBIEE-ND ‘AIEVE-WL) 40 (ISIAADD ¥4 3 ‘€4

LA E—_1

(vv:9 6d) B (vv:g 69) ¢v/164 or=>0

pste-L1 TI6¥106 # SLDY 3OIAN3IS ¥OLON
/N O89SE-NA TLLYE-WL) 40 TISIAWOD 24

2SYEE-NDH AIEYE-NA 40 TISTIAWOD T4

ﬁlll
|
|
|

z PR

310

N3dO

(4¢ @ 6d) 9/¥x Had

f

&N
>
<
>
T
<
a
O
z
=
=

anis annoxo

NOILJO WH3HL3Y

svoee-3 (45 '8 69) £/vX HEM<— |

ao¥vd ng

™~
nee O S gl
5 v b\ﬁu
HAE ®E> \@|\</\|@ 707
Y aoava LHM ¢ g1

e
T £
o 6%2-1 o © </\|@um VAl

oo
T+ 3

T+ 3 tELE-ND , ﬁl_ Ng MJ
ke AREISIEN|

13

COMBITHERM CT EXPRESS ¢ F

36008 (Rev. 9) 03/16 ¢

MN




&N
>
<
™
T
S
a
©
z
=
=

21 4d07¢e
133HS

Alva

12V /L oud onn

‘Ad

HdE A0ye-802 301-7X1J

WWYADVIA DNRIIM

IYYHS-0L1Y

ddv lvad

NOILI¥OS3a

003 | AJY

(g 8 Bd) 1/vx HeY

(y3:z_6d) % (yo:L 6d) xog uondp Jog buiumoig

£505€-13

a

(BEGYE-NA (ILLVE-WLY 40 pasiudwod 33 3SN4

(YBLYE-NA (TLLYE-WL) 40 P3siuduod Hs 3SN4

ANNO¥D SISSYHD O1 T3LO3NNOD 1161 8 681
(GLIEE-WL> d3dWNr /M T3ILO3NNDD 33¥ O NId 941 8 GdL

(GL9EE-WL> d3dWNr /M T3LI3NNOJ 3av O NId vEL B €41l

COIPEE-WL> J3dWNC /M TILOINNOD v 9141 B ‘SIdL

COTYEE-WL) J3JWNC /M T3LJ3INNOD 3V vigL B ‘€141 ‘21l
(SL9EE-WL> d3dWNr /M T3LI3INNOD 38V I3 NId 241 B 141

PBIEE-ND ‘IEYE-WL) 40 Q3SI¥AWOD ¥4 % ‘€4
TI6¥T0S # S1IXM 30IAN3S A0L0OW

€089SE-NA (TLLYE-WL) 40 T3SIAAWOD 24

2SPEE-NDH “AIEYE-NA 40 TISTHAWOD T4

310

(6417 Bd) % (oL Bd) 1//N

(v4:z 6d) % (y0:1 6d) xog uondg Jog bujumoig

&0

el e e

I
I
m | aL
2 |
g g RS et
17 LHM
| ¢ oqal
510, SN P
._” Aw u LisR ] asa ﬁ mx_r
/193 veeETNe dve ONINMOHE
LM

14

COMBITHERM CT EXPRESS  F

36008 (Rev. 9) 03/16 ¢

MN



&N
>
<
>
T
<
a
O
z
=
=

21 407y
133Hs

(12724 g

/v1/11

a1va

OAW

A8

HdE A0¥e-802 3071-¥X1J

WWYADVIA ONIIM

IYYHS-0L1Y

ddv

alva

NOILdI¥Ds3a

023

AJd

I=¢l 8l<——

1808€-13

v

‘_H__ (vv:g 6d) 1/2x Hay
A

00 3snd

BEBYE-ND (TLLYE-WL) 30 PaSMdU0d 37 334
PBLYE-ND “(LLYE-WL) 40 Pasiiduod XS 3sNi

ONNOYD SISSYHD OL G3LO3NNOD TIEL B 6L

(SL9EE-WL> ¥3WNM /A C3LOINNDD 33V O NId 961 % Sdl

(GL9EE-WL> ¥3dWNCr /M T3ILI3INNOD 39 O NId vdl 3 €41

(OTYEE-WL> J3dWNC /M T3ILI3NNOD 3av 9141 3 ‘S1dl
COIPEE-WL) ¥3dWNC /M T3LIINNOD Iy vIdl 3 ‘€14l ‘2rdl
(GLOEE-WL> d3JWNr /M T3ILIINNOD 3d¥ 3 NId 281 % 14l
GBIEE-ND ‘AIEVE-WL) 40 U3SIAdWOD +4 3 ‘€4

116105 # SLIM 3JIAY¥3S H0L0W

€089SE-NAD ‘ULLYE-WL) 40 U3SIHAWOD 24
2SYEE-ND AIEYE-NDH 40 TISINAWOD 14

B b b B

‘410N

NOILdO d3LdIANOD OILATVLYO

orege-T3

o\ /\ o

vy

_H_, (v3:8 6d) v/oX Hay
£

MSIENE

NOILdO dIHNONS

15

COMBITHERM CT EXPRESS ¢ F

36008 (Rev. 9) 03/16 ¢

MN



&N
>
<
™
T
S
a
©
z
=
=

217 40°s
133HS

12V /L o

1/¥1/11 3iva

OAW

‘A8

HdE AOye-802 301-7X1J

WWYADVIA ONINIM

WYYHS-0L1Y

ddv

3lvd

NOILI¥OS3a

003 | AJY

1940} Bjoy

€ESPI0S  L133HS LND 3FONINFIFY

@Gv L Bd) 1/ex HBd<——o0 O
1=

N3dOo

(yoiL B69d) L-/N

(42 '6 Bd) v/zx T8Y

(42 6 bd) ¢/zx gy

\a._‘n
=1-

@3r i 69) ¢/ex Had

N3dO

F0e¥E-NO

(v0:2 6d) z—v1 a1

B

T A0LON

054

[

j (18 i6 B6d)A0OH SSTUNIA
T
9L gLl

(BEGYE-ND ‘(LLPE-WLY 30 Pasidwod 33 3sSn4

WBLYE-NAD ‘(LLYE-WL) 40 Pasiduwod XS 3sni

aNND¥D SISSYHD 0L T3LO3NNOD 1181 8 661

(GLOEE-WL> A3JWNr /M T3LO3NNOD 3% 3 NId 941 8 GdlL

(SL9EE-WL) ¥3dWNr /M 3LI3NNOD 3a¥ O NId vdl B €41

QIYEE-WL> d3dWNC /M TILIINNOD a9y 9141 3 ‘SidlL

COTYEE-WL) ¥3AWNC /M G3LJ3NNDOD 3av vidl 3 ‘€141 ‘erdl
(SL9EE-WL> ¥3dWNC /M T3LI3NNOD 3dV J NId 241 B 14l
YBIEE-ND ‘TEYE-WL) 40 T3SI¥AWOD ¥4 % ‘€4

116710S # SL1IX 30IAA3S J0LOW

€0895E-NA> (ILLYE-WL) 40 U3STAHWOD 24

2SvEE-NDH ‘UIEYE-NA 40 GISIHJWOD T4

e = e e

310

o i1 Bd) y—¢1 @1

NOILdO (d33dS OML

16

COMBITHERM CT EXPRESS  F

36008 (Rev. 9) 03/16 ¢

MN



&N
>
<
>
T
<
a
O
z
=
=

2174079 11/¢1/11 4lvd
133HS 7 Iev/l OMd AW ‘A9
HdE A0¥2-802 301-pX1J
WVYIOVIA DNINIM INYVHS-0LTY
ddv | 3lva NOILdI¥Os3a 003 | ARy
1 9d 0} s8)ey
€€SPT0S  L13IHS LNO 3ONINIATN

(42 6 Bd) v/2x T8y

(v0r1 Bd) LN

(42 6 bd) ¢/zx T8y

=
Lk

TH ¥DLON

F

051

Nw oL g
A\

(y0:£ Bd) z—y| AL

(18 6 6d)A0OH SSTIUNIA

L

(BEGYE-ND (ILLPE-WLY 30 Pasiduos 37 3SN4

W8LYE-ND ‘ULLYE-WL) 3O PISIMAWOD S 3SN4

ONNOHD SISSYHI 0L A3LI3INNOD 1161 8 681
(GLIEE-WL> dIWNr /M T3LIINNOD 3d¥ J NId 941 % GEL

(GL9EE-WL) d3dWNr /M O3L1I3NNOJ 3d¥ O NId vEL B €41

(OIPEE-WL) ¥3dWNr /M T3LO3NNOD 3dv o1l 3 ‘SIdL
COTPEE-WL) d3JWNC /M T3LI3NNOD Iy b6l B ‘€1l ‘2T6l
(GL9EE-WL> ¥3dWNr /M T3LI3NNOD 339 3 NId 241 B 141
YBIEE-ND ‘AIEYE-WL) 40 T3SIAAWOD ¥4 3 ‘€4

T16¥10S # S1IX 30IAA3S J0L0OW

€089SE-NA> (TLLYE-WL) 40 U3ISTAAWOD 24

2SYEE-NDH “(IEYE-NA 40 I3ISI¥AWOD 14

310

e

NOILdO (d33dS 3INO

17

COMBITHERM CT EXPRESS ¢ F

36008 (Rev. 9) 03/16 ¢

MN



&N
>
<
™
T
S
a
©
z
=
=

alva

2174072 1/vi/1
133Hs Iev// OMd OAKW

‘A8

HdE A0ye-802 301-¥X1J

WYADVIA DNRIIM

WYYHS-0L1Y

ddv

dlva NOILJI¥OS3IA

003 | AJ¥

L ©d OL d3433

<geor Sd> 1ga ao

<oze Sd>  1s8x "

(ro9 Bd % gOig 6d) 71 ATy

(BEBYE-NA (TLLYE-WL) 30 pasidwod 33 3snd

WBLYE-NA (TLLYE-WL> 30 pasiidwod XS 3sn4
INNOY¥D SISSYHD 0L T3L03NNOJ 114l 8 68l
(SLOEE-WL) d3dWNT /M O3LI3NNDOD 33v O NId 941 B SHL

(GL9EE-WL> d3dWNr /M T3LI3NNOD 3d¥ J NId ¥4l B8 €41

QIYEE-WL> d3dWNC /M T31I3NNDD 33y 9161 3 ‘Sidl

OIVEE-WL> 3dWNT /M TILDINNDD 3w vIEL B ‘€181 ‘2l
(GL9EE-WL> dIdWNr /M (3LI3NNOJD 33v 3 NId 261 3 191
PBIEE-ND ‘AIEVE-WL) 40 CISIAdWDO ¥4 B €4

TI6¥106 # SLDI 3IIA¥3S HOLON

(089SE-N “ULLYE-WL) 40 A3SINWOD 24

25vee-ND "(EYE-ND 40 TISI¥HWOD 14

e T e = =g

310

+ 64) QOOH SSTUNA

T —vda
<oze Sd> ero8x g AT\/ ~1 NZ<O
<ae o1 S  s=a as L MsSd - "
<3 8 BSd> &/ X HEY
dAMOd 43 T1041INOD
=] ) + (>3 2 T

18

COMBITHERM CT EXPRESS  F

36008 (Rev. 9) 03/16 ¢

MN



WIRING DIAGRAMS

a o
& 4
< E E L._I
<|z|5 2
wes o
31012
|5
0 olsl U
&<t
Ol
zZ|g| >
z|E|x| ™
_13|5|2
512135 ..
HHENE
2z
®
|
“|a =
= [c|Y
] >
. =22
< « ﬁ =
3 ol
i3 88|, |u
w8 >
o - a|<
LS AEEREl-1EE
g o
1] g
N = b 4
2 q
TT-35648 g
:3
=
THERMAL SWITCH A
Gk
g
g
8
a
Y3
VA-33723
CLEANING VALVE
- [
K <
0 va'Sares
COLD VALVE
- 0—/\/—om—<
< <
CLEANING PUMP
WO-34636
Lot
- o
3
% L - (1 J 38
B (. 5
o 2
S
Se 5
H ]
0 PE
g
) /\ e
g —
8
S
= b<
@ = w2
g FTiel AS ALARN 2 O O cwresmven
h Fr—Je| | 102
g | 104
2 k|| 106 3 m
] ; 3
k4 f—jg| | 108 § ‘ GAS ALARM 1 I%I SHOKER ‘ x| OR MOTOR BLUE <pg &/BI>
o sl | 1o o 30| (=] KS2/21 <pg IEE>
3 Mg | 112 & 302| [
¥ 2 i b
114 & s0d 4] sesal <pg @De>
i ] S . ' 306 FUSE 12 (PG 4:83)
e | g L 3%
RS | [— ‘
X 3
= on > T
2009 ’ |B Q GREASE PUMP. ‘ > 200 = E
b B [202 402| [f =t . 2
0 006 0w STEAM VALVE —_— ~
— | aemng pup Q w2 404 l{l—] — -
gl jeos |2 8| 06 |8 s
; g =
mimmf | E S YIB0LERLESS | 4| ' @
mimm Y we om 42| [ > D _ _
gl |214 soLer DRANNG U | (] Ki2 ‘ 414| [f 8 g 5 Y e [
=
o EEH 216 416 —>0 I - ©
p— w 0 g @
v @ O i o 2V LP—35866/
— 2 v LP-370T9 " Yy
&) W w § o S
r e |8 B eweonas . . . 8
— VIR 7N\ | NI o o~ =
s \/ \/ - P " =2
O RBH BA-34875 = i v b NI
) [ - - =]
O B1 >
0
[
o o
o
>
< ‘ ° ‘ v | " ‘ Y | - ‘ N

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » F-19



&N
>
<
™
T
S
a
©
z
=

Alva

21 4076 11/%1/11
133HS Hm WNN OMd OARW ‘Ad

HdE A0¥2-802 301-¥X1J

WYIDVIA DNRIM

INYYHS-0LTY

ddv alva

NOILI¥OS3a 003 | A3Y

1940} 1050y

<@+ Sd> H =WOLOW =0 <dz:e Sd> o
<80y Sd> NH HOL0OW 30 <d4z2:'e 6> o

€0 21000 UooHRy 60X

9/8¥E-vd
g

w8BYE-ND LOX

(TH-34884)

(TM-34880>

YBBYE-NL)

(£9'9 6d) v—11 a1

I8BYE-HL
Y EE T

EIGLY
0vE

3644 Lonaoaa
az3as RIS 338 OAL ﬁ H m osoce-2d
. AOTTIX .
: Q\AI R 5 s
g e
v EE_]
E AOTTIX 2 ascee-dd
1 s T=
ey oL it ano
o
j — E.;;J
& .
w m [STE 7
s © 304d 1ONI0Nd
H
T o
: g
: od
1@
@\
6d) QOOH SSITINZ 2 8 ,
gw QOOH SSITING > sle o8 18 89 +A IMmsa
8655105 2 o oEEs gs s 59 —A Tmsa
$ 788 o4 volpauL>
8 ‘31903 uoqqu fe)y 3jod 7E
v L0: T E [T L
N R T e T i LB
0/9¥E-vd 1dd 3 HEY
sE8392—-vYA
HOLOW LN3IA
O 0
HOLIMS LN3IA
104INOD IWNIIS [NdNI
8 el =S

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » F-20



WIRING DIAGRAMS

& L_Jﬁ

<
SR
v > e Egémgw

<
O g e e SR
- p - g ala| U
[ < e < < 3 & <
& 5 EI
® - fel
i — s F £13°s
S o B3
= 9] [a}
E I8 g B
- £ —HE
R
vy [ =—— & CINE
NN gl |,
sE-1HE
| zl = "o

-j 3

J.

7

—

[T

[ l:‘i./‘://
(-
BA-29718
©

Simpte Basic

—

BA-34778
o o
@

©
H
1 |

H
<
]
378V NogglI NIdsz | £

B (0 [ Emmum | (o) ©

BA-29719
Simple Plus Display Control

©

1
O
[
‘7
=
v o
(@)
>
3
(Al N
— O 3 0
5 NN
I+
> >
Lo
. o] T | . | . ;

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-21



WIRING DIAGRAMS

ERESN 1/71/1___Ava ]
133HS H m ‘W R N OMd OAKW ‘A8
HE_A0v2-802_J01-4X1D
WWYIDVIA ONINIM ===w ah.—g
ddv alva NOILdI¥OS3a 023 | A3d
(osoumey
. 6 6d
(206 69) z/9x 18Y | > 8 (£0t6 6d) 1/9x gy
CeCrE—1
<-6lL 8l €-6L 8L
(vv:g 6d) 6/1x HeY ) © (v@:2 69) 171 @l
al
© - z
BN L
PE B -
5
T | ne °
o ©
c¢d = _
© o ~ o S}
S| o2}
en2 I NmyE o m m
%) ©
I ¢ 2 z,u 2 _ £Z1610G 13IHS 1ND JONINI4IY —
Ol® i " b g
;@ VT s 5l
Ag
J— —
el
ON/MS 3uNSS3dd @ ON/zZMS ¥3LTd
MS 3uNSS3dd ZMS ¥3LT14 LMS 317014
MS NIVA S4
NOD NOD -
(gv:g 6d) //1x Hay /%O /Wﬁo f o 06
’ WOJ oN ON on © T j (905 69) v-91 al—
LeeyLos 9506E-MS 960GE—MS 10LEE—MS v8LyE—N4
JOOH SSATINAA
El = + e El T

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » F-22



WIRING DIAGRAMS

s EE
ME{EIERS
slolz—
S|
E%m
TN
inV\
HERE
& Bl
(C% IS
[ = 53
. §§;§
— z =75
| _
)
(A
f2]
I - = g 8 [
F cEszC
<
1]
f©i Q = B
SO ® ] O O
| g i ® [©
IO @ ® @] e
O O ® O
1 G/INE) BENE)
B O O ©
B ESr
2
38 o | B3
EE ~ | B =3 ] @
3 Eel =] (3 |
O - O ] E @
@F" : @ BEHE)
E oojszow ®| @ el
= « — X |
é —-0O Oe
- AF, 3 @
%@ 1 — ]
= ”@:§ ®-
®
— - @ (D e
B 0 B
{1 OJelo
48 ®|ge [
1 —
1 1@[eo]]
iHelgded
1 —
RICl Ele
45 ®|g® E
[ o ]

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-23



WIRING DIAGRAMS

204071 1/v¥1/11 3lva

| 027 LL ond ora"— 5
ZH09/05_ HdE AGIP-08€ 301-4XLD

WYADVIA DNRIIM ===W|=.—..—=
ddv alva NOILdI¥Os3a O3 | A
OAW|€102/£0/0L ot s | 1L
OAW[€10Z/1€/0L|  #w196-va uum gosre-ve eo0idey ws | ¢l
OAW [ SLOT/LE/L | 193us N> mau “Upj 3siou gp MmO MaN | 80EL el

£86G10G g4 NOILdO L33HS
1€8G10S 00 NOILAO L33HS
209ST0S MWS NOILdO 133HS
6095106 31dWIS NOILdO L33HS
B809G10S  SS3AdX3 NOILJO L33HS
2ESYI0S

133HS

1na
1na
1nJ
1nJ
inJ
1nd

3ON3¥343y
3ON3¥343y
ERNEREEE!]
3ONIS343
JONI¥3439
3ON3d3438

r— ]

7 2v/1py <— —> (s8¢ Bd) zz/19m

(vere B6d) 1z/19% <— —>Tv/LL

NOILdO dvE ONINMONE

L

OSYEE-ND (SPYEE-ND (WPPEE-ND "UPyEE-NA 40 (3SIAAWOD 224 3 124 ‘024
(BEGVE-ND ‘AIEYE-WL> 40 T3SI¥dWOD 3D 3SN4

(@SEYE-ND ‘ASYEE-ND 40 GISIAAWOD XS 3SN4

NNOHD SISSYHO OL T3LI3NNOD 114l 8 68l

GL9EE-WL A3JWNC /M T3LI3NNOD 339 J NId 941 B G4l
GLOEE-WL d3dWNC /M O3LI3NNOJ 33v O NId vEL 3 €41
GLOEE-WL ¥3dWNT /M T3ILI3INNOD 3¥¥ O NId 841 B8 Ld1
0TEYE-WL d3dWNC /M 03LO3NNOD 33 9161 3 ‘SIdl

OIEYE-WL d3dWNC /M T3LIINNOD 3y vIdl 3 ‘€19l ‘erdl
G/Z9EE-WL ¥34WNC /M T31I3NNOD 3av O NId 261 % 141
(PBIEE-ND "(JIEPE-WL> 40 (3SINAWOD ¥4 3 ‘€4

116¥10S # SLIM 30IAd3S d0LOW

(@SYEE-ND “AIEVE-WL> 40 (3SI¥dWOD 24 8 14

OSYEE-ND (SPYEE-ND “(WPYEE-ND UPYEE-ND 40 U3ISIHAWOD 214 B 114 014

310

N3do

1

1

anis aNNO¥O:

_‘ NOILdO dve uZHZ}Dﬂ

Eo"m 6d) Nq\ExAI,U|.

7 (£0'9 Bd % £0:g 6d) TH HOLON

L (5019 Bd) % (cas 6d) ¢—¢| @

N3dO

N3dO<zC 91 4l
N3do
[

G e D Pl o ) o =g e

E CHASSIS GROUND

066£€—14 J 066£€—14
6v962-13 (45 8 Bd) £/¥X HEY <——rq Q m. @
~+ e bd) ¢/1o <~
o o © © = (cere B o/19n 0
v o | = S gL
:1&@ @cmm m (cg:¢ 6d) ¢/19¥ m b%
P
WS Cinn RS =N 707
g an¥vo LHmM 1 | ¢ gl
| |
1)i(S) @@ ! (evig bd) 1/ 1oy < !
€
o % o 0 nWw_ = s3sn4 voz . mod,/ - - ! = ﬁN m,
anyvd
T+ 3 PONCLE!
L/1v3 Feceno WA IHLIE—INON A
LM L/
=] S

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS » F-24



&N
>
<
>
T
<
a
O
z
=
=

1/v1/11

-Alva

"] 02V L oud

QAW ‘A9

2ZH09/0G  HdE ASIP-08€ 301-¥X1J

WYIODVIA ONINIM

IVYHS-OLTY

ddv 3lvad

NOILdI4O$3a OO3 | AFY

19¢

NOIL4O 3vd ONINADONE

N3do

3

1

T dNLS ANNOo¥O

(£0'9 64 B L0 6d) TH HOLON

(rv:9 bd) % (ew:g bd) cv/1c4

L

(vare bd) 1z/19% <— —> CV/LDA 7

NOILAO dvd ONINMONE

OSYEE-ND (SPPEE-ND (FFEE-ND UYPEE-ND 40 UISINJWOD 224 3 ‘124 ‘024
(BEGYE-ND “AIEFE-WL> J0 I3SIAJWOD IJ 3SN4

(@SEPE-ND ‘ASPEE-NA 40 AISI¥AWOD AS 3ISNS
INNOND SISSYHO OL G3LI3NNOD 114l 3 edl

SZ9EE-WL d3dWNC /M T3LI3NNOD 33% O NId 941 % G4l
G/9EE-WL ¥3dWNr /M T3LI3NNOD 33¥ O NId ¥4l B €41
GL9EE-WL d3dWNC /M (3LI3NNOD 33¢ O NId 84l % L41
0IEYE-WL ¥3dWNr /M TILIINNOD 3dv 9161 3 ‘S1dl
OTEVE-WL J3dWNT /M T3LI3NNOD 3V 181 8 ‘€14l ‘218l
GLIEE-WL d3NNF /M T3LI3NNOD 33V O NId 241 % 141
(PBIEE-ND (TIEYE-WL) 40 T3SINdWOD +v4 3 ‘€4

TI6710S # SLIM 30IAY3S d0LOW

(@SYEE-NDH ‘ATEYE-WL> 40 T3SIAdWOD 24 3 T4

OSYEE-ND (GYYEE-ND ‘(WYYEE-ND ‘UrvEE-NDH 40 A3ISTAIWOD 214 B 114 014

G e o ol el o o o g =g e =

310

1

|

|

|

|
N3do A’\p.\ Om

E CHASSIS GROUND
A

I
|
| | |
NIdo<ft——o0. ! o [
=030
7 TELE—-ND 7
7 [42 7 s
7 7 N3dO
U ] MNP | gl L
(16 "6 59)000H SSTWNE
os6ee-1d 0665514
6v962-13 (4 8 6d)[z/vX HaY
o o (cdc 69) /19y @ko B
™~
ng@ @mmm andwa m m%
(cgre B6d) ¢/19 bu
;3@ SIHm Nf L
e O o ¢ dal
€ (cvi¢ 6d) 1/19y
O 6¥9%2-13 o /@‘\ =| S04 wez - .
T+ 3 [GRRTS] boﬁu | 4l g
1ELE-ND TELE—ND *\J; Nl_ m# Z /v
/173 i PIHLI -

- _

25

COMBITHERM CT EXPRESS ¢ F

36008 (Rev. 9) 03/16 ¢

MN



WIRING DIAGRAMS

11/%1/11 dwva

T 02V L L o

QAW ‘A9

ZH09/06  HdE ASTP-08€ 301-¥XLI

WVYADVIA DNRIIM

INVYHS-0LTH

ddv ava NOILJI¥OS3d 003 | A3

OSFEE-NDH (SHFEE-ND ‘GHPEE-ND (L¥PEE-ND 40 (3STHAWDD 224 % ‘T24 ‘024
(BEGYE-ND ‘(TIEPE-WL) 40 C3SIFAWOD 3D 3SN4

(@SEYE-ND (ASPEE-NA 40 T3SIAAWOI XS 3SN4
NNO¥D SISSYHO OL T3LIINNOD 114l B8 64l

GLIEE-WL d3dWNC /M T3LI3NNOD 3a% O NId 941 % GdL
G/9EE-WL ¥3dWNr /M T3LI3NNOD 339 O NId ¥d1 B €41
GL9EE-WL ¥3IdWNr /M O3LI3NNOD 339 O NId 841 B LdL
0TEYE-WL d3dWNC /M G3LI3INNOD 33V 9161 3 'S4l
0IEYE-WL d3dWNC /M T3LIINNOD 39 #1€1 8 ‘€191 ‘219l
SL9EE-WL ¥3JWNr /M T3103NNOD 33v O NId 241 B 141
(PBIEE-ND ‘(TIEVE-WL) 40 T3SINAWOD ¥4 3 ‘€4

116¥10S # SLIM 30IAY3S A0L0OW

@SYEE-ND ‘(TIEPE-WL) 40 T3ISINdWOD 24 8 ‘14

OSYEE-ND (SYYEE-ND (WPPEE-ND (ULPYEE-ND 40 T3SINdWOD 214 B3 ‘114 014

BB BB B B b B b B

‘310N
0665814
(45 8 69) 1/4x HEN Q (g4 bd) % (£0:4 Bd) /N
(N4
(y3:z 6d) % (yg:L bd) xog uondo Jog Buumoig S0=0o (y3:7 6d) ® (v@:L bd) xog uondo Jog buumosg
I
£80SE-T13 “
]
s} ,T s3sn4 voz = = ! = (caiz 6d) » (c@:L 6d) q/1/x
|
]
& ©On , i
Q9 2 I
b SLHM ] T O (cg:z 69) ® (c@:16d) /11
o i
I
I
L4(=) S| s | —ol o (w2 Bd) % (w1 BY) L/00%
andvd a3
193 /\0¢A
L/ 193 revEone dvd ONINMOYH
L 9N
8 < Bl T

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS * F-26



WIRING DIAGRAMS

217407y 1/¥1/11 3lva
133HS 7Dmﬁhﬁ OMJ BAKW A9

2H09/0G  HdE ASIP-08€ 301-¥XLD EE:%-Q.—..—‘

WYIDVIA DNRIIM

ddv alva NOILdI¥O$3a OD3| A

¢l l<=—7

1506€-13

[GEals]

=€l Bls=———

otese-T3

0w

OSPEE-ND (SPPEE-ND ‘GPPEE-ND UPPEE-ND 40 I3ISINdWOD 224 3 ‘124 024
(BEGYE-ND ‘AIEYE-WL> 40 (3SI¥dWOO 20 3SN4

(@SEYE-ND “‘ASPEE-ND 40 (3SIJJWOD XS 3SN4
ONNOND SISSYHD OL Q3LI3NNOD 1741 B 641

GLOEE-WL ¥3dWNC /M T3LI3NNOJ 339 I NId 941 % G4l
G/9EE-WL ¥3dWNr /M O3LI3NNOD 3¢ I3 NId vEL 3 €41
GLOEE-WL ¥3IdWNC /M 3LI3NNOD 33¢ O NId 841 3 €L

0IEVE-WL ¥3dWNC /M G3ILI3NNOD 33y 9141 3 ‘SI4l
0IEYE-WL d3dWNC /M GILI3INNOD 3 vI€L 3 ‘€14l ‘2r1dl

SL9EE-WL d3JWNC /M G3LIINNDD 33V O NId 241 % 14l

PBIEE-NA “(TIEYE-WL) 40 03SINdWOD v4 3 ‘€4
1167108 # SL1IM 30IA¥3S AO0LOW

(@SYEE-ND "UIEPE-WL> 40 (3SIAdWOD 24 % T4

OSYEE-ND (SHYEE-ND “(PPPEE-ND UPPEE-ND 40 I3ISTNAWIO 214 3 114 014

310

(v¥:8 6d) 1/2x Hay

dALHIANOD OILAIVLYO

A

MSEENE!

vv:g Bd) ¥/¢X Hay

JINONS

Gl ot el = g e o e

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS e F-27



&N
>
<
™
T
S
a
©
z
=
=

dva

2174078 1/%1/11
| 02V L1 g e

ZH09/0G  HdE AGI7-08€ 301-¥XLJ EE——%-Q.—..—‘

WYIOVIA DSNINIM

ddv alva NOILdINOS3A

O3 | AJY

1940} Bjoy

3% 2 Bd) 1/ex Imw_A’\oru_lo
1=

OSYEE-NA (SPFPEE-ND "(PHPEE-ND ULPYEE-ND 40 TISINWDD 224 3 ‘124 ‘024

(BEGYE-ND ‘(TEFE-WL> 40 T3STAAWOD ID 3SN4

(GSEYE-ND ‘ASYEE-N 40 U3SIAJWOD S 3SN4
INNO¥O SISSYHD OL G3LI3INNOD 1741 3 641

GL9EE-WL d3JWNC /M T3ILI3NNOD 3a¥ O NId 981 % SdL

G/9EE-WL ¥34WNr /M O31J33NNOD 33v O NId vE1 B €41

GLOEE-WL ¥3dWNC /M T3LI3NNOD 33v O NId 8€L % Ld1

0TEVE-WL A3dWNr /M T3LI3NNOD 3av 9141l B ‘GIdl

OIEVE-WL d3dWNC /M T3ILI3INNOD 3av vI€L 8 ‘€141 ‘214l

GLIEE-WL ¥3JWNC /M T3LIINNDD 339 O NId 241 % T4l

BIEE-ND "AIEYE-WL> 40 I3SIAAWOD ¥4 B ‘€4

T16¥T0S # SLIM 30IAN3S J0LOW

@SYEE-ND TIEYE-WL> 40 C3SIAdWOD 24 8 ‘14

Bk

=

el o

== OSYEE-ND (GYYEE-ND ‘(rryEE-ND (LryEE-ND 40 I3SINJWDD 214 B ‘114 014
N3do o2 N3do
s =l .
| 310
!
TS
e v
I
I
]
I
e
T E
(3v i 69) ¢/ex Hay
Ol IO ov i1 6d) v—gi @1
k4 2v
%H F0LPE—NO
. s e
(zo:1 6d) L—/N (42 6 Bd) v/zx Ay uﬁ A
42 16 B) £/2x Taue— (o WA (y0iL 69) t—1 @1
N ) </ Ty (18 ‘6 68)J00H SSTUNIA
fet N@w
Lo oL aL
o 5 a3 06-ATd
T o
ERRPE Lrm
=] +

28

COMBITHERM CT EXPRESS  F

36008 (Rev. 9) 03/16 ¢

MN



WIRING DIAGRAMS

11/%1/11 31va

“ | 02V L L ond

QAW A8

ZH09/0G HdE ASTP-08€ 301-7XLJ

WYADVIA ONRIIM

WVYHS-0LTH

ddv 3lva NOILdIIOS3a O03| A3d

L ©d 04 1343y

(42 6 Bd) v/zx T8
(42 6 6d) ¢/2x 18y

(zorL 6d) 1—/N

¥0iL Bd) z—y1 8L

F=f= [~

TH ADLON

jv (18 :6 6d)A0OH SSTIUNIA
& 9L gL

OSYEE-ND (GPPEE-ND "WrPEE-ND UPYEE-ND 40 UISINdWOD 224 3 ‘124 ‘024
(BEGYE-ND ‘AIEYE-WL> 40 (3SI¥dWOD 32 3SN4

(@SEYE-NA ‘ASPEE-ND 40 T3SIWOI HS 3SN4
aNNOND SISSYHD OL A3103NNOJ T19L 3 641

GLIEE-WL ¥3JWNr /M T3LOINNDD 3¥¢ I NId 981 8 SEL
GL9EE-WL ¥3dWNr /M O3LJ3NNOJ 3¢ O NId v€1 B €41
GL9EE-WL d3dWNM /M O3LJI3NNOJ 33V I NId 84l 3 L€1

0IEVE-WL ¥3dWNC /M G3LO3NNOD 33V 9161 3 ‘SI4l
0IEYE-WL d3dWNC /M QILOINNOD 3V vidgl 3 ‘€141 ‘2rdl

GLIEE-WL ¥3JWNC /M T3LI3NNDD 3% O NId 281 % 14l

(PBIEE-ND ‘AIEVE-WL) 40 U3SINAWOD +v4 3 ‘€4
1167108 # SLIM 3DIAN3S JOLOW
@SYEE-ND ‘AIEYE-WL> 40 C3SIAdWOO 24 B8 ‘14

OSYEE-ND (SYYEE-ND “(PPYEE-ND (UPPEE-ND 40 T3ISINWOO 214 3 ‘114 014

310

NOILdO (d33dS INO

e e g o S ey

7 - 7 :

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-29



&N
>
<
™
T
S
a
©
z
=
=

1/v1i/10

dlva

217407 L] A5y
133HS Dﬁ\\\hh Omd

QAW

A9

ZH09/0G HdE AGI¥-08€  301-¥XLD

WYIOVIA DONIIIM

WYYHS-0LTY

(OSYEE-NA (SPFEE-ND "(PHPEE-ND ULYYEE-ND 40 TISINWOD 224 3 ‘124 ‘024

(BEGYE-ND ‘(TEFE-WL> 40 T3STAAWOD ID 3SN4

Bk

v ] 3va NOILINOSIa RREIE (BSEVE-NDH ‘ASYEE-ND 40 QISIHIWOD ¥S 3SN4
INNO¥O SISSYHI OL G3LI3INNOD 1741 3 641
GLIEE-WL d3dWNC /M T3ILI3NNOD 3a¥ O NId 981 % SdL
A
G/9EE-WL ¥34WNr /M O31J33NNOD 38v O NId vE1 B €41 @
G/9EE-WL ¥I4WNC /M T3LI3NNOD 33v O NId 841 B ZdL @
0IEVE-WL d3dWNr /M T3LI3NNOD 3dv 914l 3 ‘S1dl b
0IEVE-WL d3dWNC /M TILIINNOD v ¥141 3 ‘€141 214l @
GLOEE-WL ¥3dWNC /M T3LJ3NNOJ 33¥ O NId 261 3 14l b
PBIEE-ND "(TIEPE-WL 40 A3SIAGWOD ¥4 8 ‘€4 >
T167T0S # SLIM 30IAN3S J0L0OW b
@SYEE-ND “TIEPE-WL) 40 CISIHAWOI 24 3 ‘T4 &
OSYEE-ND (SPPEE-ND “(PYYEE-ND (ULYYEE-NDH 40 T3SINAWOD 214 8 114 014 9
<gewor 8> 1ga ao
£
<cze S9s  toex a _ (0% 64 % 505 59) v1 KT 54) coon ssTWE
|> — o
9
rrigb-va
<oze S9> eosx aEn IT\/ ~1 NZaD <y ._
e
<ae 01 69> eda aoF L MNMsSd
<3 '8 B5d> &/ X HE=<
dIMOd J3T104INOD
s s + = T

30

COMBITHERM CT EXPRESS  F

36008 (Rev. 9) 03/16 ¢

MN



WIRING

o q
& |
< g oo
b INERE
e5%” o
<|olE—
3|98
2| o
[ FIEIN
=
Olg| ¥
Z18] r~
z|Z|8| P~
- HS
2|23
s|EI7|E g
2=
3|0 a
3|2
2|2 -
= oY
>3
= =3
3
o &
Q E i
=R <
- o| = a
< o &
%
N &
=g
3
LS1 * )it
gz
a
- (] 8
<
=
<
TT-35648 g
)
%3
- THERMAL SWITCH £y
g
2
8 [\
<
Y3
0 VA-33723
CLEANING. VALVE
- u
< <
7z
va53723
caLD VALVE
cr%—o—<
- [
< <
CLEANING PUMP
MO-3463
| "
T o &
n 3 2
£ L - (] J 38
r < < s
s — ]
k H
B 3
"(©)
\=/ =/
Q
s
2 a8 1
g | e BB
g | 102 o1
N 3| | 104
g x| | 106 A . o
b
- Mkl 110 F o 300 [ = KS2-21 <pg SISE> )
9 My | 112 o 2 302/ [s—mr] z
g 3|
¥ HE || 114 ] i 304 s Ss2/Aa1  <pg SiSD>
FE | s 7 308 FUSE 12 (PG 4:83) g’
== N L =40
carmavicconerter | (0] b| emnFLUD PR ‘ v
< 3 - .
S 7 x| T 0
= | |8 B[ wew | P g
| |202 402) 0 o
006 o — VA-33723 Y <
b [204 asawcroe | g @ 404) [l = PR p— =
r—g|[eos |2 8| 408 |i—] I
& H z
o e i el oo |1 B[ P Z| 4oel i <
210 8 VIBOLERLESS ©| atof s @
] T
a2l 2 0 -
214 BoLER DRANNGPUMP | O] 14| [ v & & _os i}
i) o 0w ST
216 416| |{=H h a -
fllee | Lol 0 B
isoum AL g B xwr N 08
— 0 a LP—34206\
O g ’—0—‘
- Pty 01 - A
% ’ 1 v ] b| PoweR ansBLe ‘ v o 4 - N
4 RN = — /] —
= (©) (©) S N = ERRE
n <
\=/ RBH BA-34875 =/ P Py I
O _ E Y L L |
(&) _ = =
£
. O > =
m;gf
p o
] Jul
ES
< ’ " ‘ . ’ " ‘ Y ’ v | N

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-31



&N
>
<
>
T
<
a
O
z
=

-3lva

2174076 1/v1/10
133Hs 0cv// OMd AW

Ad

ZH09/0G HdE ASI7-08€ 301-¥X1J

WWYIDVIA DNIRIIM

WYYHS-OLTY

ddv 3lvad

NOILI¥OS3a

003 | AJY

1 9d 0| sejey

cgoie Sd>

TH BOLOW 30 cd2S S S 0S-ATEd———IO
<8015 S5 TH HOLOW &0 <4/:'S S & 0S—ATTa

Q33ds IIONIS

a338s DAL

£0 21990 UooERY 60X

GEEYE-NL

AS @000

6BBYE-WL>

agerE-HD

(TH-34884)

9/8YE-vd
g

<TH-3488D
1] (M-34889)

10 TH-34884

Multi-Point Probe Optional
(g (TM-34884>

(co'g 6d) y—11 a1

IV

Xv7d

114

360N 19N00Yd
089622t

AOTTIX

2 assee-u
O3 W3LA N0

————

1euol}dg 2q01g 4uod-14n

orLeE-dd
380N Lonamid

W

|
|
|

(ISLEE-dd)

-
ﬂ?%é
a3

3

e

! £ 9591 se : i 20 e 29> on tnsa
86GG10S M a8l B4 1 as iz Bd> —A IMSd
m ‘a1qe uogqu 4
i e i)
0/9veE-vd  dd B HES
a4d \~/ N9
IV EON
O 10
HOL1IMS L1N3A ;
TOYINOD TWNIIS LNdN
= =l € =2 7 T

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-32



WIRING DIAGRAMS

BA-34778
o @ @ o

DISPLAY CONTROL

o

Cesevei

SR

Simple Basic
Y|
bee

£ —

g
2
e
2
=
%

— ~

L)

——

Hioo o

A El

F =

—

(0) [msse] fsssses] mos) ()

&3

§
|
3
378V NogaI NIdoz | £

(o) [ i | (o)

BA-29719
Simple Plus Display Contro

©

<pg 7:8D>

PSS v—

<pg 7i8C>

PS v

o I P
< g !
218dy
3|5 T
wlelZl 2
<0l
39s
40| o
a2 ad
VEIN
2|13~
5%51\
=3k
o|3|%| .
Egég
= |5
O [a}
@ -
Ol E ol
>Is
=C
ol @
g el
>—|§2
zl = |70
2

- [ e ]

S TR

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-33




21 4o 1/v1/11 Elva
133HS DMWRN OMd OAKW Ag
HdE ASIP-08E 301-FXLD
WVYIDVIA DNINIM ===w —-.—..—‘
ddv alva NOILdI¥O$3a OD3 | AJY
Logorey
: _ _ 6 bd
(06 6d) z/9x Ay ma > = (2016 6d) 1/9x T8
8665109
Z-61 a1 ¢-61 4l
(+v:8 69) 6/1x Hay e © (v Bd) L1-yL 8L
€-61 8L
& |
— B 4
Ol® mU/C\ _
B 3 NA — — —
398 | e ®
gnd ~ [°e) ©°
g w £ <
NME o =
S O @ u..w z 7 2 r/w _ } 2 _ £21610S 133HS 1ND 3ONIY43Y
£ % £ g
M VT g | _% sl
- Ag 8
o) L
< am [ ]
A “ v ON/MS 3dNSS3dd @@oz\usm EENE
Iﬂ MS 3¥NSS3dd TMS ¥3L04 LMS ¥31714
MS NIV G4
D NOD NOD -
(v 6d) £/1x Hay /%O ymOVﬁO Oo/j 0 O E (906 6d) y-91 a1
WoJ ON ON c Ty T z
G LEEYLOS-MS 950GE—MS 960GE—MS LOLEE—MS Y8LYE—N4
Py
“ s Bl < 2 T
Py

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS * F-34



21 40 el
133HS

11/v1/11 3Lva
0cyiL omd  9ANW A8

ZH09/0S HdE AGIP-08€ 301-¥X1J EE=W|=.—..—=

WWYIDOVIA ONIFIM

WIRING DIAGRAMS

ddv ava NOILdINOS3IA 003 A3

o 5 OO0
(&) ©©

vH HiH|d|y D
= . ,w
n ®
<C 3
C SOd G

£06,
. e ErH @TAlIOIeIC

O

D)

DO (Ofeoifies)

El__qil [T
>>O Q gl vial el
~

,_
T
C

-
_
_
_

Lin]

[l
O|0]10|®@]|O|®]|O|@
D[] [OI0] [D[D] [DI[D]

®||®|O)|@|0)|®|@

—1
—
[
—
1

=
BN
Hooe B |
O

N [ehl = Ba)
w @ @ e O O @ e @ 8 80 N‘.E 9@ serll ver m..wk car Td
s ¢ blos e b joer

MN-36008 (Rev. 9) 03/16 « COMBITHERM CT EXPRESS ¢ F-35

G\EREN

+ 7 e El




